

ST. PAULS CHURCH  
MARRIAGE REGISTERS HELD AT SHEFFIELD CATHEDRAL

BOOKS 1 & 2  
(REGISTERS Nos. St. P. 12, & 13)

AUGUST 1848. To. JULY 1874.

Transcribed By Elaine Smith and Roger Stevenson

Indexed and Typewritten By Keith Blagden

By Kind Permission of The Provost

THE VERY REV. W.F. CURTIS A.K.C.

Prefix Number denotes book

2nd numerals denote page number

3rd numerals denote entry number

\* denotes name out of sequence

BOOK 1.

1/1/1	William Ogley		Ann Swift
1/1/2	Charles Holmes		Jane Camomile
1/2/3	Isaac Ball		Ann Camomile
1/2/4	James Littlewood		Hannah Frith
1/3/5	Jeremiah O'Neill		Sarah Cain
1/3/6	William Harrison		Ellen Crapper
<del>1/4/7</del>	Thomas Siddall		Hannah Boot
1/4/8	James Wright		Fanny Mason
1/5/9	Henry Rodgers		Sarah Ann Staniforth
1/5/10	William Rooke Harrison	1849	Sarah Ann Marsden
1/6/11	John Oliver		Maria Marshall Palmer
1/6/12	Thomas Styring		Mary Poole
1/7/13	George Beardshaw		Eliza Camsell
1/7/14	James Allison		Ann Blackburn
1/8/15	John Smith		Margaret Berry
1/8/16	John Thorpe		Nora Steer
1/9/17	John Bullivant		Hannah Bagnall
1/9/18	William Almond		Ann Rowbotham
1/10/19	Thomas Robinson		Jane Eliz Hordom Hadfield
1/10/20	Thomas Redmayne		Emma Raby
1/11/21	John Spooner		Sarah Holmshaw
1/11/22	James Dobson		Lydia Cockayne Yeomans
1/12/23	John Charles Ledger		Mary Jane Hall
1/12/24	Peter Eaton		Mary Ann Simpson
<del>1/13/25</del>	George Mellor		Mary Rainsford
1/13/26	Samuel Briddon		Elizabrth Cammamile
<del>1/14/27</del>	Thomas Darwin		Eliza Hobson
1/14/28	Reuben Bramhall		Maria Jackson
1/15/29	George Gillatt		Harriet Gill
1/15/30	Thomas Dent		Mary West
1/16/31	Valetine Radford		Mary Ann Mason
1/16/32	Robert Stonecliffe		Mary Ann Wareham
1/17/33	Thomas Abbey		Hannah Smith
1/17/34	John Fields		Ann Dawson
1/18/35	Joseph Norman		Maria Elliott
1/18/36	James Wainwright	1850	Mary Slater
1/19/37	George Capper		Mary Ann Bramhall
1/19/38	David Leighton		Sarah Ashley
1/20/39	George Fletcher		Sarah Thirkill
1/20/40	Joseph Askham		Mary Booth
1/21/41	James Shaw		Harriet Mason
<del>1/21/42</del>	Charles Henry Sayles		Hannah Wilson
1/22/43	Charles Hackney		Mary Shaw
1/22/44	Samuel Marriott		Martha Robinson

1/23/45	Louis Hallam		Mary Lancelott
1/23/46	Henry Marshall		Sarah Simpson
1/24/47	William Gant		Sarah Greaves
1/24/48	John Hollams		Sarah Smith
1/25/49	William Albon Kelsey		Mary Swift
1/25/50	James Jessop		Ann Lees
1/26/51	Joseph Wheatley Hadfield		Martha Kemp
1/26/52	Thomas Heathcote Hughes		Emma Hubie
1/27/53	Francis Hill		Ann Thompson
1/27/54	Henry Richardson		Elizabeth Mount
1/28/55	John Tipler		Sarah Siddel
1/28/56	Joseph Reaney		Martha Gray
1/29/57	Henry Clapham		Sarah Ann Thompson
1/29/58	Thomas Evans Goulding Fox		Sarah Ann Gill
1/30/59	Frederick Rotherham		Harriet Ellen Bishop
1/30/60	James Bagshaw		Sarah Vickers
1/31/61	George Stacey	1851	Sarah Swallow
1/31/62	John Turner		Julia Smith
1/32/63	George Statham		Ann Cotterill
1/32/64	Henry Lowe		Elizabeth Mappin
1/33/65	William Henry Wareham		Elizabeth Shepperd
1/33/66	Thomas Cole		Anne Littlewood
1/34/67	George Camsell		Elizabeth Thorpe
1/34/68	William Shaw		Elizabeth Barker
1/35/69	William Wagstaff		Maria Smith
1/35/70	Henry Wood		Eliza Jenkinson
1/36/71	Horatio Stray		Ellen Marsden
1/36/72	William Duke		Jane Holmes
1/37/73	George Twiby		Sarah Thompson
1/37/74	John Booth		Elizabeth Twiby
1/38/75	George Cooper		Mary Horsfield
1/38/76	Charles James Fleming	1852	Sophia Dobson Welsh
1/39/77	William Marriott		Harriet Bray
1/39/78	Samuel Self		Ann Pickett
1/40/79	James Oliver		Mary Ann Stephenson
1/40/80	George Wilson		Sarah Lingard
1/41/81	John Shaw		Hannah Kennen
1/41/82	Manassem Serle		Elizabeth Rose
1/42/83	Edward Hague		Ann Stanley
1/42/84	Charles Hill		Anne Conally
1/43/85	Solomon Grisdale		Elizabeth Watson
1/43/86	James Rivers Hall		Elizabeth Hague
1/44/87	Abraham Law		Elizabeth Smith
1/44/88	Charles Fox		Ellen Carr

1/45/89	William Jackson		Ellen Spencer
1/45/90	William Reaney		Sarah Moore
1/46/91	William Grovenor	1853	Esther Bennett
1/46/92	Mark Twikler		Elizabeth Langard
1/47/93	Charles Graham		Elizabeth Bishop
1/47/94	Henry Barton		Kezia Jane Horsfield
1/48/95	Joseph Mappin		Catherine Chadburn Wilkinson
1/48/96	Alfred Bower		Harriet Robinson
1/49/97	Henry Packard		Ann Parkinson
1/49/98	William Kennen		Elizabeth Brown
1/50/99	Robert Stone		Matilda Sweet
1/50/100	Charles Dearden		Ann Dyson
1/51/101	George Brown		Ann Wharton
1/51/102	Charles Hobson		Sarah Parson
1/52/103	John Lee		Elizabeth Gillatt
1/52/104	Joseph Houlden		Ellen Camsell
1/53/105	William Jackson		Sarah Ann Leversidge
1/53/106	William Rodgers		Emma Fawcett
1/54/107	John Ryan		Mary Lafey
1/54/108	Joshua Spencer		Hannah Thirkill
1/55/109	Thomas Davies		Rachel Ann Foxton
1/55/110	Henry Mallinson		Selina Matilda Gambles
1/56/111	John Whiteley		Ann Johnson
1/56/112	John Calow		Sarah Oldall
1/57/113	John Hasland		Sarah Wilson
1/57/114	Isaac Mills		Ann Mason
1/58/115	James Watson		Ann Slater
1/58/116	John Abell	1854	Bessie Adelaide Sellors
1/59/117	Charles Temporal		Jeanette Hyde
1/59/118	Edward Glossop		Hannah Rodger Crook
1/60/119	Donald Bain		Sarah Rodgers
1/60/120	William Lee		Mary Costello
1/61/121	Day Dixon		Lucy Wilkinson
1/61/122	John Griffing Stevenson		Harriet Cam
1/62/123	John Swallow		Harriet Chambers
1/62/124	Charles Hurd		Ann Webster
1/63/125	Henry Granfield		Harriet Smith Needham
1/63/126	George Earnshaw		Charlotte Dyson
1/64/127	Henry Ellison		Mary Bywater
1/64/128	David Smith		Ann Platts
1/65/129	Martin Thomas Cooper		Jane Jackson
1/65/130	Edwin Horatio Booker		Martha Ann Roberts
1/66/131	John Naylor		Ann Hartley
1/66/132	James Walton		Elizabeth Shipman

1/67/133	Joseph Hoyle		Eliza Augusra Bowyer
1/67/134	George Chaddock		Sarah Barlow
1/68/135	John Thompson	1855	Sabina Laughton
1/68/136	Charles Powell		Eliza Metcalf
1/69/137	Walter Morgan		Mary Lincoln
1/69/138	Daniel Barlow		Mary Ann Thompson
1/70/139	William John Lindley		Emma Bamford Bocking
1/70/140	John Acton		Harriet Elizabeth Marshall
1/71/141	James Headford		Mary Ann Bennett
1/71/142	Charles William Louis Scholz		Mary Ann Kelsey
1/72/143	Francis Thorpe		Emma Stubbins
1/72/144	Joseph Wragg		Matilda Davy
1/73/145	James Jackson		Jane Cropley
1/73/146	John Lawrence Bertie		Mary Flower
1/74/147	Benjamin Badger		Elizabeth Laughton
1/74/148	Benjamin Smart		Mary Roper
1/75/149	Thomas Heald		Elizabeth Brown
1/75/150	William Copper		Harriet HOBSON
1/76/151	John Wiley		Elizabeth Doyle
1/76/152	John Hulley		Hannah Elizabeth Haddock
1/77/153	John Ashforth		Isabella Norton
1/77/154	George Stothard		Catherine Applegarth
1/78/155	William Truelove		Harriet Fisher
1/78/156	George Green		Harriet Wright
1/79/157	Thomas Tandy		Mary Ann Robinson
1/79/158	Robert Aveyard		Sarah Goodlad
1/80/159	John Butterfield		Eller Burdem
1/80/160	George Shaw	1856	Mary Wynn
1/81/161	Philip Proll		Rosina Leonard
1/81/162	Albert Bownes		Ann White
1/82/163	James Duke		Sarah Ann Blenkhous
1/82/164	William James Wilkinson		Sarah Ann Andrew
1/83/165	William Fawcett		Mary Dixon
1/83/166	Charles Shaw		Elizabeth Maria Richards
1/84/167	Cliff Wood		Hannah Thorp
<del>1/84/168</del>	James Rawson Whitworth		Jane Mitchell
1/85/169	Henry Smith		Elizabeth Young
1/85/170	Thomas Bates		Mary Ward Franklin
1/86/171	John Seedhouse		Mary Taylor
1/86/172	Henry Battie		Ann Wostenholm
1/87/173	Thomas Furness		Elizabeth Eadon
1/87/174	Frederick Andrews		Matilda Claytom
1/88/175	Joseph Gowland		Margaret Williams
1/88/176	Edward Robinson		Mary Faith

1/89/177	John Silvanus Almond	Ann Berry
1/89/178	John Cropland	Janex Davis
1/90/179	William Gambles	Elizabeth Crookes
1/90/180	Edmund Allen	Harriet Goodlad
1/91/181	William Larder	Mary Carline
1/91/182	Charles Moran	Elizabeth Hobson
1/92/183	Francis Byrne	Winney Hanlay
1/92/184	Thomas Alfred Elliott	1857 Sarah Lowe
1/93/185	Charles Wilson	Elizabeth Hill
1/93/186	Charles Pollard	Rosehannah Mawe
1/94/187	William Etcher	Elizabeth Scott
1/94/188	Joe Wood	Eleanor Window
1/95/189	John Penrice	Ann Hollyoake
1/95/190	Edward Arthur Roberts	Mary Ann Wood
1/96/191	Samuel Broadley	Elizabeth Woodcock
1/96/192	John Cocker	Sarah Oliver
1/97/193	Nathaniel Callaby	Emily Foster
1/97/194	Thomas Gregory	Mary Cropper
1/98/195	Frederick Farrow	Elizabeth Steel
1/98/196	George Foster	Harriet Parkin
1/99/197	Henry Adam	Mary Duke
1/99/198	Robert Tilney	Lydia Oldale
1/100/199	John Lillyman	Elizabeth Townsend
1/100/200	William Pollard	Jemima Varley
1/101/201	William Hoyle	Sarah White
1/101/202	George Walker	Mary Ann Pryor
1/102/203	Thomas Waring	June Swift
1/102/204	Joseph Heaton	Caroline Coldwell
1/103/205	James Auchinclofs	Elizabeth Wareham
1/103/206	Henry <del>Blower</del> Blower	Jane Burdekin
1/104/207	George Fisher	Mary Turner
1/104/208	Joseph Lockwood	Fanny Pepper
1/105/209	Charles Matthias Dale	Emily Taylor
1/105/210	Alexander Letaman	Rebecca Singleton
1/106/211	Samuel Turner Perkins	Hannah Pearce Carby
1/106/212	John Collins	Eliza Esther Hornby
1/107/213	Charles Henry Duvall Scholes	Martha Elizabeth Shaw
1/107/214	Henry Oldale	Sarah Chappel
1/108/215	John Guite	1858 Harriet Hill
1/108/216	William Christopher Hudson	Bella Gay Birkitt
1/109/217	John Smith	Louisa Bird
1/109/218	Moses Turner	Hannah Hague
1/110/219	Alfred Hollingworth	Rebecca Eyre
1/110/220	George Longden	Sarah Scottom

1/111/221	Robert Lawson	Mary Elizabeth Smith
1/111/222	John Cookson	Fanny Small
1/112/223	Joseph Smith	Annie Elizabeth Reaney
1/112/224	John Bingley	Mary Middleton
1/113/225	Thomas Ashby	Frances Oldfield
1/113/226	Peter Hatton	Ann Armstrong
1/114/227	Richard Bingham	Sarah Royaston
1/114/228	Henry Bacon	Eleanor Gregory
1/115/229	William Hind	Elizabeth Moor
1/115/230	James May	Mary Bennett
1/116/231	John Elliott	Mary Kay
1/116/232	William Keyworth	Elizabeth Simpson
1/117/233	Henry Oates	Mary Lowe
1/117/234	John Caloe	Martha Faulkner
1/118/235	John Thomas	Ann Hunt
1/118/236	Tom. Mason	Lydia Pap
1/119/237	George Mellor	Eliza Matilda Hutt
1/119/238	William Hanson	Maria Handley
1/120/239	Henry Bocking	Ann Laine
1/120/240	John Booth	Tryphana Robinson
1/121/241	William Smith	Mary Ann Wasnidge
1/121/242	George Burton	Mary Street
1/122/243	Harry Radford	Betsy Ann Hill
1/122/244	William Allison	Jane Blenkhorne
1/123/245	Thomas Purger	Martha Brown
1/123/246	William Battersby	Mary Battel
1/124/247	Joseph Nichol	Mary Ann Marshall
1/124/248	Richard <del>SEE</del> Starr	Amy Taylor
1/125/249	John Frederick Fletcher	Margaret Ann Gibson
1/125/250	Joseph Herbert	Emma Bamforth
1/126/251	John Eyre	Ann Batty
1/126/252	William Townsend	Ann Broomhead
1/127/253	Jabez Bramwell	Hannah Bradshaw
1/127/254	Edmund Simmons	Martha Bridges
1/128/255	Jonathan Bell	Hannah Batty
1/128/256	Henry Morley	Emily Middleton
1/129/257	John Hunt	Alice Ibbotson
1/129/258	Thomas Turner	Sarah Ann Gill
1/130/259	Thomas Bowman	Ellen Gilpin
1/130/260	George Hukin	Mary Elizabeth Widowsom
1/131/261	William Short	Eliza Moore
1/131/262	George Lees	Elizabeth Bailey
1/132/263	Samuel Goodhand Bradley	Phebe Nightscales
1/132/264	Thomas Hawksley	Elizabeth Hallam

1/133/265	George Shaw	Ann Crawshaw
1/133/266	Samuel Young	Rachael Hemsworth
1/134/267	Samuel Milner	Lucy Rowbottom
1/134/268	Henry Turner	Isabell Eyre
1/135/269	Jeremiah Stokes	Sarah Ann Wright
1/135/270	George Shelton	Eliza Chambers
1/136/271	Joseph Hanson	Martha Knight
1/136/272	Joseph Leverton	Ann Frances Boot
1/137/273	John Peacock	Caroline Stockwell
1/137/274	Henry Vickers	Emma Hogg
1/138/275	Henry Stocks	Margaret Joyce
1/138/276	William Henry Gregory	Jane Hague
1/139/277	John Thomas Holdsworth Ashtom	Caroline Beaumont Kemp
1/139/278	Samuel Staniforth	Tamar Alice Beaumont
1/140/279	Joseph Turner	Emma Unwin
1/140/280	George Bailey	Eliza Ann Gillot
1/141/281	Enoch Percival	Martha Jenkinson
1/141/282	William Spick	Fanny Hodson
1/142/283	James Kitson	Emma Howard
1/142/284	Mark Furness	Martha Sherriff
1/143/285	James Barlow	Elizabeth Ward
1/143/286	Richard Turner	Elizabeth Dyson
1/144/287	William Cottrill	Susannah Berry
1/144/288	Walter Field	Mary Ann Clark
1/145/289	Henry Wain	Mary Grange
1/145/290	Alfred Wainwright	Ann Marsden
1/146/291	Thomas Vaughan	Susannah Black
1/146/292	Samuel Kirk Hirst	1860 Sarah Shaw
1/147/293	George Fowler	Patience Charlesworth
1/147/294	Samuel Rogers	Eliza Parkin
1/148/295	George Guest	Sarah Charlesworth
1/148/296	Richard Parr	Ann Shipstom
1/149/297	John Walter Hardy	Mary Isabella Earl
1/149/298	Benjamin Platts	Ann Marsh
1/150/299	Charles Fowler	Ann Windles
1/150/300	Mark Reaney	Eliza Middleton
1/151/301	George Wood	Elizabeth Lievesley
1/151/302	John Lievesley	Susannah Birkitt
1/152/303	James Kemp	Ann Bailey
1/152/304	Samuel Wetherill	Mary Eliza Gardner
1/153/305	James Innocent	Annis Swinden
1/153/306	Charles Favell	Ellen Swift
1/154/307	Edwin Atkinson	Sarah Ann Langstaff
1/154/308	John Einds	Sarah Elizabeth Wareham

1/155/309	Samuel Gorse	Ruth Birch
1/155/310	Thomas Clark	Hannah Talbot
1/156/311	James Alfred Vaughan	Clara Eliza Margaretta Wilson
1/156/312	Edward Beards	Rebecca Jeffrys Wilkes
1/157/313	George Foulstone	Mary Ann Oliver
1/157/314	John Lindley	Elizabeth Crookes
1/158/315	Charles Lister	Elizabeth Turner
1/158/316	John Hague	Mary Ellen Ward
1/159/317	George Topham	Julia Jackson
1/159/318	William Oakland	Harriet Marsh
1/160/319	John Hadfield	Jane Armitage
1/160/320	John Bell	Betsy Ibbotson
1/161/321	John Allen	Mary Guest
1/161/322	Henry Austwick	Maria Morrell
1/162/323	John Hunter	Mary Ellen Jubb
1/162/324	John Ellis	Jane Goodinson
1/163/325	Thomas Hubbard	Ellen Gelfoy
1/163/328	Henry Jepson	Hannah Cryer
1/164/327	Frederick Broadley	Elizabeth Lowe
1/164/328	William Gregory	Jane Vazium
1/165/329	William Bromley	Harriet Fletcher
1/165/330	Robert Bradley	Ann Cook
1/166/331	John Shaw	Harriet Taylor
1/166/332	Joseph Miles Mullins	Frances Allcroft
1/167/333	Thomas Litchfield	Susan Riddle
1/167/334	James Wilson Biggin	Isabella White
1/168/335	John Scott	Annie Taylor Ask
1/168/336	William Gambles	Charlotte Croft
1/169/337	Francis Sheard	Eliza Hoole
1/169/338	Christian Gs - chind ?	Ellen Gregg
1/170/339	John Blackshaw	Elizabeth Peach
1/170/340	William Silcock	Fanny Arthur
1/171/341	Peter Hopkins	Mary Noyland
1/171/342	Joseph Tagg	Sarah Brailsford
1/172/343	John Dale	Mary Carr
1/172/344	Henry Cooper	Christiana Mary Bradley
1/173/345	John Miller	Eliza Brentani
1/173/346	Thomas Kieley	Caroline French
1/174/347	Joseph Smith	Emily Sharmam
1/174/348	James Harrop	Elizabeth Nolan
1/175/349	Henry Renshaw	Hannah Stevenson
1/175/350	John Beighton	Ann Picksley
1/176/351	John Webster	Sarah Ann Shaw
1/176/352	Charles Boyle	Ellen Rollison

1861

1/177/353	Benjamin Grayson		Sarah Ann Rowbottom
1/177/354	Henry Woodhead		Elizabeth Jackson
1/178/355	Robert Frost		Elizabeth Hough
1/178/356	George Talbot		Ann Sheldon
1/179/357	John Wright		Elizabeth Wallis
1/179/358	Thomas Burgan		Catherine Grayson
1/180/359	George Greaves		Ann Lofthouse
1/180/360	John Betts Wigley		Mary Ann Hickton Jeffries
1/181/361	Charles Stockwell		Winifred Murphy
1/181/362	William Ward		Mary Goodwin
1/182/363	Thomas Reynolds		Sarah Smith
1/182/364	Charles Swallow		Frances Fox
1/183/365	George Hough		Elizabeth Gabbitus
1/183/366	Aaron Mellors		Mary Ibbotson
1/184/367	Henry Pullen		Ann Taylor
1/184/368	Abraham Barrowclough		Hannah Hill
1/185/369	John Thompson		Jane Hoyes
1/185/370	Charles Allcard		Lydia Rollins
1/186/371	James Morrison		Sarah Ann Gregory
1/186/372	George Cole		Harriet Bartram
1/187/373	Henry Hills		Frances Eleanor Thompson
1/187/374	Walter Yardley		Ruth Greensmith
1/188/375	William Walton		Harriet Malony
1/188/376	John Wheatley Oldham		Mary Ann Fox
1/189/377	George Stevens		Mary Maclean
1/189/378	Charles Pickworth		Elizabeth Fisher
1/190/379	Samuel Smith		Hannah Greaves
1/190/380	William Henry Blake		Emily Jane Burkinshaw
1/191/381	Frederick Stubbing		Ann Pearson Lockwood
1/191/382	Charles Taylor		Mary Pilsworth Scupham
1/192/383	George Hizzard		Ann Herrington
1/192/384	Charles William Smith		Sarah Ann Buxton
1/193/385	William Warner		Emily Goddard
1/193/386	William Harding		Granada Hutchinson
1/194/387	John Booth		Mary Hill
1/194/388	Henry Allen	1862	Ann Wood
1/195/389	William Dobbins		Harriet Battison
1/195/390	William Webster		Ann Gleadhall
1/196/391	Henry Ayers		Elizabeth Annie Reynolds
1/196/392	John Goddard		Emliy Hudson
1/197/393	George Clayton		Sarah Hammond
1/197/394	Thomas James Sambourne		Catherine Mahoney
1/198/395	William Blackwell Hawksworth		Harriet Nutt
1/198/396	William Ibberson		Sarah Goldthorpe

1/199/397	Thomas Rawson	Fanny Andrew
1/199/398	William Hides	Eliza Shribs
1/200/399	William Didsbury	Ann Clark
1/200/400	Henry Baker	Elizabeth Hobson
1/201/401	John Gascoyne	Mary Swallow
1/201/402	William Coppock	Elizabeth Barber
1/202/403	Thomas Heald	Frances Goodwin
1/202/404	Thomas Hudson	Elizabeth Slinn
1/203/405	Martin Flanagan	Sarah Banks
1/203/406	Henry Rockley	Mary Morton
1/204/407	James Settle	Mary Ann Boaler
1/204/408	Leander Vickers Stacey	Agnes Hall
1/205/409	George Hydes	Sarah Longden
1/205/410	Samuel Owen	Elizabeth Sanderson
1/206/411	John Bower Wilson	Jane Johnson
1/206/412	William Ramsden	Elizabeth Wright
1/207/413	Charles Hancock	Harriet Owem
1/207/414	John Cropper	Elizabeth Wright
1/208/415	Thomas Haslam	Sarah Bamforth
1/208/416	Joshua Sutcliffe	Maria Armstrong
1/209/417	William Hannan	Sarah Law
1/209/418	Jude Kirby	Sarah Damms
1/210/419	William Adams	Ann Fox
1/210/420	Charles Marson	Ann Bagnall
1/211/421	Samuel Sayles	1863
1/211/422	Thomas Maher	Eliza Sykes
1/212/423	John Demley	Fanny Smith
1/212/424	Maurice Ashley	Fanny MacKinder
1/213/425	Elijah Barker	Sarah Balmer
1/213/426	William Wilkinson	Mary Ann Chesman
1/214/427	William Whitehead	Sarah Turner
1/214/428	William Robert Golland	Elizabeth Harmston
1/215/429	Charles Bingham	Fanny Langstaff
1/215/430	William Naylor Crookes	Ann Talkes
1/216/431	Edwin Hutchinson	Mary Freeman
1/216/432	William Proudfoot	Emily Seymour
1/217/433	Walter Adams	Ann Gregg
1/217/434	William Hurst	Mary Jane Hill
1/218/435	Charles Rowbottom	Clara Memmott
1/218/436	Thomas Roberts Richardson	Maria Foulstone
1/219/437	John Hawley	Martha Tomlinson
1/219/438	Henry Hardy	Harriet Elizabeth Owen
1/220/439	Charles Evans	Annie Cant
1/220/440	George Harrison	Ellen Donaghue
		Jane Bland

1/221/441	Thomas Smith		Sarah Turner
1/221/442	Robert Johnson		Sarah Furniss
1/222/443	John Henry Bolsover		Eliza Wharam
1/222/444	George Adwick		Elizabeth Bolsover
1/223/445	Charles Wood		Emma Singleton
1/223/446	William Sims		Maria Shaw
1/224/447	William Rhodes		Ellen Brodigam
1/224/448	Hugh Thompson		Catherine McInnes
1/225/449	Thomas Needham Dowe		Jane Agnes Bingley
1/225/450	John Hill		Mary Ann Green
1/226/451	Edward Butler		Elizabeth Mary Grover
1/226/452	James Henry Walker		Mary Ann Wood
1/227/453	Edwin Albert Taylor		Susannah Banks
1/227/454	John Hibberd		Ann Clayton
1/228/455	John Bishop		Alice Shepherd
1/228/456	George Parkin		Rose Hannah Senior
1/229/457	Henry Duke		Mary Ann Bamforth
1/229/458	Joseph Brooks		Emily Newbould
1/230/459	Joseph Hill		Mary Baggin Woodward
1/230/460	Thomas Powell		Charlotte Barnsley
1/231/461	Joseph Mozley Wood		Eliza Barber
1/231/462	William Taylor		Mary Clark
1/232/463	Edward Richardson		Hannah Collins
1/232/464	George Batty Unwin		Mary Ann Sykes
1/233/465	Robert Haynes		Mary Ann Baggley
1/233/466	John Turton		Clara Charlesworth
1/234/467	Joseph Nowell Lister		Jane Lister
1/234/468	William Allison		Ann Shaw
1/235/469	Henry Lambert		Julia Hoare
1/235/470	Frank Cawthorne		Sarah Ann Hardy
1/236/471	Edwin Ralphs		Harriet Shelton
1/236/472	Thomas Barstow		Mary Ann Fletcher
1/237/473	Charles Walker		Elizabeth Lister
1/237/474	John Hartle		Mary Brown
1/238/475	Robert Toplis		Mary Williams
1/238/476	Richard Hackett		Mary Hawley
1/239/477	Edwin Hough		Hannah Smith
1/239/478	Henry Jackson		Emma Rasen
1/240/479	William Harrison		Mary Osborne
1/240/480	Henry Bocking	1864	Mary Ann Hadfield
1/241/481	John Linley		Eliza Brown
1/241/482	George Hammond		Eliza Wright
1/242/483	Francis Sparrow		Sarah Bennett
1/242/484	Thomas Brownhill		Anne Barnsley

1/243/485	George Mark Salmon	Ellen Nutt
1/243/486	Isaac Hardy Schofield	Alice Moulson
1/244/487	Gilbert Glossop	Elizabeth Ellen Cavill
1/244/488	Henry Salt	Anne Elizabeth Watson
1/245/489	William Scargill Ashley	Alice Foulston
1/245/490	Thomas Fowler	Eliza Wilson
1/246/491	Henry Bellamy	Ann Clark
1/246/492	Reuben Sharp	Emma Bennett
1/248/493	Thomas Christie	Jane Caroline Oldham
1/247/494	William Thomas Woolley	Ellen Winter
1/248/495	George Hayes	Miriam Smith
1/248/496	Charles Wilson	Hannah Patterson

END OF BOOK 1 (ST.P.12)

BOOK 2

2/1/1	John Clarke	Nannie Armstrong
2/1/2	William Darwent	Sarah Ann Sleath
2/2/3	Samuel Swift	Mary <del>Frost</del> <sup>P</sup>
2/2/4	Charles Pagdin	Emma Dewsbury
2/3/5	Henry Charles Chown	Catherine Kramer
2/3/6	Nicholas Hart	Susan Moore
2/4/7	William Hardy	Mary Ann Ward
2/4/8	William Law	Lucy Ainley
2/5/9	James Marsh	Jessie Hawke
2/5/10	Frank Wright	Sarah Turner
2/6/11	Thomas Rippon	Ann Stamford
2/6/12	William Henry Browne	Elizabeth Lee
2/7/13	Manwaring Milner	Harriet Barnsley
2/7/14	William Woolhouse	Mary Blackburn
2/8/15	Henry Lavendar	Naomi Thimbleby
2/8/16	John Walker	Mary Ward
2/9/17	George Gleadall	Clara Elliott
2/9/18	Henry Darling	Janet Dalrymple Carson
2/10/19	Joshua East	Matilda Wilkinson
2/10/20	Benjamin Cawthorne	Ellen Newbould
2/11/21	John Brailsford	Catherine Mirfim
2/11/22	Cornelius Donaghue	Elizabeth Hawcroft
2/12/23	Thomas Drewry	Emma Nequiner
2/12/24	Charles Fox	Anna Field
2/13/25	Tom Herbert Saynor	Rose Marriott
2/13/26	Thomas Steele	Sarah Eley
2/14/27	James Walker	Charlette Walker
2/14/28	Enock Reed	Hannah Newham Hall
2/15/29	Henry Ellis	Harriet Hawksworth
2/15/30	Joseph Hayes	Martha Hobson
2/16/31	George Liddall	Emma Burkinshaw
2/16/32	George Richardson	Elizabeth Crick
2/17/33	William Chambers	Mary Hannah Wallis
2/17/34	Parkinson Hussick	Caroline Fullbrook
2/18/35	George Palmer	Ann Boswell
2/18/36	Charles Josiah Goodall Edwards	Theresa Hayes
2/19/37	Thomas Marfield	Elizabeth Winter
2/19/38	Edwin Tye	Sarah Ann Bottom
2/20/39	Thomas Evans	Fanny Golder
2/20/40	Henry Bedford	Harriet Brownsword
2/21/41	James Jowitt	Sarah Maria Cooper
2/21/42	Edwin Brown	Mary Ann Harwood
2/22/43	John Barnsley	Ellen Glew
2/22/44	George Lister	Emma Glew

2/23/45	James Innocent	Hannah Palfreyman
2/23/46	Joseph Turner	Harriet Woolley
2/24/47	Alexander James Goodlad	Jane Fearn
2/24/48	Henry Corbett	Mary Short
2/25/49	Robert Fish	Mary Dungworth
2/25/50	Henry Tomlinson	Elizabeth Wells
2/26/51	Thomas Edwards	Elizabeth Hawke
2/26/52	William Harrison	Louisa Varney
2/27/53	Edward Robinson	Emma Sketchley
2/27/54	Henry Wastnidge	Susannah Cook
2/28/55	James Keyworth	Elizabeth Ann Clark
2/28/56	John Downend	Elizabeth Glossop
2/29/57	James White	Elizabeth Bocking
2/29/58	Stephen Storey	Sarah Grant
2/30/59	James Wall	Ruth Woodward
2/30/60	James Carroll	Eliza Tugby
2/31/61	Thomas Frobisher Chappell	Harriet Bennett
2/31/62	Christopher Holland	Martha Jane Williams
2/32/63	George Wilcocksom	Charlotte Cooper
2/32/64	Thomas Sammons	Diana Kennington
2/33/65	John George Pearce	Christiana Moody
2/33/66	Benjamin Ward	Elizabeth Robinson
2/34/67	Charles Reynolds	Ann Swift
2/34/68	George Bell	Hannah Smith
2/35/69	Samuel Oxley	Mary Bunting
2/35/70	Joseph Bingham	Ann Elliott
2/36/71	William Plant	Mary Carlton
2/36/72	James Randall	Sarah Whitehead
2/37/73	Samuel Mather	Ann Aizlewood
2/37/74	John Ward	Elizabeth Rowland
2/38/75	Percy Hamson	Sarah Revill
2/38/76	James Young	Mary Ann Ellis
2/39/77	John Muir Nelson	Charlotte Shipman Barnes
2/39/78	Hugh Havenhand	Harriet Walker
2/40/79	William Pattinson	Ann Walker
2/40/80	John Hallam Morgan	Mary Ann Marshall
2/41/81	George Slater	Sarah Slater
2/42/82	Henry Hibbert	Margarett Marples
2/42/83	Frederick Lomas	Caroline Turner
2/42/84	Alfred Crookes	Ann Cartwright
2/43/85	John Bennett	Eliza Clay
2/43/86	Edward Turner	Lydia Shearston
2/44/87	Joseph Littlewood Allen	Martha Pass
2/44/88	Charles Gosnay	Ann Cooke

1865

2/45/89	John Woodward	Martha Ann Law
2/45/90	Martin Spencer	Harriet Godber
2/46/91	Alfred Oldale	Martha Darwent
2/46/92	John Giddings	Emma Woodcock
2/47/93	John James Barton	Jane Birms
2/47/94	Isaac Ward	Lavinia Adams
2/48/95	Henry Charles Brown	Louisa Cave Fisher
2/48/96	John William Lear	Harriet Turner
2/49/97	John Bancroft	Sarah Walker
2/49/98	John Pashley	Emma Fitches
2/50/99	Henry Watts	Mary Ann Talbot
2/50/100	William Hudson	Caroline Sheppard
2/51/101	Edward Jones	Selina Seddington
2/51/102	Samuel Henry White	Mary Elkington
2/52/103	Robert Bailey	Ann Maria Nutt
2/52/104	Alfred Tingle	Mary Elizabeth Bishop
2/53/105	Thomas Hutley	Alice Fearnough
2/53/106	John Bune	Ruth Simpson Baines
2/54/107	Thomas Deakin	Elizabeth Hodgkinson
2/54/108	John James Miles	Fanny Parwin
2/55/109	Edwin Dey	Mary Jane Purseglove
2/55/110	John Roberts	Jane Roberts
2/56/111	Joseph William Asprey	Ann Elizabeth Pike
2/56/112	John Harrison	Charlotte Radley
2/57/113	Thomas Hudson	Alice Cartwright
2/57/114	Joseph Henry Young	Clara Staniforth
2/58/115	Reuben Chantry	Caroline Oakes
2/58/116	Mark Hirst	Mary Hugill
2/59/117	George Halliday	Ann Smith
2/59/118	William Munks	Martha Hides
2/60/119	Joseph Wright	Ann Eliza Parker
2/60/120	Henry May	Sarah Hollies
2/61/121	Henry Bridgens	Lydia Ann Holme
2/61/122	Henry Heaps	Sarah Rothwell
2/62/123	Samuel Hanson	Maria Bolton
2/62/124	James Brewitt	Eliza White
2/63/125	Henry Hawksworth	Elizabeth Faulkner
2/63/126	James Burgin	Elizabeth Stopford Taylor
2/64/127	Charles Kenyon	Ann Whittham
2/64/128	Henry Cockayne	Charlotte Tysall
2/65/129	William Bradbury	Frances Buxton
2/65/130	Charles Rayner Buckley	Emma Stones
2/66/131	William Cullabaine	Elizabeth Ann Froggatt
2/66/132	George Willis	Elizabeth Rippon

2/67/133	George Crawshaw	Mary Ann Simmonite
2/67/134	George John Bridgens	Anges Clark
2/68/135	Joseph Ball	Ellen Masefield
2/68/136	Thomas Halladay	Deborah Tilney
2/69/137	George Evans	Catherine Grant
2/69/138	William Riding Storey	Eliza Dixon
2/70/139	David English	Alithea Bishop
2/70/140	Thomas Pennington	Mary Ellen Naylor
2/71/141	Frederick Thomas Priestley	Clara Poulson
2/71/142	Thomas Goodrich	Rose Emma Fox
2/72/143	John Royle	Ann Elizabeth Robinson
2/72/144	William Hunter	Mary Kenyon
2/73/145	Charles Hibbard	Sarah Antcliffe
2/73/146	Joseph Alexander Barlow	Margaret Roffs (Ross)
2/74/147	Charles Dixon	Elizabeth Skinner
2/74/148	Thomas Bullivant	Fanny Pashley
2/75/149	George Johnson	Ellen Charlesworth
2/75/150	Frederick Thorpe	Sarah Ann Croft
2/76/151	Henry Shepherd	Annie Stevenson
2/76/152	Samuel Styck	Emma Ward
2/77/153	George Lamb	Elizabeth Turner
2/77/154	Robert William Watson	Sarah Annie Richards
2/78/155	Thomas Sawdon	Mary Ann Claytom
2/78/156	Edward Goodlad	Isabella Rollinson
2/79/157	George Greem	Ellen Woodhead
2/79/158	George Johnson	Sarah Allen
2/80/159	Nicholas Twibell Hall	Mary Thorpe
2/80/160	George Fowler	Mary Elizabeth Ward
2/81/161	Thomas Drury	Marria Buxton
2/81/162	George Rodgers Hancock	Anne Maria Parkinson
2/82/163	John Baxter	Rosa Clarke
2/82/164	Joseph Hazlewood	Ann Durham
2/83/165	Thomas Johnson Ward	Sarah Ann Smith
2/83/166	William Roper	Rebecca Baxter
2/84/167	Samuel Grocutt	Sarah Walker
2/84/168	William Taylor	Agnes Hill
2/85/169	William Henry Ditchfield	Mary Fern
2/85/170	James Maddocks	Emily Twigg
2/86/171	Horatio Nelson Hill	Ann Rodgers
2/86/172	Arthur Owen	Martha Green
2/87/173	William Mason	Sarah Ann Abson
2/87/174	William Dickinson	Emma Norwood
2/88/175	Joseph Westwood Carr	Ellen Jane Wingfield
2/88/176	George Foster	Sarah Dixon

1867

2/89/177	Samuel Elliss	Clara Frudd
2/89/178	Henry Hall	Rose Ann Dewsbury
2/90/179	William Brougham	Ann Eliza Young
2/90/180	Wilfred Carrier	Sarah Tagg
2/91/181	John Wadsworth	Martha Downes
2/91/182	Thomas Warris	Jane Bennett
2/92/183	Arhtur Richard Wild	Emma Rollinson
2/92/184	George Thompson	Emma Webster
2/93/185	Charles Ashforth	Margaret Lesiter
2/93/186	Henry Darling	Sarah Allen
2/94/187	William Grant	Elizabeth Johnstone
2/94/188	George Short	Elizabeth Chapmam
2/95/189	George Gillson	Julia Hawkins
2/95/190	John Steadman	Emma Hobsom
2/96/191	William Cray	Sarah Daly
2/96/192	William Mottram	Caroline Senior
2/97/193	John Mettam	Mary Gilbert
2/97/194	William Drury	Eliza Hill
2/98/195	James Oates	Ann Hutton
2/98/196	Joseph Staley	Elizabeth Simmons
2/99/197	Robert Atkinson Elsdon	Mary Elizabeth Graves
2/99/198	James Ibbotson	Jane Hughes
2/100/199	Joseph Greaves	Mary Pass
2/100/200	Joseph William Widdowsom	Elizabeth Bell
2/101/201	Edwin Bunting	Harriet Hawsworth
2/101/202	John Hopewell	Elizabeth Wright
2/102/203	Henry Ball	Ann Straw
2/102/204	Thomas Butler	Martha Bettison
2/103/205	William Oliver Cromwell	Elizabeth Brooke
2/103/206	Thomas Mosley	Sarah Heath
2/104/207	Samuel Prentice	Sarah Ellen Quantock
2/104/208	Thomas Slater	Elizabeth Papfield
2/105/209	Robert Boston Shaw	Harriet Ann Hinchliffe
2/105/210	William Scothorn	Mary Palfreyman
2/106/211	William Hibbard	Emma Morton
2/106/212	Samuel Jones	Jane Tillottson
2/107/213	John Henry Oliver	Annie Elizabeth Dickinson
2/107/214	Hubert Theda	Ann Clintom
2/108/215	Walter Varah	Fanny Carr
2/108/216	John Joseph Parsons	Emma Nadin
2/109/217	Robert Baker Hyden	Elizabeth Marshall
2/109/218	William Waterhouse	Emma Wright
2/110/219	Henry Theaker	Ruth Jones
2/110/220	Elias Needham	Mary Hannan

2/111/221	Francis Maskrey	Elizabeth Stewenson	
2/111/222	William Candlish	Maria Collins	
2/112/223	George Hancock	Hannah Hutchinson	
2/112/224	Samuel Suckley	Emma Lizetta Kramer	
2/113/225	Tom Allwood Linneker	Fanny Street	
2/113/226	John Schrimshaw	Catherine Robinson	
2/114/227	William Jones	Eliza Walker	
2/114/228	Alfred Scholes	Mary Tester	
2/115/229	Miles Trevers	Mary McLoughlin	
2/115/230	Robert Bæcham	Harriet Barnes	
2/116/231	Christopher Nicholson	Annie Abel	
2/116/232	George Beards	Ellen Thacker Mackinder	
2/117/233	Peter Brookes	Harriet Waterhouse	
2/117/234	George Redfearm	Martha Ford	
2/118/235	Harry Charlesworth	Fanny Damms	
2/118/236	Thomas Frost	Jane Rosaline Bell	
2/119/237	Jeffery Lodge	Sarah Anne Edwards	
2/119/238	Joseph Blackburn	Ann Ainley	
2/120/239	Joseph Creswick	Mary Green	
2/120/240	Joseph Bufton	Amelai Adams	
2/121/241	George Paeson	Clarissa Fieldsend Waterfall	
2/121/242	John Willey	Jane Mills	
2/122/243	William Wood	Mary Simpson	
2/122/244	William Coombs	Emma Barraclough	
2/123/245	Robert Wain	Ann Webster Billard	
2/123/246	Frederick Gray	Isabella Crossley	
2/124/247	George Lawson	Mary Ann Jeffery	
2/124/248	Henry Drabble	Emma Flight	
2/125/249	Matthew Henry Kellam	1868	Sarah Janesx Morton
2/125/250	Samuel Shirt	Clara Hattersley	
2/126/251	John Baxter	Janetta Jackson	
2/126/252	Thomas Brooks	Mary Ann Fellowes	
2/127/253	Edward Doherty	Rachael Johnsom	
2/127/254	James Whitehead	Ellen Grady	
2/128/255	John Beresford	Sarah Jones	
2/128/256	Abraham Rawson	Fanny Smith	
2/129/257	James Mell	Ann Mathers	
2/129/258	Richard John Condom	Fanny Harrop	
2/130/259	George Corringham	Elizabeth Muscroft	
2/130/260	Joseph Stephen Rodgers Fowler	Jane Hartley	
2/131/261	John Smith	Elizabeth Parkinson	
2/131/262	George Ford Bisdee	Eliza Redshaw	
2/132/263	Thomas Swinburn	Betsey Markham	
2/132/264	George Brown	Mary Ann Youell	

2/133/265	John Walker	Mary Ann Barrott
2/133/266	Frederick Ashton	Emma Cartledge
2/134/267	John Dwyer	Annie Mills
2/134/268	Charles Dale	Mary Ann Norburn
2/135/269	James Wilson	Caroline Elizabeth Kramer
2/135/270	Isaac Davison	Elizabeth Merrill
2/136/271	Francis Bownes	Ellen Damms
2/136/272	Charles Smith	Sarah Pickering
2/137/273	Arthur Taylor	Mary Lane
2/137/274	William Ruby Coritt	Margaret Park Armour
2/138/275	Isaac Bromley	Eliza Wainwright Pickard
2/138/276	Alfred Ellis	Ellen Duce
2/139/277	William Mortom	Anne <del>XXXXXXXX</del> Eliza Heathcote
2/139/278	William Black	Harriet Frith
2/140/279	Arthur Eastwood	Sarah Hopkin
2/140/280	Walter Henry Laister	Mary Jane Aizlewood
2/141/281	Henry Shaw	Charlotte Churchill
2/141/282	Walter George Memmott	Mary Emma Haslam
2/142/283	Daniel Jones	Ellen Cook
2/142/284	George Skelton	Eliza Lees
2/143/285	George Hackett	Emily Millner
2/143/286	George Mettham	Rebecca Bullous
2/144/287	Alexander Patterson	Mary Field
2/144/288	Charles Machon Richardson	Sarah Field
2/145/289	William Renshaw	Ann Wragg
2/145/290	William Richardson	Mary Ann Boulton
2/146/291	Henry Barnsley	Elizabeth Kenyon
2/146/292	George William Dawson	Esther Wingfield
2/147/293	Robert Martin	Emma Louisa Flintham
2/147/294	John Lane	Emma Wiles
2/148/295	William Wasnidge	Margaret Hemingway
2/148/296	John Edwards	Mary Tye
2/149/297	Thomas Marples	Mary Cocker
2/149/298	William Townsend	Mary Bennett
2/150/299	Henry Jones	Sarah Grant
2/150/300	David Lindsay	Elizabeth Dale
2/151/301	James Heblett	Jane Allen
2/151/302	John Howell	Hannah Brooks
2/152/303	Cuthbert Potts Bull	Sarah Pashley
2/152/304	William Frost	Mary Ann Hayes
2/153/305	Charles Gibson	Mary Ibbs
2/153/306	George Silcock	Hannah Birkinshaw
2/154/307	Joseph Malkin	Mary Jane Swift
2/154/308	John Henry Ellis	Elizabeth Ibbotson

2/155/309	George Mewis	Mary Ann Harris
2/155/310	James Lane Rawson	Jane Garner
2/156/311	Joel Garrot	Mary Blackwell
2/156/312	Alfred Sharp	Mary Unwin
2/157/313	Richard Monks	Priscilla Boulton
2/157/314	John Gratton	Maria Cundy
<del>2/158/315</del>	Henry Oldale	Sarah Woodcock
2/158/316	George Patchett	Sarah Reaney
2/159/317	Horatia Talbot	Sarah Ann Heeley
2/159/318	Thomas Charlesworth	Ellen Elizabeth Ryalls
2/160/319	Frederick Bullas	Sarah Ann Battison
2/160/320	Thomas Cookson	Ann M <sup>r</sup> Sara
2/161/321	James Staniforth	Mary Middletom
2/161/322	Richard Ball	Mary Frawley
2/162/323	Tom Whittington	Clara Jane Butler
2/162/324	James Scott Leslie	Rebecca Ann Holmes
2/163/325	Walter Lockwood	Mary Ann Tandy
2/163/326	Joseph Swallow	Lydia Gill
2/164/327	Thomas George Curtis	Emma Brookes
2/164/328	William White	Mary Ann Hardy
2/165/329	Henry George Bloor	1870 Harriet Amelia Bowler
2/165/330	Charles Baxter	Laura Sabina Scargill
2/166/331	Edward Clement Cooke	Sarah Croft
2/166/332	Thomas Hanby	Anne Elena Scothron
2/167/333	Phillip John Stevenson	Anne Maria Wilson
2/167/334	William Barker	Ann Gaskin
2/168/335	George Henry Drew	Emma Hill
2/168/336	Tom Hunter	Ann Ballance
2/169/337	Henry Young	Clara Turner
2/169/338	John Beighton	Martha Bullcock
2/170/339	William Pattison	Katherine Murphy
2/170/340	William Newsame Wragg	Ann Gray
2/171/341	Walter Coe	Averilda Mason
2/171/342	Arthur Sawtell	Hannah Frost
2/172/343	George Hancock	Sarah Ann Hollinsworth
2/172/344	Thomas Fisher	Eliza Doubleday
2/173/345	Thomas Lyne	Margaret Marples
2/173/346	Thomas Earnshaw	Sarah Ann Whitley
2/174/347	Frederick William Taylor	Agnes Bottom
2/174/348	John Bartram	Amelia Linley
2/175/349	Samuel Holehouse	Eliza Louisa Watson
2/175/350	John Wynne	Jane Edwards
2/176/351	John Wootton	Sarah Ann Darwin
2/176/352	Christopher Jowett	Sarah Wells

2/177/353	William Mulligan	Dinah Sturland.
2/177/354	William Farrar	Theresa Rodgers
2/178/355	Thomas Elastock	Annie Bishop
2/178/356	William Henry Webster	Mary Anne Atkinson
2/179/357	Henry Shaw	Mary Lydia Davison
2/179/358	Arthur Oldale	Alice Wroe
2/180/359	Charles Frederick Jubb	Mary Ann Parkin
2/180/360	John Kenneth Baines	Mary Ann Bradbury
2/181/361	John Hughes	Ann Hodgkinson
2/181/362	Frank Smyth	Elizabeth Youle
2/182/363	James Hague	Sarah Mary Egarr
2/182/364	George Gemmel	Hellen Gemmel
2/183/365	Frederick Shumacher	Elizabeth Elsey
2/183/366	Robert Reynolds	Shusanna Greaves
2/184/367	William Hudson	Arabella Barlow
2/184/368	John Bowler	Mary White
2/185/369	Ezekiel Fowler	Susannah Maria Scott
2/185/370	William Robert Booth	Charlotte Elizabeth Steer
2/186/371	James Corker	Alice Taylor
2/186/372	Reuben Summers	Eliza Snell
2/187/373	Richard Albert Barber	Mary Ann Wyatt
2/187/374	Charles Albert Locke	Sarah Ann Croft
2/188/375	Joseph Wainwright	Mary Jarvis
2/188/376	Richard Venimore	Mary Ann Cain
2/189/377	Samuel Rose	Ann Bowman
2/189/378	John Brown	Jane Maxfield
2/190/379	Joseph Elliott	Mary Martin
2/190/380	Charles Edward Dilks	Fanny Baston
2/191/381	Stephen Flanigan	Ellen Diveany
2/191/382	Francis Shaw	Clara Hurst
2/192/383	Frederick Thompson	Harriet Hibberd
2/192/384	Thomas Henson	Elizabeth Gratton
2/193/385	Hicks Housley	Annie Warner
2/193/386	Albert Allen Chambers	Sarah Ann Clarke
2/194/387	George Whittaker	Catherine Burns
2/194/388	Frank Habershaw	Sarah Frost
2/195/389	George Bedford	Elizabeth Blackburn
2/195/390	William Ryalls	Sarah Jane Doolie
2/196/391	William Glossop	Mary Farbrooke
2/196/392	Thomas Wood	Betsey Binns
2/197/393	Clement Rossington	Hannah Herrip
2/197/394	Joseph Stocks	Isabella Walker
2/198/395	Joseph Bennett	Fanny Rotherforth
2/198/396	Levi Stewart	Sarah Allison

2/199/397	Isaac Clark		Gatherine Ann Satterthwaite
2/199/398	Thomas Varley		Isabella Cheetham
2/200/399	Robert McDonald		Elizabeth Hodson
2/200/400	George Jackson		Sarah Hanson
2/201/401	William Ash Hawkesworth		Mary Ann Wright
2/201/402	Thomas James Birch		Maryann Elizabeth Warren
2/202/403	Jim Fletcher		Gatherine Wilkins
2/202/404	Henry Edward Ashby	1872	Mary Moseley
2/203/405	James Boardman		Elizabeth Barnsley
2/203/406	Joseph Wehster		Julia Blagden
2/204/407	William Randall		Abigail Smith
2/204/408	William Hutchinson		Ann Vardy
2/205/409	Jacob Holt		Ann Steer
2/205/410	John Hill		Emma Ann Gamble
2/206/411	James Bailey		Sarah Maw
2/206/412	Thomas Sawtell		Hepzibah Wright
2/207/413	Robert Batty Bell		Elizabeth Waddington
2/207/414	George Unwin		Sarah Ann Hemingway
2/208/415	Frederic Sale		Alice Mary Middleton
2/208/416	William Axe		Annie Bocking
2/209/417	William Neep		Lois Neep
2/209/418	William Mettham		Fanny Allen
2/210/419	John Stephenson		Elizabeth Sarah Booth
2/210/420	Edward Scott		Elizabeth Palfreyman
2/211/421	John Pearson		Sarah Jane Smith
2/211/422	Joseph Bright		Elizabeth Anne Hoyland
2/212/423	Charles Clayforth Biggins		Sarah Darwin
2/212/424	John Fleming		Sarah Jane Hadfield
2/213/425	Charles Westfield		Christiana Brooks
2/213/426	Thomas Henry Drust		Eliza Biggins
2/214/427	William Parkin		Mary Ann Whittington
2/214/428	William Smith		Clara Hansom
2/215/429	Horace Edward Loukes		Sarah Ann Reynolds
2/215/430	Matthew Brown		Eliza Bateman
2/216/431	John Thomas Woodhouse		Elizabeth Ranshaw
2/216/432	George Fradley		Sarah Naish
2/217/433	John Cartwright		Elizabeth Whiteley Bateman
2/217/434	Edward Purcell		Jane Elizabeth Rawson
2/218/435	Joseph Carey		Mary Jane Mackinder
2/218/436	Albert Henry Rayney		Ellen Thomas
2/219/437	John Reed	1873	Mary Ann Ellen
2/219/438	Jonathan Windle		Elizabeth Williams
2/220/439	John Thomas Rhodes		Susannah Kaye
2/220/440	William White		Sarah Jane Moxom

2/221/441	George Smith	Margaret Tankard
2/221/442	Joseph Varley	Martha Turner
2/222/443	Robert Lindsay	Mary Pashley
2/222/444	George Daughtrey	Matilda Sophia Woodhouse
2/223/445	Richard Rowland Bradbury	Ann Ryalls
2/223/446	John Shepherd	Sarah Hunt
2/224/447	John Townsend Harbridge	Mary Esther Lefebure
2/224/448	John Percival	Anne Brown
2/225/449	Philip Smith Lawton	Mary Birks
2/225/450	William Frost	Margaret Maria Ward
2/226/451	Francis Brown	Charlotte Young
2/226/452	Samuel Harrison	Elizabeth Stevenson
2/227/453	John William Wain	Ann Furness
2/227/454	Edward Stephenson	Emma Jane Smith
2/228/455	Henry Chant	Amelia Loberidge
2/228/456	Albert Senior	Sarah Wrigley
2/229/457	Louis White	Elizabeth Hanson
2/229/458	William Linder Fearnley	Maria Hutchinson
2/230/459	William Stringer	Mary Hardy
2/230/460	Charles Darrington	Mary Warren
2/231/461	William Grace	Elizabeth Allen Travis
2/231/462	James Benson	Annie Goodwin
2/232/463	Thomas Hardy	Hannah Overend
2/232/464	Osbörn Bertram	Fanny Cordon
2/233/465	James Moulds	Kate Emily Pickering
2/233/466	William Lee	Elizabeth Darling
2/234/467	Edwin Tagg	Mary Brown
2/234/468	William Woodcock	Ann Morris
2/235/469	John Woodhouse	Thirza Ann Morton
2/235/470	Samuel Green	Eliza Moxon
2/236/471	William Armin	Louisa Edwards
2/236/472	Herbert Youle	Eva Gillott
2/237/473	William Wait	Fanny Wait
2/237/474	Joseph Alfrad Flintham	Julia Guest
2/238/475	John Young	Emma Greenhough
2/238/476	Andrew Vardy	Mary Rhodes
2/239/477	Herbert Gillott	Ann Wynne
2/239/478	John Eddershaw	Ann Dukes
2/240/479	Thomas Eastwood	Elizabeth Mottriss
2/240/480	Edward Stephenson	Agnes Jackson
2/241/481	James White	Sarah Middleton
2/241/482	Leonard Turner	Annie Dawes
2/242/483	John McCafferey	Ann Smith
2/242/484	Thomas Field	Mary Richardson

2/243/485	Thomas Leech	Louisa Iron
2/243/486	Francis William Herley	Louisa Goodison
2/244/487	John Guest	Alice Edwards
2/244/488	George Ashforth	Hannah Eccles
2/245/489	George Tomlinson	Elizabeth Ann Wigfield
2/245/490	Joseph <del>EEEE</del> Paul	Henrietta Whittleworth
2/246/491	Henry Youle	Mary Jane Croft
2/246/492	Mark Pattison	Sarah Ann Rodgers
2/247/493	Charles Jackson	Mary Taylor Flower
2/247/494	Frederick Pheenix	Ellen Bultitaft-Proctor
2/248/495	Arthur Richardson Stacey	Sarah Margaret Tune
2/248/496	John Mortor	Elizabeth Evatt
2/249/497	Walter Mason	Eliza Hannah Croft
2/249/498	William Henry Clark	Emily Margaret Cottrill
2/250/499	James Marsden	Elizabeth Pickles
2/250/500	Jacob Moseley	Mary Drabble

END OF BOOK 2 (ST.P.13)

- ABBEY Thomas 1/17/33.
- ABEL(L) Annie 2/116/231. John 1/58/116.
- ABSON Sarah Ann 2/87/173.
- ACTON John 1/70/140.
- ADAM(S) Amelia 2/120/240. Henry 1/99/197. Lavinia 2/47/94. Walter 1/217/433. William 1/210/419.
- ADWICK George 1/222/444.
- AINLEY Ann 2/119/238. Lucy 2/4/8.
- AIZLEWOOD Ann ~~XXX~~ 2/37/73. Mary Jane 2/140/280.
- ALLCARD Charles 1/185/370.
- ALLCROFT Francis 1/166/332.
- ALLEN Edmund 1/90/180. Fanny 2/209/418. Henry 1/194/388. Jane 2/151/301. John 1/161/321. Joseph Littlewood 2/44/87. Sarah 2/79/158, 2/93/186.
- ALLISON James 1/7/14. Sarah 2/198/396. William 1/122/244, 1/234/468.
- ALMOND John Silvanus 1/89/177. William 1/9/18.
- ANDREW(S) Fanny 1/199/397. Frederick 1/87/174. Sarah Ann 1/82/164.
- ANTCLIFFE Sarah 2/73/145.
- APPLEGARTH Catherine 1/77/154.
- ARMITAGE Jane 1/160/319.
- ARMIN William 2/236/471.
- ARMOUR Margaret Park 2/137/274.
- ARMSTRONG Ann 1/113/226. Maria 1/208/416. Nannie 2/1/1.
- ARTHUR Fanny 1/170/340.
- ASHBY Henry Edward 2/202/404. Thomas 1/113/225.
- ASHFORTH Charles 2/93/185. George 2/244/488. John 1/77/153.
- ASHLEY Maurice ~~XXXXXX~~ 1/212/424. Sarah 1/19/38. William Scargill 1/245/489.
- ASHTON Frederick 2/133/266. John Thomas Holdsworth 1/139/277.
- ASK Annie Taylor 1/168/335.
- ASKHAM Joseph 1/20/40.
- ASPREY Joseph William 2/56/111.
- ATKINSON Edwin 1/154/307. Mary Annie 2/178/356.
- AUCHINCLOSS James 10/103/205.
- AUSTICK Henry 1/161/322.
- AVEYARD Robert ~~XXXX~~ 1/79/158.
- AXE William 2/208/416.
- AYERS Henry 1/196/391.
- BACON Henry 1/114/228.
- BADGER Benjamin 1/74/147.
- BAGGLEY Mary Ann 1/233/465.
- BAGNALL Ann 1/210/420. Hannah 1/9/17.
- BAGSHAW James 1/30/60.
- BAILEY Ann 1/152/303. Elizabeth 1/131/262. George 1/140/280. James 2/206/411. Robert 2/52/103.

BAIN(ES) Donald 1/60/119. John Kenneth 2/180/360. Ruth Simpson 2/53/106.  
BAKER Henry 1/200/400.  
BALL Henry 2/102/203. Isaac 1/2/3. Joseph 2/68/135. Richard 2/161/322.  
BALLANCE Anne 2/168/336.  
BALMER Sarah 1/212/424.  
BAMFORTH Emma 1/125/250. Mary Ann 1/229/457. Sarah 1/208/415.  
BANCROFT John 2/49/97.  
BANKS Sarah 1/203/405. Susannah 1/227/453.  
BARBER Eliza 1/231/461. Elizabeth 1/201/402. Richard Albert ~~2/187/373~~.  
BARKER Eliza 1/213/425. Elizabeth 1/34/68. William 2/167/334.  
BARLOW Arabella 2/184/367. Daniel 1/69/138. James 1/143/285. Joseph Alexander 2/73/146.  
 Sarah 1/67/134.  
BARNES Charlotte Shipman 2/39/77. Harriet 2/115/230.  
BARNSLEY Anne 1/242/484. Charlotte 1/230/460. Elizabeth 2/203/405. Harriet 2/7/13.  
 Henry 2/146/291. John 2/22/43.  
BARROTT Mary Ann 2/133/265.  
BARROWCLOUGH Abraham 1/184/368. Emma 2/122/244.  
BARSTOW Thomas 1/236/472.  
BARTON Henry 1/47/94. John James 2/47/93.  
BARTRAM (BERTRAM) Harriet 1/186/372. John 2/174/348. Osborn 2/232/464.  
BASTON Fanny 2/190/380.  
BATES Thomas 1/85/170.  
BATEMAN Eliza 2/215/430. Elizabeth Whiteley 2/217/433.  
BATTEL Mary 1/123/246.  
BATTERSBY William 1/123/246.  
BATTLE (BATTY) Ann 1/126/251. Hannah 1/128/255. Henry 1/86/172.  
BATTISON ~~Wm~~ Harriet 1/195/389. Sarah Ann 2/160/319.  
BAXTER Charles 2/165/330. John 2/82/163, 2/126/251. Rebecca 2/83/166.  
BEARBS Edward 1/156/312. George 2/116/232.  
BEARDSHAW George 1/7/13.  
BEAUMONT Tamar Alice 1/139/278.  
BEDFORD George 2/195/389. Henry 2/20/40.  
BEECHAM Robert 2/115/230.  
BEIGHTON John 1/175/350, 2/169/338.  
BELL Elizabeth 2/100/200. George 2/34/68. Jane Rosaline 2/118/236. John 1/160/320.  
 Jonathan 1/128/255. Robert Batty 2/207/413.  
BELLAMY Henry 1/246/491.  
BENNATT Emma 1/246/492. Esther 1/46/91. Harriet 2/31/61. Jane 2/91/182. John 2/43/85.  
 Joseph 2/198/395. Mary 1/115/230, 2/149/298. Mary Ann 1/71/141. Sarah 1/242/483.  
BENSON James 2/231/461.  
BERESFORD John 2/128/255.  
BERRY Ann 1/89/177. Margaret 1/8/15. Susannah 1/144/287.  
BERTIE John Lawrence 1/73/146.  
BETTISON Martha 2/102/204.

BIGGIN(S) Charles Clayforth 2/212/423. Eliz 2/213/426. James Wilson 1/167/334.  
BILLARD Ann Webster 2/123/245.  
BINGHAM Charles. 1/215/429. Joseph 2/35/70. Richard 1/114/227.  
BINGLEY Jane Agnes 1/225/449. John 1/112/224.  
BINNS Betsey 2/194/392. Jane 2/47/93.  
BIRCH Ruth 1/155/309. Thomas James 2/201/402.  
BIRD Louisa 1/109/217.  
BIRKINSHAW (BURKINSHAW) Emily Jane 1/190/380. Emma 2/16/31. Hannah 2/153/306.  
BIRKITT Bella Gay 1/108/216. Susannah 1/151/302.  
BIRKS Mary 2/225/449.  
BISHOP Alithea 2/70/139. Annie 2/178/355. Elizabeth 1/47/93. Harriet Ellen 1/30/59.  
 John 1/228/455. Mary Elizabeth 2/52/104. ~~XXXXXX~~  
 \*BISDEE George Ford 2/131/262.  
BLACK Susannah 1/146/291. William 2/139/278.  
BLACKBURN Ann 1/7/14. Elizabeth 2/195/289. Joseph 2/119/238. Mary 1/7/14.  
BLACKSHAW John 1/170/339.  
BLACKWEEL Mary 2/156/311.  
BLAGDEN 2/203/406.  
BLAKE William Henry 1/190/380.  
BLAND Jane ~~A~~ 1/220/440.  
BLASTOCK Thomas 2/178/355.  
BLENKHORNE (BLENKHOUSE) Jane 1/122/244. Sarah Ann 1/82/163.  
BLOOR Henry George 2/165/329.  
BLOWER Henry 1/103/206.  
BOARDMAN James 2/203/405.  
BOCKING Annie 2/208/416. Elizabeth 2/29/57. Emma Bamford 1/70/139. Henry 1/120/239,  
 1/240/480.  
BOISOVER Elizabeth 1/222/444. John Henry 1/222/443.  
BODTON (BOULTON) Maria 2/62/123. Mary Ann 2/145/290. Priscilla 2/157/313.  
BOOKER Lowin Horatio 1/65/130.  
BOOT Ann Frances 1/136/272. Hannah 1/4/71.  
BOOTH Elizabeth Sarah 2/210/419. John 1/37/74, 1/120/240, 1/194/387. Mary 1/20/40.  
 William Robert 2/185/370.  
BOSWELL Ann 2/18/35,  
BOTTOM Agnes 2/174/347. Sarah Ann 2/19/38.  
BOWER Alfred 1/48/96.  
BOWLER (BOALER) Harriet Amelia 2/165/329. John 2/184/368. Mary Ann 1/204/407.  
BOWMAN Ann 2/189/377. Thomas 1/130/259.  
BOWNES Albert 1/81/162. Frances 2/136/271.  
BOWYER Eliza Augusta 1/67/133.  
BOYLE Charles 1/176/352.  
BRADBURY Mary Ann 2/180/360. Richard Rowland 2/223/445. William 2/65/129.  
BRADLEY Christiana Mary 1/172/344. Robert 1/165/330. Samuel Goodhand 1/132/263.  
BRADSHAW Hannah 1/127/253.  
BRAILSFORD John 2/11/21. Sarah 1/171/342.

BRAMHALL Mary Ann 1/19/37. Reuben 1/14/28.

BRAMWELL Jabez 1/127/253.

BRAY Harriet 1/39/77.

BRENTANI Eliza 1/173/345.

BREVITT James 2/62/124.

BRIDDON Samuel 1/13/26.

BRIDGENS George John 2/67/134. Henry 2/61/121.

BRIDGES Martha 1/128/254.

BRIGHT Joseph 2/21/422.

BROADLEY Frederick 1/164/327. Samuel 1/96/191.

BROMLEY Isaac 2/138/275. William 1/165/329.

BROOKS Christiama 2/213/425. Elizabeth 2/103/205. Emma 2/164/327. Hannah 2/151/302.

Joseph 1/229/458. Peter 2/117/233. Thomas 2/126/252.

BROOMHEAD Ann 1/126/252.

BROUGHAM William 2/90/179.

BROWN(E) Anne 2/224/448. Edwin 2/21/42. Eliza 1/241/481. Elizabeth 1/49/98, 1/75/149.

Francis 2/226/451. George 1/51/101, 2/132/264. Henry Charles 2/48/95. John 2/189/378.

Martha 1/123/245. Mary 1/237/474, 2/234/467. Matthew 2/215/430. William Henry 2/6/12.

BROWNHILL Thomas 1/242/484.

BROWNSWORD Harriet 2/20/40.

\*~~BRODIGAN~~ BRODIGAN Ellen 1/224/447.

BUCKLEY Charles Raynor 2/65/130.

BUFTON Joseph 2/120/240.

BULL Cuthbert Potts 2/152/303.

BULLAS (BULLOUS) Frederick 2/160/319. Rebecca 2/143/286.

BULLIVANT John 1/9/17. Thomas 2/74/148.

BULLOCK Martha 2/169/338.

BULLTART-PROCTER Ellen 2/247/494.

BUNE John 2/53/106.

BUNTING Edwin 2/101/201. Mary 2/35/69.

BURDEKIN Jane 1/103/206.

BURDEN Ellen 1/80/159.

BURGIN(BURGAN) James 2/63/126. Thomas 1/179/358.

BURNS Catherine 2/194/387.

BURTON George 1/121/242.

BUTLER Clara Jane 2/162/323. Edward 1/226/451. Thomas 2/102/204.

BUTTERFIELD John 1/80/159.

BUXTON Frances 2/65/129. Marria 2/81/161. Sarah Ann 1/192/384.

BYRNE Francis 1/92/183.

BYWATER Mary 1/64/127.

CAIN Mary Ann 2/188/376. Sarah 1/3/5.

CALLABY Nathaniel 1/97/193.

CALOW (CALOE) John 1/56/112, 1/117/234.

CAM Harriet 1/61/122.

CAMOMILE (CANNOMILE) Ann 1/2/3. Elizabeth 1/13/26. Jane 1/1/2.

CAMSELL Eliza 1/7/13. Ellen 1/52/104. George 1/34/67.

CANDLISH William 2/111/222.

CANT Annie 1/219/43 8.

CAPPER George 1/19/37.

CARBY Hannah Pearce 1/106/211.

CAREY Joseph 2/218/435.

CARLINE Mary 1/91/181.

CARLTON Mary 2/36/71.

CARR Ellen 1/44/88. Fanny 2/108/215. Joseph Westwood 2/88/175. Mary 1/172/343.

CARRIER Wilfred 2/90/180.

CARROLL Jaems 2/30/60.

CARSON Janet Dalrymple 2/9/18.

CARTLEDGE Emma 2/133/266.

CARTWRIGHT Alice 2/57/113. Ann 2/42/84. John 2/217/433.

CAVILL Elizabeth Ellen 1/244/487.

CAWTHORNE Benjamin 2/10/20. Frank 1/235/470.

CHADDOCK George 1/67/134.

CHAMBERS Albert Allen 2/193/386. Eliza 1/135/270. Harriet 1/62/123. William 2/17/33.

CHANT Henry 2/228/455.

CHANTRY Reuben 2/5 8/115.

CHAPMAN Elizabeth 2/94/188.

CHAPPEL Sarah 1/107/214. Thomas Frobisher 2/31/61.

CHARLESWORTH Clara 1/233/466. Ellen 2/75/149. Harry 2/118/235. Patience 1/147/293.

Sarah 1/148/295. Thomas 2/159/318.

CHEETHAM Isabella 2/199/398.

CHESMAN Mary Ann 1/213/425.

CHOWN Henry Charles 2/3/5.

CHRISTE Thomas 1/247/493.

CHURCHILL Charlotte 2/141/281.

CLAPHAM Henry 1/29/57.

CLARK(E) Agnes 2/67/134. Ann 1/200/399, 1/246/491. Elizabeth Ann 2/28/55. Isaac 2/199/397.

John 2/1/1. Mary 1/231/462. Mary Ann 1/144/288. Rosa 2/82/163. Sarah Ann 2/193/386.

Thomas 1/155/310. William Henry 2/249/498.

CLAY Eliza 2/43/85.

CLAYTON Ann 1/227/454. George 1/197/393. Mary Ann 2/78/155. Matilda 1/87/174.

CLINTON Ann 2/107/214.

COCKAYNE Henry 2/64/128.

COCKER John 1/96/192. Mary 2/149/297.

COE Walter 2/171/341.

COLDWELL Caroline 1/102/204.

COLE George 1/186/372. Thomas 1/33/66.

COLLINS Hannah 1/232/463. John 1/106/212. Maria 2/111/222

CONALLY Anne 1/42/84.

CONDON ~~FRANCIS/252/464~~ Richard John 2/129/258.

COOK(E) Ann 1/165/330, 2/44/88. Edward Clement 2/166/331. Ellen 2/142/283. Susannah 2/27/54

COOKSON John 1/111/222. Thomas 2/160/320.

COOMBS Willm 2/122/244.

COOPER Charlotte 2/32/63. George 1/38/75. Henry 1/172/344. Martin Thomas 1/65/129.  
Sarah Maria 2/21/41. William 1/75/150.

COPPOCK William 1/201/402.

CORBETT (CORBITT) Henry 2/24/48. William Ribby 2/137/274.

Cordon Fanny 2/232/464.

CORKER James 2/186/371.

CORRINGHAM George 2/130/259.

COSTELLO Mary 1/60/120.

COTTERILL Ann 1/32/63. Emily Margaret 2/249/498. William 1/144/287.

CRAPPER Ellen 1/3/6.

CRAWSHAW Ann 1/133/265. George 2/67/133.

CRAY William 2/96/191.

CRESWICK Joseph 2/120/239.

CRICK Elizabeth 2/16/32.

CROFT Charlotte 1/168/336. Eliza Hannah 2/249/497. Mary Jane 2/246/491. Sarah 2/75/150,  
2/187/374. Sarah 2/166/331.

CROMWELL William Oliver 2/103/205.

CROOK(ES) Alfred 2/42/84. Elizabeth 1/90/179, 1/157/314. Hannah Rodger 1/59/118.  
William Naylor 1/215/430.

CROPLAND ~~WYM~~ John 1/89/178.

CROPLEY Jane 1/73/145.

CROPPER John 1/207/414. Mary 1/97/194.

CROSSLEY Isabella 2/123/246.

CRYER Hannah 1/163/326.

CULLABINE William 2/66/131.

CUNDY Maria 2/157/314.

CURTIS Thomas George 2/164/327.

DALE Charles 2/134/268. Charles Matthias 1/105/209. Elizabeth 2/150/300. John 1/172/343.

DALY Sarah 2/96/191.

DAMMS Ellen 2/136/271. Fanny 2/118/235. Sarah 1/209/418.

DARLING Elizabeth 2/233/466. Henry 2/9/18, 2/93/186.

DARRINGTON Charles 2/230/460.

DARWENT Martha 2/46/99. William 2/1/2.

DARWIN Sarah 2/212/423. Sarah Ann 2/176/351. Thomas 1/14/27.

DAUGHTREY (DOHERTY) Edward 2/127/253. George 2/222/444.

DAVIES Thomas 1/55/109.

DAVIS Jane 1/89/176.

DAVY Matilda 1/72/144.

DAVISON Isaac 2/135/270. Mary Lydia 2/179/357.  
DAVES Annie 2/241/482.  
DAWSON Ann 1/17/34. George William 2/146/292.  
DEAKIN Thomas 2/54/107.  
DEARDEN Charles 1/50/100.  
DENLEY John 1/212/423.  
DENT Thomas 1/15/30.  
DEWSBURY Emma 2/2/4. Rose Ann 2/89/178.  
DEY Edwin 2/55/109.  
DICKINSON Annie Elizabeth 2/107/213. William 2/87/174.  
DIDSBURY William 1/200/399.  
DILKS Charles Edward 2/190/380.  
DITCHFIELD William Henry 2/85/169.  
DIVEANY Ellen 2/191/381.  
DIXON Charles 2/74/147. Day 1/61/121. Eliza 2/69/138. Mary 1/83/165. Sarah 2/88/176.  
DOBBINS William 1/195/389.  
DOBSON James 1/11/22.  
DONAGHUE Cornelius 2/11/22. Ellen 1/220/439.  
DOOLIE Sarah Jane 2/195/390.  
DOUBLEDAY Eliza 2/172/344.  
DOVE Thomas Needham 1/225/449.  
DOWNEND John 2/28/56.  
DOWNES Martha 2/91/181.  
DOYLE Elizabeth 1/76/151.  
DRABBLE Henry 2/124/248. Mary Ann 2/250/500.  
DREW George Henry 2/168/335.  
DRURY (DREWRY) Thomas 2/12/23, 2/81/161. William 2/97/194.  
DRUST Thomas Henry 2/213/426.  
DUCE Ellen 2/138/276.  
DUKE Ann 2/239/478. Henry 1/229/457. James 1/82/163. Mary 1/99/197. William 1/36/72.  
DUNGWORTH Mary 2/25/49.  
DURHAM Ann 2/82/164.  
DWYER John 2/134/267.  
DYSON Ann 1/50/100. Charlotte 1/63/126. Elizabeth 1/143/286.  
  
EADON Elizabeth 1/87/173.  
EARL Mary Isabella 1/149/277.  
EARNSHAW George 1/63/126. Thomas 2/173/346.  
EAST Joshua 2/10/19.  
EASTWOOD Arthur 2/140/279. Thomas 2/240/479.  
EATON Peter 1/12/24.  
ECCLES Hannah 2/244/588.  
EDDERSHAW John 2/239/478.

EDWARDS Alice 2/244/487. Charles Josiah Goodall 2/18/36. Jane 2/175/350. John 2/148/296.  
 Louisa 2/236/471. Sarah Anne 2/119/237. Thomas 2/26/51.

EGARR Sarah Mary 2/182/363.

ELEY Sarah 2/13/26.

ELLEN Mary Ann 2/219/437.

ELLIOTT Ann 2/35/70. Clara 2/9/17. John 1/116/231. Joseph 2/190/379. Maria 1/18/35.  
 Thomas Alfred 1/92/184.

ELLIS(S) Alfred 2/138/276. Henry 2/15/29. John 1/162/324. John Henry 2/154/308.  
 Mary Ann 2/38/76. Samuel 2/89/177.

ELLISON Henry 1/64/127.

ELKINGTON Mary 2/51/102.

ELSDON Robert Atkinson 2/99/197.

ELSEY Elizabeth 2/183/365.

ENGLISH David 2/70/139.

ETCHER William 1/94/187.

EVANS Charles 1/220/439. George 2/69/137. Thomas 2/20/39.

EVATT Elizabeth 2/248/496.

EYRE Isabell 1/134/268. John 1/126/251. Rebecca 1/110/219.

FAITH Mary 1/88/176.

FARBROOKE Mary 2/196/391.

FARRAR William 2/177/354.

FARROW Frederick 1/98/195.

FAULKNER Elizabeth 2/63/125. Martha 1/117/234.

FAVELL Charles 1/153/306.

FAWCETT Emma 1/53/106. William 1/83/165.

FEARN (FERN) Jane 2/24/47. Mary 2/85/169.

FEARNELY William Linder 2/229/458.

FEARNOUGH Alice 2/53/105.

FELLOWES Mary Ann 2/126/252.

FIELDS Anna 2/112/24. John 1/17/34. Mary 2/144/287. Sarah 2/144/288. Thomas 2/242/484.

FISH Robert 2/25/49.

FISHER Elizabeth 1/189/378. George 1/104/207. Harriet 1/78/155. Louisa Cave 2/48/95.  
 Thomas 2/172/344.

FITCHES Emma 2/49/98.

FLANAGHAN Martin 1/203/405. Stephen 2/191/381.

\*FLOWER Mary 1/73/146. Mary Taylor 2/247/493.

FLEMING Charles James 1/38/76. John 2/212/424.

FLETCHER George 1/20/39. Harriet 1/165/329. Jim 2/202/403. John Frederick 1/125/249.  
 Mary Ann 1/236/472.

FLINT Emma 1/124/248.

FLINTHAM Emma Louisa 2/147/293. Joseph Alfred 2/237/474.

FORD Martha 2/117/234.

FOSTER Emily 1/97/193. George 1/98/196. 2/88/176.

FOULSTONE Alice 1/245/489. George 1/157/313. Maria 1/218/435.

FOWLER Charles 1/150/299. Ezekiel 2/185/369. George 1/147/293, 2/80/160. Joseph Stephen  
Rodgers 2/130/260. Thomas 1/245/490.

FOX Ann 1/210/419. Charles 1/44/88, 2/12/24. Frances 1/182/364. Mary Ann 1/188/376.  
Rose Emma 2/71/142. Thomas Evans Goulding 1/29/58.

FOXTON Rachel Ann 1/55/109.

FRADLEY George 2/216/432.

FRANKLIN Mary Ward 1/85/170.

FRAWLEY Mary 2/161/322.

FRENCH Caroline 1/173/346.

FRITH Hannah 1/2/4. Harriet 2/139/278.

FROST Hannah 2/171/342. Mary 2/2/. Robert 1/178/355. Sarah 2/194/388. Thomas 2/118/236.  
William 2/152/304, 2/225/450.

FROGGATT Elizabeth Ann 2/66/131.

FRUDD Clara 2/89/177.

FULLBROOK Caroline 2/17/34.

FURNESS (FURNISS) Ann 2/227/453. Mark 1/142/284. Sarah 1/221/442. Thomas 1/87/173.

GABBITUS Elizabeth 1/~~1885~~/183/365.

GAMBLE(S) Emma Ann 2/205/410. Selina Matilda 1/55/110. William 1/90/179, 1/168/336.

GANT William 1/24/47.

GARDNER Mary Eliza 1/152/304.

GARNER Jane 2/155/310.

GARROTT Joel 2/156/311.

GASCOYNE John X 1/201/401.

GASKIN Ann 2/167/334.

GEMMEL George 2/182/364. Hellen 2/182/364.

GIBSON Charles 2/153/305.

GIDDINGS John 2/46/92.

GIGSON Margaret Ann 1/125/249.

GILBERT Mary 2/97/193.

GILFOY Ellen 1/613/325.

GILL Harriet 1/15/29. Lydia 2/163/326. Sarah Ann 1/29/58, 1/129/258.

GILLOT (GILLIATT) Eliza Ann 1/140/280. Elizabeth 1/52/103. Eva 2/236/472. George 1/15/29.  
Herbert 2/239/477.

GILLSON George 2/95/189.

GILPIN Ellen 1/130/259.

GLEADFALL Ann 1/195/390. George 2/9/17.

GLEW Ellen 2/22/43. Emma 2/22/44.

GLOSSOP Edward 1/59/118. Elizabeth 2/28/56. Gilbert 1/244/487. William 2/196/391.

GODBER Harriet 2/45/90.

GODDARD Emily 1/193/385. John 1/196/392.

GOLDER Fanny 2/20/39.

GOLDTHORPE Sarah 1/198/396.

GOLLAND William Robert 1/214/428.

GOODINSON Jane 1/162/324.

GOODISON Louisa 2/243/486.  
GOODLAD Alexander James 2/24/47. Edward 2/78/156. Harriet 1/90/180. Sarah 1/79/158.  
GOODRICH Thomas 2/71/142.  
GOODWIN Annie 2/231/462. Frances 1/202/403. Mary 1/181/362.  
GORSE Samuel 1/155/309.  
GOSNAY Charles 2/44/88.  
GOWLAND Joseph 1/88/175.  
GRACE William 2/231/461.  
GRADY Ellen 2/127/254.  
GRAHAM Charles 1/47/93.  
GRANFIELD Henry 1/63/125.  
GRANGE Mary 1/145/289½  
GRANT Catherine 2/69/137. Sarah 2/29/58, 2/150/299. William 2/94/187.  
GRATTON Elizabeth 2/192/384. John 2/157/314.  
GRAVES Mary Elizabeth 2/99/197.  
GRAY Ann 2/170/340. Frederick 2/123/246. Martha 1/28/56.  
GRAYSON Benjamin 1/177/353. Catherine 1/179/358.  
GREAVES George 1/180/359. Hannah 1/190/379. Joseph 2/100/199. Sarah 1/24/47. Sushanna  
2/183/366.  
GREEN George 1/78/156, 2/79/157. Martha 2/86/172. Mary 1/215/430, 2/120/239. Mary Ann  
1/225/450. Samuel 2/235/470.  
GREENHOUGH Emma 2/238/475.  
GREENSMITH Ruth 1/187/374.  
GREGG Ann 1/216/432. Ellen 1/169/338.  
GREGORY Eleanor 1/114/228. Sarah Ann 1/186/371. Thomas 1/97/194. William 1/164/328.  
William Henry 1/138/276.  
GRISDALE Solomon 1/43/85.  
GROCUTT Samuel 2/84/167.  
GROVENOR William 1/46/91.  
GROVER Elizabeth Mary 1/226/451.  
GUEST George 1/148/295. John 2/244/487. Julia 2/237/474. Mary 1/161/321.  
GUILTE John 1/108/215.  
  
HABERSHAW Frank 2/194/388.  
HACKETT George 2/143/285. Richard 1/238/476.  
HACKNEY Charles 1/22/43.  
HADDOCK Hannah Elizabeth 1/76/152.  
HADFIELD Jane Eliza Hurdon 1/10/19. John 1/160/319. Joseph Wheatley 1/26/51. Mary Ann XX  
1/240/480. Sarah Jane 2/212/424.  
HAGUE Edward 1/42/83. Elizabeth 1/43/86. Hannah 1/109/218. James 2/182/363. Jane 1/138/216.  
John 1/158/316.  
HALL Agnes 1/204/408. Hannah Newham 2/14/28. Henry 2/89/178. James Rivers 1/43/86.  
Mary Jane 1/12/23. Nicholas Twibell 2/80/159.  
HALLAM Elizabeth 1/132/264. Louisa 1/23/45.  
HALLIDAY George 2/59/117, Thomas 2/68/136.

HAMMOND George 1/241/482. Sarah 1/197/393.  
HANBY Thomas 2/166/332.  
HANCOCK George 2/112/223, 2/172/343. George Rodgers 2/81/162. \*\* Charles 1/207/413.  
HANDLEY Maria 1/119/238.  
HANLAY Winney 1/92/183.  
HANNAN Mary 2/110/220. William 1/209/417.  
HANSON Clara 2/214/428. Elizabeth 2/229/457. Joseph 1/136/271. Percy 2/38/75. Samuel  
2/62/123. Sarah 2/200/400. William 1/119/238.  
HARBRIDGE John Townsend 2/224/447.  
HARDING William 1/193/386.  
HAEDEY Henry 1/219/438. John Walter 1/149/297. Mary 2/230/459. Mary Ann 2/164/328.  
Sarah Ann 1/235/470. Thomas 2/232/463. William 2/4/7.  
HARMSTON Elizabeth 1/214/427.  
HARRIS Mary Ann 2/155/309.  
HARRISON George 1/220/440. John 2/56/112. Samuel 2/226/452. William 1/3/6, 1/240/479, 2/26/52.  
William Rooke 1/5/10.  
HARROP Fanny 2/129/258. James 1/174/348.  
HART Nicholas 2/3/6.  
HARTLE John 1/237/474.  
HARTLEY Ann 1/66/131. Jane 2/130/260.  
HARWOOD Mary Ann 2/21/42.  
HASLAM Mary Emma 2/141/282. Thomas 1/208/415.  
HASLAND John 1/57/113.  
HATTERSLEY Clara 2/125/250.  
HATTON Peter 1/113/226.  
HAVENHAND Hugh 2/39/78.  
HAWCROFT Elizabeth 2/11/22.  
HAWKE Elizabeth 2/26/51. Jessie 2/5/9.  
HAWKINS Julia 2/95/189.  
HAWKSLEY Thomas 1/132/264.  
HANKSWORTH Harriet 2/15/29, 2/101/201. Henry 2/63/125. William Ash 2/201/401.  
William Blackwell 1/198/395.  
HAWLEY John 1/219/427. Mary 1/238/476.  
HAYES George 1/248/495. Joseph 2/15/30. Mary Ann 2/152/304. Theresa 2/18/36.  
HAYNES Robert 1/233/465.  
HAZLEWOOD Joseph 2/82/164.  
HEADFORD James 1/71/141.  
HEALD Thomas 1/75/149, 1/202/403.  
HEAPS Henry 2/61/122.  
HEATH Sarah 2/103/206.  
HEATHCOTE Anne Eliza 2/139/277.  
HEATON Joseph 1/102/204.  
HEBLETT James 2/151/301.  
HEELEY Sarah Ann 2/159/317.  
HEMINGWAY Margaret 2/148/295. Sarah Ann 2/207/414.

HEMSWORTH Rachel 1/133/266.

HENSON Thomas 2/192/384.

HERBERT Joseph 1/125/250.

HERLEY Francis William 2/243/486.

HERRINGTON Ann 1/192/383.

HERRIP Hannah 2/197/393.

HIBBERD (HIBBARD) Charles 2/73/145. Harriet 2/192/383. John 1/227/454. William 2/106/211.

HIBBERT Henry 2/41/82.

HIDES (HYDES) George 1/205/409. Jeanette 1/59/117. Martha 2/59/118. William 1/199/395.

HILL(S) Agnes 2/84/168. Betsy Ann 1/122/243. Charles 1/42/84. Eliza 2/97/194. Elizabeth 1/93/185. Emma 2/168/335. Francis 1/27/53. Hannah 1/184/368. Harriet 1/108/215. Henry 1/187/373. Horatio Nelson 2/86/171. John 1/225/450, 2/205/410. Joseph 1/230/459. Mary 1/194/387. Mary Jane 1/217/433.

HINCHLIFFE Harriet Ann 2/105/209.

HIND(S) John 1/154/308. William 1/115/229.

HIRST (See also HURST) Mark 2/58/116. Samuel Kirk 1/146/292.

HIZZARD George 1/192/383.

HOARE Julia 1/235/469.

HOBSON Charles 1/51/102. Eliza 1/14/27. Elizabeth 1/91/182, 1/200/400. Emma 2/95/190. Harriet 2/35/95/190. Harriet 1/75/150. Marytha 2/15/30. ~~HOBBEKINSON~~

HODGKINSON Ann 2/181/361. Elizabeth 2/54/107.

HODSON Elizabeth 2/200/399. Fanny 1/141/282.

HOGG Emma 1/137/274.

HOLEHOUSE Samuel 2/175/349.

HOLLAMS John 1/24/48.

HOLLAND Christopher 2/31/62.

HOLLIES Sarah 2/60/120.

HOLLINGWORTH Alfred 1/110/219. Sarah Ann 2/172/343.

HOLLYOAKE Ann 1/95/189.

HOLMES Charles 1/1/2. Jane 1/36/72. Lydia Ann 2/61/121. Rebecca Ann 2/162/324.

HOLMSHAW Sarah 1/11/21.

HOLT Jacob 2/205/409.

HOOLE Eliza 1/169/337.

HOPEWELL John 2/101/202.

HOPKIN(S) Peter 1/171/341. Sarah 2/140/279.

HORNBY Eliza Esther 1/106/212.

HORSFIELD Kezia Jane 1/47/94. Mary 1/38/75.

HOUGH Edwin 1/239/477. Elizabeth 1/178/355. George 1/183/365.

HOULDEN Joseph 1/52/104.

HOUSLEY Hicks 2/193/385.

HOWARD Emma 1/142/283.

HOWELL John 2/151/302.

HOYLAND Elizabeth Anne 2/211/422.

HOYES Jane 1/185/369.

HOYLE Joseph 1/67/133. William 1/101/201.

HUBBARD Thomas 1/163/325.

HUBIE Emma 1/26/52.

HUDSON Emily 1/196/392. Thomas 1/202/404, 2/57/113. William 2/50/100. William Christopher  
1/108/216.

HUGHES Jane 2/99/198. John 2/181/361. Thomas Heathcote 1/26/52.

HUGILL Mary 2/58/116.

HUKIN George 1/130/260.

HULLEY John 1/76/152.

HUNT Ann 1/118/235. John 1/129/257. Sarah 2/223/446.

HUNTER John 1/162/323. Tom 2/168/336. William 2/72/144.

HURD Charles 1/62/124.

HURST (See also HIRST) Clara 2/191/382. William 1/217/434.

HUSSICK Parkinson 2/17/34.

HUTCHINSON Edwin 1/216/431. Granada 1/193/386. Hannah 2/112/223. Maria 2/229/458.  
William 2/204/408.

HUTLEY Thomas 1/53/103.

HUTT Eliza Matilda 1/119/237.

HUTTON Ann 2/98/195.

HYDEN Robert Baker 2/109/217.

IBBERSON William 1/198/396.

IBBOTSON Alice 1/129/257. Betsy 1/160/320. Elizabeth 2/154/308. James 2/99/198.  
Mary 1/183/366.

IBBS Mary 2/153/305.

INNOCENT James 1/153/305, 2/23/45.

IRON Louisa 2/243/485.

JACKSON Agnes 2/240/480. Charles 2/247/493. Elizabeth 1/177/354. George 2/200/400.  
Henry 1/239/478. James 1/73/145. Jane 1/165/129. Janetta 2/126/251. Julia  
1/159/317. Maria 1/14/28. William 1/45/89, 1/53/105.

JARVIS Mary 2/188/375. ~~XXXXXXXX~~

JEFFERY Mary Ann 2/124/247.

JEFFRIES Mary Ann Hickton 1/180/360.

JENKINSON Eliza 1/35/70. Martha 1/141/281.

JEPSON Henry 1/163/326.

JESSOP James 1/25/50.

JOHNSON Ann 1/56/111. George 2/75/149, 2/79/158. Jane 1/206/411. Rachel 2/127/253.  
Robert 1/221/442.

JOHNSTONE Elizabeth 2/94/187.

JONES Daniel 2/142/283. Edward 2/51/101. Henry 2/150/299. Ruth 2/110/219. Samuel  
2/106/212. Sarah 2/128/255. William 2/114/227.

JOWITT Christopher 2/176/352. James 2/21/41.

JOYCE Margaret 1/138/275.

JUBB Charles Frederick 2/180/359. Mary Ellen 1/162/323.

KAY(E) Mary 1/116/231. Susannah 2/220/439.  
KELLAM Matthew Henry 2/125/249.  
KEISEY Mary Ann 1/XX/71/142. William Albon 1/25/49.  
KEMP Caroline Beaumont 1/139/277. James 1/152/303. Martha 1/26/51.  
KENNEN Hannah 1/41/81. William 1/49/98.  
KENNINGTON Diana 2/32/64.  
KENYON Charles 2/64/127. Elizabeth 2/146/291. Mary 2/72/144.  
KEYWORTH James 2/28/55. William 1/116/232.  
KIELEY Thomas 1/173/346.  
KIRBY Jude 1/209/318.  
KITSON James 1/142/283.  
KNIGHT Martha 1/136/271.  
KRAMER Caroline Elizabeth 2/135/269. Catherine 2/3/5. Emma Lizetta 2/112/224.  
  
LAFEY Mary 1/54/107.  
LAINÉ (LANE) Ann 1/120/239. John 2/147/294. Mary 2/137/273.  
LAMB George 2/77/153.  
LAMBERT Henry 1/235/469.  
LANCELOT Mary 1/23/45.  
LANGSTAFF Fanny 1/214/428. Sarah Ann 1/154/307.  
LARDER William 1/91/181.  
LAUGHTON Elizabeth 1/74/147. Sabina 1/68/135.  
XX LAVENDER Henry 2/8/15.  
LAW Abrham 1/44/87. Martha Ann 2/45/89. Sarah 1/209/417. William 2/4/8.  
LAWSON George 2/124/247. Robert 1/111/221.  
LAWTON Philip Smith 2/225/449.  
LEAR John William 2/48/96.  
LEDGER John Charles 1/12/23.  
LEE(S) Ann 1/25/50. Eliza 2/142/284. Elizabeth 2/6/12. George 1/131/262. John 1/52/103.  
 William 1/60/120, 2/233/466.  
LEECH Thomas 2/243/495.  
LEFEBURE Mary Esther 2/224/447.  
LEIGHTON David 1/19/38.  
LEONARD Rosina 1/81/161.  
LESLIE Robert 2/222/443. \*James Scott 2/162/324.  
LETAMAN Alexander 1/105/210.  
LEVERSIDGE Sarah Ann 1/53/105.  
LEVERTON Joseph 1/136/272.  
LIDDALL George 2/16/31.  
LIEVESLEY Elizabeth 1/151/301. John 1/151/302.  
LILLYMAN John 1/100/233/199.  
LINCOLN Mary 1/69/137.  
LINDLEY John 1/157/314. William John 1/70/139.  
LINDSAY David 2/150/300.  
LINGARD Elizabeth 1/46/92. Sarah 1/40/80.

LINLEY Amelia 2/174/348. John 1/241/481.  
LINNEKER Tom Allwood 2/113/225.  
LISTER (LAISTER, LEISTER) Charles 1/158/315. Elizabeth 1/237/473. George 2/22/44. Jane  
1/234/467. Joseph Nowall 1/234/467. Margaret 2/93/185. Walter Henry 2/140/288.  
LITCHFIELD Thomas 1/167/333.  
LITTLEWOOD Anne 1/33/66. James 1/2/4.  
LOBERIDGE Amelia 2/228/455.  
LOCKE Charles Albert 2/187/374.  
LOCKWOOD Ann Pearson 1/191/381. Joseph 1/104/208. Walter 2/163/325.  
LODGE Jeffery 2/119/237.  
LOTHOUSE Ann 1/180/359.  
LOMAS Frederick 2/42/83.  
LONGDEN George 1/110/220. Sarah 1/205/409.  
LOUKES Horace Edward 2/215/429.  
LOWE Elizabeth 1/164/327. Henry 1/32/64. Mary 1/117/233. Sarah 1/92/184.  
LYNE Thomas 2/173/345.

MACKINDER Ellen Thacker 2/116/232. Fanny 1/212/423. Mary Jane 2/218/435.  
MACLEAN Mary 1/189/377.  
MADDOCKS James 2/85/170.  
MAHER Thomas 1/211/422.  
MAHONEY Catherine 1/197/394.  
MALKIN Joseph 2/154/307.  
MALLINSON Henry 1/55/110.  
MALONY Harriett 1/188/375.  
MAPPIN Elizabeth 1/32/64. Joseph 1/48/95.  
MARFIELD Thomas 2/19/37.  
MARKHAM Betsey 2/132/263.  
MARPLES Margett 2/41/82. 2/173/345. Thomas 2/149/297.  
MARRIOTT Rose 2/13/25. Samuel 1/22/44. William 1/39/77.  
MARSDEN Ann 1/145/290. Ellen 1/36/71. James 2/250/499. Sarah Ann 1/5/10.  
MARSH James 2/5/9.  
MARSHALL Elizabeth 2/109/217. Harriet Elizabeth 1/70/140. Henry 1/23/46. Mary Ann  
1/124/247. 2/40/80.  
MARSON Charles 1/210/420.  
MARTIN Mary 2/190/379. Robert 2/147/293.  
MASEFIELD Ellen 2/68/135.  
MASKREY Francis 2/111/221.  
MASON Ann 1/57/114. 1/149/298. Averilda 2/171/341. Fanny 1/4/8. Harriet 1/21/41. 1/159/318.  
Mary Ann 1/16/31. Tom 1/118/236. Walter 2/249/497. William 2/87/173.  
MATHER(S) Ann 2/129/257. Samuel 2/37/73.  
MAW(E) Rose Hannah 1/93/186. Sarah 2/206/411.  
MAXFIELD Jane 2/189/378.  
MAY Henry 2/60/120. James 1/115/230.  
McCAFFEREY John 2/242/483.

McDONALD Robert 2/200/399.  
McINNES Catherine 1/224/448.  
McLOUGHLIN Mary 2/115/229.  
McCARA Ann 2/160/320.  
MELL James 2/129/257.  
MELLOR(S) Aaron 1/183/366. George 1/113/25. 1/119/237.  
MEMMOTT Clara 1/217/434. Walter George 2/141/282.  
MEQUINER Emma 2/12/23.  
MERRILL Elizabeth 2/135/270.  
METCALF Eliza 1/68/136.  
METTIAM (METTHAM) George 2/143/286. John 2/97/193. William 2/209/418.  
MEWIS George 2/155/309.  
MIDDLETON Alice Mary 2/208/415. Eliza 1/150/300. Emily 1/128/256. Mary 1/112/224. 2/161/321.  
 Sarah 2/241/481.  
MILES John James 2/54/108.  
MILLER John 1/173/345.  
MILLS Annie 2/134/267. Isaac 1/57/114. Jane 2/121/242.  
MILNER (MILLNER) Emily 2/143/285. Manwaring 2/7/13. Samuel 1/134/267.  
MIRFIN Catherine 2/11/21.  
MITCHELL Jane 1/84/168.  
MONKS (MUNKS) Richard 2/157/313. William 2/59/118.  
MOODY Christiana 2/33/65.  
MOOR(E) Eliza 1/131/261. Elizabeth 1/115/229. Sarah 1/45/90. Susan 2/3/6.  
MORAN Charles 1/91/182.  
MORGAN John Hallam 2/40/80. Walter 1/69/137.  
MORLEY Henry 1/128/256.  
MORRELL Maria 1/161/322.  
MORRIS(S) Ann 2/234/468. Elizabeth 2/240/479.  
MORRISON James 1/186/371.  
MORTON Emma 2/106/211. John 2/248/496. Mary 1/203/406. Sarah Jane 2/125/249. Thirza Ann  
 2/235/469. William 2/139/277.  
MOSELEY Jacob 2/250/500. Mary 2/202/404.  
MOSLEY Thomas 2/103/206.  
MOTTRAM William 2/96/192.  
MOULDS James 2/233/465.  
MOULSON Alice 1/243/486.  
MOUNT ~~XXXXXXXX~~ Elizabeth 1/27/54.  
MOXON Eliza 2/235/470. Sarah Jane 2/220/440.  
MULLIGAN William 2/177/353.  
MULLINS Joseph Miles 1/166/332.  
MURPHY Katherine 2/170/339. Winifred 1/181/361.  
MUSCROFT Elizabeth 2/130/259.  
  
NADIN Emma 2/108/216.  
NAISH Sarah 2/216/432.

NAYLOR Elias 2/110/220. John 1/66/131. Mary Ellen 2/70/140.

NEEDHAM Harriet Smith 1/63/125.

NEEP Lois 2/209/417. William 2/209/417.

NELSON John Muir 2/39/77.

NEWBOULD Ellen 2/10/20. Emily 1/229/458.

NICHOL Joseph 1/124/247.

NICHOLSON Christopher 2/116/231.

NIBLD Walter 1/144/288.

NIGHTSCALES Phebe 1/132/263.

NOLAN Elizabeth 1/173/28/348.

NORBURN Mary Ann 2/134/268.

NORMAN Joseph 1/18/35.

NORTON Isabella 1/77/153.

NORWOOD Emma 2/87/174.

NOYLAND Mary 1/171/341.

NUTT Ann Maria 2/52/103. Ellen 1/243/485. Harriet 1/198/395.

OAKES Caroline 2/58/115.

OAKLAND William 1/159/318.

OATES Henry 1/117/233. James 2/98/195.

OGLEY William 1/1/1.

OLDALE Alfred 2/46/91. Arthur 2/179/358. Henry 2/158/315. Lydia 1/99/198.

OLDALL Henry 1/107/214. Sarah 1/56/112.

OLDFIELD Francis 1/113/225.

OLDHAM Jane Caroline 1/247/493. John Wheatley 1/188/376.

OLIVER James 1/40/79. John 1/6/11. John Henry 2/107/213. Mary Ann 1/157/313. Sarah 1/96/192.

O'NEILL Jeremiah 1/3/5.

OSBORNE Mary 1/240/479.

OVEREND Hannah 2/232/463.

OWEN Arthur 2/86/172. Harriet 1/207/413. Harriet Elizabeth 1/219/437. Samuel 1/205/410.

OXLEY Samuel 2/35/69.

PACKARD Henry 1/49/97.

PAGDIN Charles 2/2/4.

PALFREYMAN Elizabeth 2/210/420. Hannah 2/23/45. Mary 2/105/210.

PALMER George 2/18/35. Maria Marshall 1/6/11.

PAP Lydia 1/118/236.

PAPFIELD Elizabeth 2/104/208.

PARKER Ann Eliza 2/60/119.

PARKIN Eliza 1/147/294. George 1/228/456. Harriet 1/98/196. Mary Ann 2/180/359.

William 2/214/427.

PARKINSON Ann 1/49/97. Anne Maria 2/81/162. Elizabeth 2/131/261.

PARR Richard 1/148/296.

PARSON(S) John Joseph 2/108/216. Sarah 1/51/102.

PARVIN Fanny 2/54/108.

PASHLEY Fanny 2/74/148. John 2/49/98. Mary 2/222/443. Sarah 2/152/303.

PASS Martha 2/44/87. Mary 2/100/2/199.

PATCHETT George 2/158/316.

PATTERSON Alexander 2/144/287. Hannah 1/248/496.

PATTINSON William 2/40/79.

PATTISON Mark 2/246/492. William 2/170/339.

PAUL Joseph 2/245/490.

PAWSON George 2/121/241.

PEACH Elizabeth 1/170/339.

PEACOCK John 1/137/273.

PEARCE John George 2/33/65.

PEARSON John 2/211/421.

PENNINGTON Thomas 2/70/140.

PENRICE John 1/95/189.

PEPPER Fanny 1/104/208.

PERCIVAL Enoch 1/141/281. John 2/224/448.

PERKINS Samuel Turner 1/106/211.

PHOENIX Frederick 2/247/494.

PICKARD Eliza Wainwright 2/138/275.

PICKERING Kate Emily 2/233/465. Sarah 2/136/272.

PICKETT Ann 1/39/78.

PICKLES Elizabeth 2/250/499.

PICKSLEY Anne 1/175/350.

PICKWORTH Charles 1/189/378.

PIKE Ann Elizabeth 2/56/111.

PLANT William 2/36/71.

PLATTS Ann 1/64/128. Benjamin 1/149/298.

POLLARD Charles 1/93/186. William 1/100/200.

POOLE Mary 1/6/12.

POULSON Clara 2/71/141.

POWELL Charles 1/68/136. Thomas 1/230/460.

PRENTICE Samuel 2/104/207.

PRIESTLEY Frederick Thomas 2/71/141.

PROLL Philip 1/81/161.

PROUDFOOT William 1/216/432.

PRYOR Mary Ann 1/101/202.

PULLEN Henry 1/184/367.

PURCELL Edward 2/217/434.

PURGER Thomas 1/123/245.

PURSEGLOVE Mary Jane 2/55/109.

QUANTOCK Sarah Ellen 2/104/207.

RABY Emma 1/10/20.

RADFORD Harry 1/122/243. Valentine 1/16/31.

RADLEY Charlotte 2/56/112.  
RAINSFORD Mary 1/13/25.  
RALPHS Edwin 1/236/471.  
RAMSDEN William 1/206/412.  
RANDALL James 2/36/72. William 2/204/407½  
RASEN Emma 1/239/478.  
RAWSON Abraham 2/128/256. James Lane 2/155/310. Jane Elizabeth 2/217/434. Thomas 1/199/397.  
RAYNEY Albert Henry 2/218/436.  
REANEY Annie Elizabeth 1/112/223. Joseph 1/28/56. Mark 1/150/300. Sarah 2/158/316.  
 William 1/45/90.  
REDFEARN George 2/117/234.  
REDMAYNE Thomas 1/10/20.  
REDSHAW Eliza 2/131/262.  
REED Enoch 2/14/28. John 2/219/437.  
RENSHAW Elizabeth 2/216/431. Henry 1/175/349. William 2/145/289.  
REVILL Sarah 2/38/75.  
REYNOLDS Charles 2/34/67. Elizabeth Anne 1/196/391. Robert 2/183/366. Sarah Ann 2/215/429.  
 Thomas 1/182/363.  
RHODES John Thomas 2/220/439. Mary 2/238/486. William ~~W~~ 1/224/447.  
RICHARDS Elizabeth Maria 1/83/166. Sarah Annie 2/77/154.  
RICHARDSON Charles Machon 2/144/288. Edward 1/232/463. George 2/16/32. Henry 1/27/54.  
 Mary 2/242/484. Thomas Roberts 1/218/436. William 2/145/290½  
RIDDLE Susan 1/167/333.  
RIPPON Elizabeth 2/66/132. Thomas ~~W~~ 2/6/11.  
ROBERTS Edwin Arthur 1/95/190. Jane 2/55/110. John 2/55/110. Martha Ann 1/65/130.  
ROBINSON Ann Elizabeth 2/72/143. Catherine 2/113/226. Edward 1/88/176, 2/27/53. Elizabeth  
 2/33/66. Harriet 1/48/96. Martha 1/22/44. Mary Ann 1/79/157. Thomas 1/10/19.  
 Tryphana 1/120/240.  
ROCKLEY Henry 1/203/406.  
RODGERS (ROGERS) Ann 2/86/171. Henry 1/5/9. Samuel 1/147/294. Sarah 1/60/119. Sarah Ann  
 2/246/492. Theresa 2/177/354. William 1/53/106.  
ROLLINS Lydia 1/185/370.  
ROLINSON Emma 2/92/183. Isabella 2/78/156.  
ROLLISON Ellen 1/176/352.  
ROPER Mary 1/74/148. William 2/83/166.  
ROSE Elizabeth 1/41/182. Samuel 2/189/377.  
ROSS Margaret 2/73/146.  
ROSSINGTON Clement 2/197/393.  
ROTHERFORTH Fanny 2/198/395.  
ROTHERHAM Frederick 1/30/59.  
ROTHWELL Sarah 2/61/122.  
ROWBOTHAM (ROWBOTTOM) Ann 1/9/18. Charles 1/218/435. Lucy 1/134/267. Sarah Ann 1/177/353.  
ROWLAND Elizabeth 2/37/74.  
ROYASTON Sarah 1/114/227.  
ROYLE John 2/72/143.

RYALIS Ann 2/223/445. Ellen Elizabeth 2/159/318. William 2/195/390.

RYAN John 1/54/107.

SALMON (SAMMONS) George Mark 1/243/485. Thomas 2/32/64.

SALT Henry 1/244/488.

SAMBOURNE Thomas James 1/197/394.

SATTERTHWAITE Catherine Ann 2/199/397.

SAWDON Thomas 2/78/155.

SAWTELL Arthur 2/171/342. Thomas 2/206/412.

SAYLES (SALE) Charles Henry 1/21/42. Frederic 2/208/415. Samuel 1/211/421.

SAYNOR Tom Herbert 2/13/25.

SCARGILL Laura Sabina 2/165/330.

SCHOFIELD Isaac Hardy 1/243/486.

SCHOLES Alfred 2/114/228. Charles Henry Duvall 1/107/213.

SCHOLZ Charles William Louis 1/71/142.

SCOTHORN Anne Elena 2/166/332. William 2/105/210.

SCOTT Edward 2/210/420. Elizabeth 1/94/187. John 1/168/335. Susannah Maria 2/185/369.

SCOTTON Sarah 1/110/220.

SCRIMSHAW John 2/113/226.

SCUPHAM Mary Elizabeth 1/191/382.

SEDDINGTON Selina 2/51/101.

SEEDHOUSE John 1/86/171.

SELF Samuel 1/39/78.

SELLORS Bessie Adelaide 1/58/116.

SENOIR Albert 2/228/456. Caroline 2/96/192. Rose Hannah 1/228/456.

SERLE Manassem 1/41/82.

SETTLE James 1/204/407.

SEYMOUR Emily 1/216/431.

SHARMAN Emily 1/174/347.

SHARP Alfred 2/156/312. Reuben 1/246/492.

SHAW Ann 1/234/468. Charles 1/83/166. Francis 2/191/382. George 1/80/160, 1/133/265.

Henry 2/141/281, 2/179/357. James 1/21/41. John 1/41/81, 1/166/331. Maria 1/223/446.

Martha Elizabeth 1/197/213. Mary 1/22/43. Robert Boston 2/105/209. Sarah 1/146/292.

Sarah Ann 1/176/351. William 1/34/68.

SHEARD Francis 1/169/337.

SHEARSTON Lydia 2/44/87.

SHELDON Ann 1/178/356.

SHELTON George 1/135/270. Harriet 1/236/471.

SHEPHERD (SHEPPERD) Alice 1/228/455. Caroline 2/50/100. Elizabeth 1/33/65. Henry 2/76/151.

John 2/223/446.

SHERRIFF Martha 1/142/284.

SHIPMAN Elizabeth 1/66/132.

SHIPSTON Ann 1/148/296.

SHIRT Samuel 2/125/250.

SHORT George 2/94/188. Mary 2/24/48. William 1/131/261.

SERIBS Eliza 1/199/398.

SHUMACHER Frederick 2/183/365.

SIDDALL Sarah 1/28/55. Thomas 1/4/7.

SILCOCK George 2/153/306. William 1/170/340.

SIMONITE Mary Ann 2/67/133.

SIMONS Edmund 1/127/254. Elizabeth 2/98/196.

SIMPSON Elizabeth 1/116/232. Mary 2/122/243. Mary Ann 1/12/24. Sarah 1/23/46.

SIMS William 1/223/446.

SINGLETON Emma 1/223/445. Rebecca 1/105/210.

SKELTON George 2/142/284.

SKETCHLEY Emma 2/27/53.

SKINNER Elizabeth 2/74/147.

SLATER Ann 1/58/115. George 2/41/81. Mary 1/18/36. Sarah 2/41/81. Thomas 2/104/208.

SLEATH Sarah Ann 2/1/2.

SLINN Elizabeth 2/202/404.

SMALL Fanny 1/111/222.

SMART Benjamin 1/74/148.

SMITH (SMYTH) Abigail 2/204/407. Ann 2/59/117, 2/242/483. Charles 2/136/272. Charles William 1/192/385. David 1/64/128. Elizabeth 1/44/87. Emma Jane 2/227/454. Fanny 1/211/422, 2/128/256. Frank 2/181/362. George 2/221/441. Hannah 1/17/33, 1/239/477, 2/34/68. Henry 1/85/169. John 1/8/15, 1/109/217, 2/131/261. Joseph 1/112/223, 1/173/347. Julia 1/31/62. Maria 1/35/69. Mary Elizabeth 1/111/221. Miriam 1/248/495. Samuel 1/190/379. Sarah 2/24/48, 1/182/363. Sarah Ann 2/83/165. Sarah Jane 2/211/421. Thomas 1/221/441. William 1/121/241, 2/214/428.

SNELL Eliza 2/186/372.

SOCKLEY Samuel 2/112/224.

SPARROW Francis 1/242/483.

SPENCER Ellen 1/45/88/89. Joshua 1/54/108. Martin 2/45/90.

SPICK William 1/141/282.

SPOONER John 1/11/21.

STACEY Arthur Richardson 2/248/495. George 1/31/61. Leander Vickers 1/204/408.

STALEY Joseph 2/98/196.

STANFORTH Ann 2/6/11. Clara 2/57/114. James 2/161/321. Samuel 1/139/278. Sarah Ann 1/5/9.

STANLEY Ann 1/42/83.

STARR Richard 1/124/248.

STATHAM George 1/32/63.

STEADMAN John 2/95/190.

SWEEL(E) Elizabeth 1/98/195. Thomas 2/13/26.

STEER Ann 2/205/409. Charlotte Elizabeth 2/185/370. Nora 2/8/16.

STEPHENSON (STEVENSON) Annie 2/76/151. Edward 2/227/454, 2/249/480. Elizabeth 2/111/221, 2/226/452. Hannah 1/175/349. John 2/210/419. John Griffing 1/61/121. Mary Ann 1/40/79. Philip John 2/167/333.

STEVENS George 1/189/371.

STEWART Levi 2/198/396.

STOCKS Henry 1/138/275. Joseph 2/197/394.

STOCKWELL Caroline 1/137/273. Charles 1/181/361.

STOKES Jeremiah 1/135/269.

STONECLIFFE Robert 1/16/32.

STONE(S) Emma 2/65/130. Robert 1/50/99.

STOREY Stephen 2/29/58. William Riding 2/69/138.

STOTHARD George 1/77/154.

STRAW Ann 2/102/~~203~~/203.

STRAY Horatio 1/36/71.

STREET Fanny 2/113/225. Mary 1/121/242.

STRINGER William 2/230/459.

STUBBING Emma 1/72/143. Frederick 1/191/381.

STURLAND Dinah 2/177/353.

STYCH Samuel 2/76/152.

STYRING Thomas 1/6/12.

SUMMERS Reuben 2/186/372.

SUTCLIFFE Joshua 1/208/416.

SWALLOW Charles 1/182/364. John 1/62/123. Joseph 2/163/326. Mary 1/201/401. Sarah 1/31/61.

SWEET Matilda 1/50/99.

SWIFT Ann 1/1/1. Ellen 1/153/306. June 1/102/203. Mary 1/25/49. Mary Jane 2/154/307.  
Samuel 2/2/3.

SWINBURN Thomas 2/132/263.

SWINDEN Annis 1/153/305.

SYKES Eliza 1/211/421. Mary Ann 1/232/464.

TAGG Edwin 2/234/467. Joseph 1/171/342. Sarah 2/90/180.

TALBOT George 1/178/356. Hannah 1/155/310. Horatia 2/159/317. Mary Ann 2/50/99.

TALKES Ann 1/215/429.

TANDY Mary Ann 2/163/325. Thomas 1/79/157.

TANKARD Margaret 2/221/441.

TAYLOR Alice 2/186/371. Amy 1/124/248. Ann 1/184/367. Arthur 2/137/273. Charles 1/191/382.  
Edwin Albert 1/227/453. Elizabeth Stopford 2/63/126. Emily 1/105/209.  
Frederick William 2/174/347. Harriet 1/166/331. Mary 1/86/171. William 1/231/462,  
2/84/168.

TEMPORAL Charles 1/59/117.

TESTER Mary 2/114/228.

THEAKER Henry 2/110/219.

THEDA Hubert 2/107/214.

THIMBLEBY Naomi 2/8/15.

THIRKILL Hannah 1/54/108. Sarah 1/20/39.

THOMAS Ellen 2/218/436. John 1/118/235.

THOMPSON Ann 1/27/53. Frances Eleanor 1/187/373. Frederick 2/192/383. George 2/92/184.  
Hugh 1/224/448. John 1/68/135, 1/185/369. Mary Ann 1/69/138. Sarah 1/37/73.  
Sarah Ann 1/29/57.

THORPE Elizabeth 1/34/67. Francis 1/72/143. Frederick 2/75/150. Hannah 1/84/167. John  
1/8/16. Mary 2/80/159.

TILLOTTSON Jane 2/106/212.

TILNEY Deborah 2/68/136. Robert 1/99/198.

TINGLE Alfred 2/52/104.

TIPLER John 1/28/55.

TOMLINSON George 2/245/489. Henry 2/25/50. Martha 1/218/436.

TOPHAM George 1/159/317.

TOPLIS Robert 1/238/475.

TOWNSEND Elizabeth 1/100/299. William 1/126/252, 2/149/298.

TRAVIS Elizabeth Allen 2/231/461.

TREVERS Miles 2/115/229.

TRUELOVE William 1/78/155.

TUGBY Eliza 2/30/60.

TUNE Sarah Marggret 2/248/495.

TURNER Caroline 2/42/83. Clara 2/169/337. Edward 2/43/86. Elizabeth 1/158/315, 2/77/153.

Harriet 2/48/96. Henry 1/134/268. John 1/31/62. Joseph 1/140/279, 2/25/46.

Leonard 2/241/482. Martha 2/221/442. Mary 1/104/207. Moses 1/109/218. Richard  
1/143/286. Sarah 1/213/426, 1/221/441, 2/5/10. Thomas 1/129/258.

TURTON John 1/233/466.

TWIBY Elizabeth 1/37/74. George 1/37/73.

TWIGG Emily 2/85/170.

TWIKER Mark 1/46/92.

EYE Edwin 2/19/38. Mary 2/148/296.

TYSALL Charlotte 2/64/128.

UNWIN Emma 1/140/279. George 2/207/414. George Batty 1/232/464.

VARAH Walter 2/108/215.

VARDY Andrew 2/238/476. Ann 2/204/408.

VARLEY Jemima 1/100/200. Joseph 2/221/442. Thomas 2/199/398.

VARNEY Louisa 2/26/52.

VAUGHAN James Alfred 1/156/311. Thomas 1/146/291.

VAZIN Jane 1/164/328.

VENMORE Richard 2/188/376.

VICKERS Henry 1/137/274. Sarah 1/30/60.

WADDINGTON Elizabeth 2/207/413.

WADSWORTH John 2/91/181.

WAGSTAFF William 1/35/69.

WAIN Henry 1/145/289. John William 2/227/453. Robert 1/123/245.

WAINWRIGHT Alfred 1/145/290. James 1/18/36. Joseph 2/188/375.

WAIT Fanny 2/237/473. William 2/237/473.

WALKER Ann 2/40/79. Charles 1/237/473. Charlotte 2/14/27. Eliza 2/114/227. George 1/101/202.

Harriet 2/39/78. Isabella 2/197/394 $\frac{1}{2}$ . James 2/14/27. James Henry 1/226/452.

John 2/8/16, 2/133/265. Sarah 2/49/97, 2/84/167.

WALL James 2/30/59.

WALLIS Elizabeth 1/179/357. Mary Hannah 2/17/33.

WALTON James 1/66/132. William 1/188/375.

WARD Benjamin 2/33/66. Elizabeth 1/143/285. Emma 2/76/152. Isaac 2/47/94. John 2/37/74.  
Margaret Maria 2/225/450. Mary 2/8/16. Mary Ann 2/4/7. Mary Elizabeth 2/80/160.  
Mary Ellen 1/158/316. Thomas Johnson 2/83/165. William 1/181/362.

WAREHAM (WHARAM) Eliza 1/222/443. Elizabeth 1/003/205. Mary Ann 1/16/32. Sarah Elizabeth  
1/154/308. William Henry 1/33/65. ~~WARING~~

WARING Thomas 1/102/203.

WARNER Annie 2/193/385.

WARREN Mary 2/230/460. Mary Ann Elizabeth 2/201/402.

WARRIS Thomas 2/91/182.

WASNIDGE (WASTNIDGE) Henry 2/27/54. Mary Ann 1/121/241. William 2/148/295.

WATERFALL Clarissa Fieldsend 2/121/241.

WATERHOUSE Harriett 2/117/233. William 2/109/218.

WATSON Anne Elizabeth 1/224/448. Eliza Louisa 2/175/349. Elizabeth 1/43/85. James  
1/58/115. Robert Williams 2/77/154.

WATTS Henry 2/50/99.

WEBSTER Ann 1/62/124. Emma 2/92/184. John 1/176/351. Joseph 2/203/406. William 1/195/390.  
William Henry 2/178/356.

WELLS Elizabeth 2/25/50. Sarah 2/176/352.

WELSH Sophia Dobsom 1/38/76.

WEST Mary 1/15/30.

WESTFIELD Charles 2/213/425.

WETHERILL Samuel 1/152/304.

WHARTON Ann 1/51/101.

WHITE Ann 1/81/162. Eliza 2/62/124. Isabella 1/167/334. James 2/29/57, 2/241/481.  
Louis 2/229/457. Mary 2/184/368. Samuel Henry 2/51/102. Sarah 1/101/201.  
William 2/164/328.

WHITEHEAD James 2/127/254. Sarah 2/36/72. William 1/214/427.

WHITELEY John 1/56/111.

WHITLEY Sarah Ann 2/173/346.

WHITTAKER George 2/194/387.

WHITTHAM Ann 2/64/127.

WHITTINGTON Mary Ann 2/214/427.

WHITTLEWORTH Henrietta 2/245/490.

WHITWORTH James Rawson 1/84/168.

WIDOWSON Joseph William 2/100/200. Mary Elizabeth 1/130/260.

WIGFIELD Elizabeth Ann 2/245/490.

WIGLEY John Betts 1/180/360.

WILCOCKSON George 2/32/63.

WILD Arthur Richard 2/92/183.

WILSY (WILLEY) John 1/76/151, 2/121/242.

WILKES Rebecca Jeffrys 1/156/312.

WILKINS Catherine 2/202/403.

WILKINSON Catherine Chadburn 1/48/95. Lucy 1/61/121. Matilda 2/10/19. William 1/213/426.

William James 1/82/164.

WILLIAMS Elizabeth 2/219/438. Margaret 1/88/175. Martha Jane 2/32/63. Mary 1/238/475.

WILLIS (WILES) Emma 2/147/294. George 2/66/132.

WILSON Ann Matia 2/167/333. Charles 1/93/185, 1/248/496. Clara Eliza Margaretta 1/156/311.

Eliza 1/245/490. George 1/40/80. Hannah 1/21/42. James 2/135/269. John Bower  
1/206/411. Sarah 1/57/113.

WINDLES Ann 1/150/299.

WINDOW Eleanor 1/94/188.

WINGFIELD Ellen Jane 2/88/175. Esther 2/146/292.

WINTER Elizabeth 2/19/37. Ellen 1/247/494.

WOOD Ann 1/194/388. Charles 1/223/445. Cliff 1/84/167. George 1/151/301. Henry 1/35/70.

Joe 1/94/188. Joseph Mozley 1/231/461. Mary Ann 1/95/190, 1/226/452. Thomas  
2/196/392. William 2/122/243, 2/220/440.

WOODCOCK Elizabeth 1/96/191. Emma 2/46/92. Sarah 2/158/315. William 2/234/468.

WOODHEAD Ellen 2/79/157. Henry 1/177/354.

WOODHOUSE John 2/235/469. John Thomas 2/216/431. Matilda Sophia 2/222/444.

WOODWARD John 2/45/90. Mary Biggin 1/230/459. Ruth 2/30/59.

WOOLHOUSE William 2/7/14.

WOOLLEY Harriet 2/23/46.

WOOTTON John 2/176/351.

WOSTENHOLM Ann 1/86/172.

WRAGG Ann 2/145/289. Joseph 1/72/144. William Newsome 2/179/340.

WRIGHT Eliza 1/241/482. Elizabeth 1/206/412, 1/207/414, 2/101/202. Emma 2/109/218. Frank

2/5/10. Harriet 1/78/156. Hepzibah 2/206/412. James 1/4/8. John 1/179/357.  
Joseph 2/60/119. Mary Ann 2/201/401. Sarah Ann 1/135/269.

WRIGLEY Sarah 2/228/456.

WROE Alice 2/179/358.

WYATT Mary Ann 2/187/373.

WYNN(E) Ann 2/239/477. John 2/175/350. Mary 1/80/160.

YARDLEY Walter 1/187/374.

YEOMANS Lydia Cockayne 1/11/22.

YOULE (YOUELL) Elizabeth 2/181/362. Henry 2/246/491. Herbert 2/236/472. Mary Ann 2/132/264.

YOUNG Ann Elizabeth 2/90/179. Charlotte 2/226/451. Elizabeth 1/85/169. Henry 2/169/337.

James 2/38/76. John 2/238/475. Joseph Henry 2/57/114. Samuel 1/133/266.

END OF INDEX TO BOOKS

1 & 2

ST. PAULS CHURCH  
MARRIAGES REGISTERS HELD AT SHEFFIELD CATHEDRAL

BOOKS 3 & 4  
(REGISTERS No. ST.P. 14 & 15)

AUGUST 1874 TO AUGUST 1900

Transcribed By ELAINE SMITH

INDEXED & TYPEWRITTEN BY KEITH BLAGDEN

BY KIND PERMISSON OF THE PROVOST

THE VERY REV. W.F. CURTIS A.K.C.

Prefix number denotes book

2nd numerals denote page number

3rd numerals denote entry number

\* denotes name out sequence

3/1/1	William Henry Gray		Mary Ann Hukin
3/1/2	John Henry Haslam Warren		Ann Jepson
3/2/3	William Henry Jackson		Mary Ann Gould
3/2/4	James Lawrence Wilkinson		Ann Hammerton
3/3/5	Thomas Hodgkinson		Ellen Barker
3/3/6	William Henry Bell		Elizabeth Rowden
3/4/7	Francis Day		Elizabeth Meads
3/4/8	Joseph Keats		Mary Ann Turner
3/5/9	William Allchurch		Harriet Annie Pitts
3/5/10	Jonathan Wiles		Ellen Hodgkin
3/6/11	John William Fox		Mary Ellen Knowles
3/6/12	Charles Felwell		Jane Wells
3/7/13	Thomas Brownhill		Margaret Collins
3/7/14	George Senior		Mary Ann Jackson
3/8/16	Charles Hague		Annie Harsley
<del>3/8/16</del>	William Lewis		Annie Harrison
3/9/17	John William Guttridge Atkinson		Maria Marsh Bailey
3/9/18	Abrham Hall		Eliza Taylor
3/10/19	Henry Hammerton		Harriet Madin
3/10/20	Joseph Ferriday		Ellen Harriet Scott
3/11/21	Abram Pressley		Emily Shortland
3/11/22	Herbert Fletcher		Mary Jane Anderson
3/12/23	Samuel Deane		Mary Jane Smith
3/12/24	George Arthur Tandy		Isabella Graham
3/13/25	Walter Wells	1875	Mary Feltrup
3/13/26	George Farmer		Marion Bain
3/14/27	Henry Needham		Pamela Millington Coggin
3/14/28	John Cookson		Hannah Elizabeth Rex
3/15/29	William Baker		Emily White
3/15/30	Thomas Tattersall		Hannah Wright
3/16/31	Henry Hall Ledger		Mary Jane Robertsom
3/16/32	Jackson Foster Ainsworth		Maria Atmore Gray
3/17/33	Arthur Farrow		Elizabeth Staniforth
3/17/34	George Gambel Ludlam		Harriet Shaw
3/18/35	John Hill		Annie Carnall
3/18/36	John Ashton		Annie Bateson
3/19/37	William Moulton		Ellen Brookes
3/19/38	John Rodgers Crofts		Mary Ann Pearce
3/20/39	Robert Lowe		Elizabeth Lewis
3/20/40	John Cleveland Beckett		Rosetta Pickup
3/21/41	George Frost		Priscilla Allen
3/21/42	Robert Simpson		Betsey Jackson
3/22/43	William Shepherd		Mary Ann Taylor
3/22/44	James Henry Huxley		Mary Gaitte Hall

3/23/45	George Marsh	Elizabeth Whittington
3/23/46	John Walter Lowes	Janet Hicks
3/24/47	Philip Sanders	Emily Wilkinson
3/24/48	James Marsh	Mary Cuthbert
3/25/49	Charles Hill (William)	Martha Medlicott
3/25/50	John Dewsbury	Selina Shaw
3/26/51	Patrick Gilmore	Martha Hayes
3/26/52	William Adams	Elizabeth Longden
3/27/53	Alfred McNally	Catherine Bywater
3/27/54	Francis Wright	Fanny Walton
3/28/55	John Stevenson	Martha Ann Saville
3/28/56	Henry Clapham	Mary Percilla Winfield
3/29/57	Charles Smith	Priscilla Jackson
3/29/58	Samuel Hodson	Jane Elizabeth Peaker
3/30/59	Walter Rose	Sarah Quirk
3/30/60	Dominic Thomas Shannon	Ann Crowder
3/31/61	Francis Clark	Elizabeth Croft
3/31/62	Alfred Swain	Olivia Memmott
3/32/63	James Bunting	Mary Fox
3/32/64	John Thomas Frearson Dawson	Jane Eblet
3/33/65	George Gray	Martha Hague
3/33/66	Edward George Holmes	Elizabeth Chapman Naylor
3/34/67	Alfred Henry Stocks	Frances Elizabeth Martin
3/34/68	George Jenkinson	Elizabeth Lee
3/35/69	Francis Roberts	Caroline Turner
3/35/70	George Roper	Fanny Hill
3/36/71	John Osborne Burkinshaw	Elizabeth Topham
3/36/72	Richard Brown	Marian Rowbotham
3/37/73	Thomas Roper	Angelina Parker
3/37/74	Isaac Parker Stringfellow	Mary Ryalls
3/38/75	James Isaac Millington	Louisa Ryalls
3/38/76	Robert Garmon Riley	Mary Greves
3/39/77	John Henry Dickinson	Fanny Armitage
3/39/78	Alfred Price	Elizabeth Taylor
3/40/79	Harry Hope Campbell	Sarah Newman
3/40/80	Frederick William Middleton	Mary Gee Willey
3/41/81	Raymond Edmund Scott	Jane Shira
3/41/82	John Hunter	Elizabeth Homer
3/42/83	Walter Joseph Marsh	Emily Mappin
3/42/84	Thomas Wilson	Jane Elizabeth Ogden
3/43/85	Charles Cadman	Mary Ann Clayton Walker
3/43/86	William Lister	Sophia Fox
3/44/87	George Cross	Frances Darbyshire
3/44/88	James Bradley	Alice Darbyshire

3/45/89	Arthur Justice Rowland	Emma White
3/45/90	William Hill	Margaret Smith
3/46/91	John Sills	Rebekah Lucas
3/46/92	Thomas Bosangus Kistell	Mary Elizabeth Hogg
3/47/93	William Turner	Charlotte Ludlam
3/47/94	Charles Beckett Holmes.	Sarah Ann Mason
3/48/95	John White	Emily Ann Bussett
3/48/96	Walter Elliott	Sarah Ann Ludlam
3/49/97	Joseph Gleadall	Sarah Brazwell
3/49/98	Abraham Hartley	Hannah White
3/50/99	William Stephen Walker	Edny Parr Bates
3/50/100	Samuel Graham	Clara Giles.
3/51/101	George Handley	Charlotte Neves
3/51/102	Richard Jones	Selina Hawk
3/52/103	Samuel Rose.	Ann Wilkins
3/52/104	John Robinson Chapman	Emma Brookes.
3/53/105	John Warbleton	Mary Bradshaw
3/53/106	James Cartledge	Mary Berresford
3/54/107	Andrew Roberts	Eliza Moss
3/54/108	James Whitworth Daughtry	Rachel Dundas
3/55/109	Walter Wilkinson	Mary Ann Muscroft.
3/55/110	Wilfred Goddard	Mary Elizabeth Wilkinson
3/56/111	Alfred Oldale	Charlotte Birch
3/56/112	John Hague.	Sarah Ann Dodson
3/57/113	James Ball	Esther Ann Holmes
3/57/114	John Lawley	Kate Emma Wright
3/58/115	George Woodhouse	Clara Jane Kramer
3/58/116	Frederick Munday	Ellis Mary Dennis
3/59/117	Charles Bowling	Selina Grundy
3/59/118	John Richard Pearson	Annie Elizabeth Allen
3/60/119	Thomas Collins	Ann Kent
3/60/120	Robert Fuller	Sarah Jane Moss
3/61/121	Thomas Walter Crossley	Annie Elizabeth Wilkinson
3/61/122	Henry Kramer	Emily Barnes
3/62/123	John Atkinson	Harriet Bailey
3/62/124	<del>James</del> Squire Rodgers.	Mary Buxton
3/63/125	William Atkin Marsden	Jane Lawrence
3/63/126	John William Bradshaw	Emily Bramall
3/64/127	Samuel James Worrall	Elizabeth Carnell
3/64/128	John Depledge	Caroline Raistrick
3/65/129	James Wright	Alice Ann Hobson
3/65/130	John Aldham	Lucy Starkey
3/66/131	Richard Undy	Mary Quick
3/66/132	Mark Benson	Mary Butterfield

3/67/133	Wilfred Mosely	Annie Kenyon
3/67/134	Josiah Wilson	Elizabeth Halle
3/68/135	Thomas Wilson	Mary Booker
3/68/136	Frank Morley	Alice Mary Colbridge
3/69/137	Frederick Dale Barnsley	Sarah Jane Drabble
3/69/138	James Foster	Anne Barlow Angus
3/70/139	Thomas Crofts	Lucy Turner
3/70/140	John Thomas Trafford	Harriet Cockayne
3/71/141	George Vickers	Fanny Maria Wade
3/71/142	George Wills	Mary Ann Bradley
3/72/143	Thomas Jinkins	Mary Lawton
3/72/144	James Nicholls Hewitt	Annie Toyne
3/73/145	Henry Hartley Edmund Hobson	Mary Ann Howell
3/73/146	William Stocks	Sarah Ann Ludlam
3/74/147	William Law	Ellen Cullen
3/74/148	George Hill	Mary Longford
3/75/149	Sidney Harry Strafford	Annie Elizabeth Davison
3/75/150	John Sampson	Fanny Butcher
3/76/151	Alfred Maynard	Grace Anna Trinder
3/76/152	Henry Bertram	Isabella Blazze
3/77/153	Joseph Robert Howley	Mary Barry
3/77/154	Ernest John Shaw	Sarah Ann Godbehere
3/78/155	William Reynolds	Mary Matilda Lyngcoln
3/78/156	Abraham Frankish	Harriet Mancer
3/79/157	Henry Waring	Harriet Toynton
3/79/158	Henry Herbert Bellamy	Sarah Crawshaw
3/80/159	William Ibbotson	Emma Almond
3/80/160	John Frost	Mary Townsend
3/81/161	George Brookes	Emily Croft
3/81/162	William Otley	Phoebe Stevenson
3/82/163	Thomas Pinder	Clara Stones
3/82/164	Frederick Deakin	Sarah Ellen Bradshaw
3/83/165	Henry Berrisford	Agnes Mullins
3/83/166	James Walton	Florence Mellor
3/84/167	William Hibbert	Ann Heppenstall
3/84/168	John Bailey	Eliza Lessiter Buxton
3/85/169	Samuel Bramhall	Kate Swinden
3/85/170	Reuben Mosely	Ann Cundy
3/86/171	James Thorpe	Elizabeth Hall
3/86/172	William Hill	Mary Ann Undy
3/87/173	William Warner	Annie Wright
3/87/174	Charles Talbot	Julia Annie Adwick
3/88/175	John Weir McKnight	Zillah Naylor Redfearn
3/88/176	William Vance	Lydia Ingleson

3/89/177	Richard Beaumont	Mary Jane Foster
3/89/178	Thomas John Frost	Agnus Rawson
3/90/179	William Marsh	Mary Ann Ammitage
3/90/180	James Porter	Emma Wilson
3/91/181	Charles Mathews	Jane Lyons
3/91/182	William Gill	Ann Hurst
3/92/183	Joseph Overend	Ellen Atkinson
3/92/184	Job Prestom	Mary Emily Merryweather
3/93/185	Arthur Hales	Emma Wright
3/93/186	John Booker	Emily Hannah Crich
3/94/187	Thomas Drabble	Mary Palfreyman
3/94/188	William Henry Hepplestons	Agnes Guest
3/95/189	Alfred Kelsey	Sarah Ann Hague
3/95/190	John Preskitt	Betsy Clarke Heathcote
3/96/191	William Henry Moorcroft	Charlotte Manion
3/96/192	Ebenezer Sheldon	Phoebe Wilson
3/97/193	Frank Simmonite	Elizabeth Walker
3/97/194	George Smith	Ann Logan
3/98/195	Joseph Holmes	Frances Brightmore
3/98/196	George Allen Dammes	Annie Eliza Hudson Garnett
3/99/197	George Frederick Burklein	Magdalene Johanna Steinle
3/99/198	Timothy Hunter	Theresa Lowe
3/100/199	Lewis Teasdale	Harriet Rawson
3/100/200	William Thomas Robinson	Sarah Morton
3/101/201	Mike Quin	Mary Ann Carey
3/101/202	Frederick George Keeton	Annie Stones
3/102/203	William Hill	Amelia Moore
3/102/204	Tom Blades	Ellen Bashford
3/103/205	George Brownhill	Harriet Bradshaw
3/103/206	Charles James Andrews Johnson	Hannah Martha Bocking
3/104/207	Richard William Raynes	Elizabeth Adsetts
3/104/208	George Mallinder	Annabella Revill
3/105/209	Richard Henry Baggaley	Elizabeth Brown
3/105/210	John <del>XXXX</del> Arthur Baggaley	Sarah Jane Cowley
3/106/211	John Thomas Hardwick	Hannah Jarvis
3/106/212	John Smith	Agnes Naylor
3/107/213	George Hollingsworth	Kezia Thorpe
3/107/214	George Frederick Elliss	Theresa Wood
3/108/215	Germyn Renshaw	Harriet Rotherham
3/108/216	Edward Smith	Sarah Ann Slingsby
3/109/217	Albert Twigg	Mary Taylor
3/109/218	Pizzaro Merrill	Alice Elliott
3/110/219	Absalom Henning	Mary Scrimshaw
3/110/220	Abraham Truelove Mapplebeck	Elizabeth Longdem

3/111/221	James Till	Eliza Ann Pakeman
3/110/222	Edward Watson	Alice Broadhead
3/112/223	William Henry Bromshead	Emma Jackson
3/112/224	George William Shaw	Frances Sarah Pickering
3/113/225	Thomas Pennock	Ann Elizabeth Paget
3/113/226	John Thorpe	Emily Clark
3/114/227	Charles William Ebbet	Mary Ann Brown
3/114/228	William Mitchell	Phoebe Champiom
3/115/229	William Frederick Baggaley	Caroline Lilley
3/115/230	John William Hawkins	Harriet Ellen Simmonite
3/116/231	Thomas Brownless	Hannah Maria Jones
3/116/232	Richard Garlick	Elizabeth Horner
3/117/233	Joseph Hobson	Martha Brook
3/117/234	Edward Jeremiah James	Eliza Smart
3/118/235	John Hanley	Susannah Hirst
3/118/236	Arthur Everitt	Marianna Jubb
3/119/237	George Thomas Youdan Dickinson	Louisa Elizabeth Jubb
3/119/238	Henry Needham	Mary Ann Gritton
3/120/239	William Frederick Ibbotson	Eliza Froggatt
3/120/240	Ernest Atkinson	Florence Rowley
3/121/241	Fred Sandersom	Tamar Cathbert
3/122/242	James Thomas Lambert	Marie Jane Dungworth
3/122/243	Ezra Smith	Mary Ann Swift
3/122/244	James Bradford	Sarah Anderson
3/123/245	William Thomas Johnson	Mary Ellen Carley
3/123/246	Henry Darwent	Elizabeth Rodgers
3/124/247	William Boothman	Emily Wright
3/124/248	William Henry Pennington	Emma Wright
3/125/249	James Nuggins <del>NEESSE</del> Christie 1880	Alexandrina Henrietta Augustina ReddeClif
3/125/250	Philip Milton	Sarah Ann Rowbotham
3/126/251	Henry Coles	Susannah Kirkby
3/126/252	Tom Smith	Maryann Wingfield
3/127/253	Henry Gibson	Sarah Ann Wain
3/127/254	Henry Tanfield	Lilly Loveine Gray
3/128/255	Thomas Needham	Hannah Bateman
3/128/256	John Shenton	Mary Ann Atkins
3/129/257	Arthur Seymour Seamer Fox	Eliza Middleton
3/129/258	Thomas Hanson Howe	Rosanna Hutson
3/130/259	Henry Aze	Harriet McArthur
3/130/260	Robert Colyer Pickering	Sarah Ann Wilson
3/131/261	Abraham Green	Mary Hall
3/131/262	John Lock	Harriet Savage
3/132/263	William Henry Green	Theresa Rotherham
3/132/264	Thomas Davis	Henrietta Louisa Beasley

3/133/265	John Charlesworth	Elizabeth Pass
3/133/266	Frederick Hawley	Alice Roberts
3/134/267	John Brammer Nuttall	Mary Jane Spotwood
3/134/268	Tom Slater Morris	Mary Jane Holmes
3/135/269	Thomas Henry Nodder	Harriet Storrs
3/135/270	Thomas Gent	Lydia Brooks
3/136/271	Thomas Greaves	Ann Rowley
3/136/272	George Roper	Alice Darwin
3/137/273	This entry not used	
3/137/274	Joseph Lingard	Mary Ann Norris
3/138/275	Edwin Thomas Hoye	Annie Rawson
3/138/276	George William Frost	Mary Ann Whitham
3/139/277	Charles Gill	Clara Booker
3/139/278	William Malonet Price	Sarah Ann Roper
3/140/279	William Tofield	Sarah Elizabeth Gay
3/140/280	George Edwin Hixon	Jane Alice Fowler
3/141/281	Fred Crossland	Ann Toyne
3/141/282	John Christopher Brittain	Annie Barker Depledge
3/142/283	John Carr	Martha Townsend
3/142/284	Philip Bailey	Mary Ann Bradshaw
3/143/285	Robert Francis Cooper	Sarah Ann Tylor
3/143/286	Francis Cholerton	Ann Jupp
3/144/287	James Knowles	Mary Ann Carr
3/144/288	Joseph Cross	Mary Emma Addy
3/145/289	Joseph Chatterton	Margaret Nulty
3/145/290	Fred Cooper Ashmore	Emma Heald
3/146/291	William Wegern	Arabella Eliza Darby
3/146/292	Thomas William Cartwright	Sarah Ann Skidmore
3/147/293	John Henry Hushen	Julia Hetherington
3/147/294	William Henry Benson	Sarah Shaw
3/148/295	George Young	Mary Cobb Greenhough
3/148/296	Albert Wolstenholme	Annie Elizabeth Furniss
3/149/297	Walter Clarke	Bertha Annie Rippon
3/149/298	John Hill	Mary Ann Larren
3/150/299	George Harold Gillett	Lucy Elizabeth Harrington
3/150/300	John Shaw	Mary Jane Litchfield
3/151/301	Walter Salt	Catherine Eckhardt
3/151/302	William Ross	Mary Elizabeth Redfearn
3/152/303	John Rodgers	Emma Eames
3/152/304	Elijah Walters	Mary Ann Shaw
3/153/305	George Smith	Elizabeth Hepplestone
3/153/306	Norman Eustace Bamber	Florence Harrison
3/154/307	Arthur Frederick Naylor	Emily Holt
3/154/308	James Robinson	Sarah Ross

3/155/309	William Hewitt.	Jane Hurr.
3/155/310	John Roberts	Mary Elizabeth Oxley
3/156/311	Henry Atkins.	Emily Ross
3/156/312	William Stevenson Naylor	Mary Jane Hutley
3/157/313	Christopher Reaney	Sarah Platt
3/157/314	Henry Wood	Phoebe Ann Harrison
3/158/315	John Howe	Agnes Wood
3/158/316	George Martin Henry Froggatt	Sarah Selby
3/159/317	John Thomas France	Mary Ann Stones
3/159/318	John Sykes.	Annie Elizabeth Taylor
3/160/319	Frederick William Andrew White	Martha Ann Holmes
3/160/320	William Seeley	Elizabeth Bradley
3/161/321	Charles Edward Knowles.	Elizabeth Frost
3/161/322	John Laybourn	Mary Hague
3/162/323	Walter Andrew	Alice Etherington
3/162/324	William Greaves	Rebecca Longden
3/163/325	Robert Hicks	Clara Hickman Hardy
3/163/326	Martin Ashton	Mary Yeardley
3/164/327	Thomas Dawson	Sarah Ann Roberts
3/164/328	Edmund Howarth Couldwell	Sarah Tinsley
3/165/329	Samuel Cole	Ann White
3/165/330	Harry Smith	Maria Swift
3/166/331	Arthur Clayton	Elizabeth Ratcliffe
3/166/332	Albert Walker	Caroline Rachel <del>XXXX</del> Simcox
3/167/333	John Jackson	Mary Elizabeth Garlick
3/167/334	James Doherty	Ellen Shaw
3/168/335	Henry Roebuck	Annie Armond
3/168/336	Charles Boston	Elizabeth Mather
3/169/337	John Patrick Dinnelly	Elizabeth Campbell
3/169/338	William Williamson	Sarah Ann Cookson
3/170/339	Samuel Gates Hazlewood	Elizabeth Dawson
3/170/340	Frederick Copley	Ada Bird Wright
3/171/341	Alfred Artlett	Sarah Ann Vickers
3/171/342	William Crooks	Margaret Walker
3/172/343	Walter Wolstenholme	Louisa Stocks
3/172/344	William Thomas Charles	Frances Gertrude Brook
3/173/345	Aaron <del>NEEDHAM</del> Needham	Eunice Standrin
3/173/346	George Roper	Martha Morley
3/174/347	Austin Scott	Ellen Collins
3/174/348	John Foster	Louisa Maidment
3/175/349	Henry Belk	Elizabeth Shipley
3/175/350	Charles Stocks	Annie Grant
3/176/351	John Thomas Rodgers	Emma Cowlshaw
3/176/352	Thomas Pheasant	Ann Drabble

3/177/353	George Hudson		Sarah Ann Whall
3/177/354	Henry Wright		May Hannah Cope
3/178/355	Thomas Rycroft		Harriet Phenix
3/178/356	Frederick Barnes	1882	Sarah Blakeley
3/179/357	Albert Jepson		Ann Harrison
3/179/358	Charles Damms		Mary Ann Bembridge
3/180/359	James Marsden		Ellen Biggins
3/180/360	Walter William Wright		Mary Elizabeth Scott
3/181/361	Henry Reed		Eliza Bolton
3/181/362	Thomas Bright		Mary Ann <del>XXX</del> Bailey
3/182/363	Alfred Healey		Annie Elizabeth Glossop
3/182/364	Walter James Cousins		Frances Jane Bottomley
3/183/365	William Henry Ashmore		Angelina Turner
3/183/366	Arthur Oxley		Harriet Kelly
3/184/367	John Thomas Bowhanna		Florence Fletcher
3/184/368	William Pashley		Mary Rafferty
3/185/369	Percy Dronfield		Clara Pressley
3/185/370	Joseph Brown		Florence Annie Hunt
3/186/371	Joseph Hardy		Annie Knowles
3/186/372	John Toyne		Ann Charlesworth
3/187/373	John Cookson		Ann Brett
3/187/374	George Turton		Lillian Charlotte Wells
3/188/375	Charles Webster		Ann Wilkinson
3/188/376	Frederick Joseph Memmott		Eliza Parker
3/189/377	William Noble		Elizabeth Walker
3/189/378	John Glossop		Sarah Ann Cowlshaw
3/190/379	Edward Brown		Hannah Merrill
3/190/380	Charles Frederick Linley		Emily Marriall
3/191/381	Charles Wilson		Annie Read
3/191/382	Frederick Marsden		Emma Jane Wright
3/192/383	Andrew Matthews		Emily Matthews
3/192/384	Herbert France		Ellen Darwent
3/193/385	William Henry Wright		Sarah Ann Green
3/193/386	William John Wharam		Lydia Elizabeth Hall
3/194/387	George Hobson		Jane Wait
3/194/388	Peter Lingard		Elizabeth Tamlyn
3/195/389	John Hall		Sarah Ellen Turner
3/195/390	<del>XXX</del> Thomas Henry Glynn		Mary Jane Earp
3/196/391	Frederick Habershaw		Emma Heald
3/196/392	George Malkin		Ada Bolsower
3/197/393	Albert Unwin		Caroline Eliza Green
3/197/394	Henry George Martin		Alice Priest
3/198/395	Henry Holbern		Harriett Slim
3/198/396	John Ottley		Elizabeth Crossley

3/199/397	Robert Barnes Fox		Annie Elizabeth Long
3/199/398	Henry Woolhouse		Eliza Marrill
3/200/399	Amos Scott	1883	Emily Charles
3/200/400	Thomas Mackebbey		Eliza Ledger
3/201/401	John Dixon		Florence Holmes
3/201/402	Frank Hoyland		Harriet Hurry
3/202/403	Fred Nailor Redfern		Alice May Verher
3/202/404	William James White		Sarah Hannah Wormanton
3/203/405	Isaac North		Clara Agnes Grayson
3/203/406	Arthur Russell		Mary Ann Filton
3/204/407	John William Shepherd		Eliza Shipman
3/204/408	Thomas Stones		Mary Barker
3/205/409	George White		Minnie Merrill
3/205/410	Charles Marsh		Clara Streets
3/206/411	John Moat		Clara Wolstenholme
3/206/412	Edward James Unwin		Emily Booth
3/207/413	Richard Deans		Letitia Payne
3/207/414	William Robert Evans Taylor		Martha Bradshaw
3/208/415	John Henson		Barbra Stevenson
3/208/416	Frederick Mount Wineman		Mary Candow
3/209/417	Walter Swift		Clara Nicholls
3/209/418	Herbert William Cooper		Lizzie Caney
3/210/419	George Ashley		Ada Mallender
3/210/420	Thomas Spotswood		Isabella Hardy
3/211/421	Fred Hazlewood		Mary Ellen Tanfield
3/211/422	William Hovey Spooner		Annie Elizabeth Harrison
3/212/423	Frank Memmott		Eliza Taylor
3/212/424	William George Pincott		Millicent Jane Yates
3/213/425	Richard Holme		Harriet Annie Kemp
3/213/426	Charles Edmondson		Elizabeth Hartshorn Middleton
3/214/427	Daniel Robinson		Mary James
3/214/428	Joseph Pinder		Harriet Mancer
3/215/429	Henry Staniland		Annie Cowlshaw
3/215/430	William Lyndon		Polly Riley
3/216/431	John Nuttall		Elizabeth Perry
3/216/432	Samuel Millward		Ada Spreckley
3/217/433	William Vernon	1884	Ann Matilda Hall
3/217/434	John Larassey		Lucy Constable
3/218/435	James Thompson		Mary Jane Sandford
3/218/436	Thomas Damms		Armelia Goodinson
3/219/437	John Bates		Harriet Hides
3/219/438	William Noble		Mary Ann Buddle
3/220/439	Levi Cartledge		Maria Ryalls
3/220/440	Thomas Rex		Elizabeth Smith

3/221/441	Vincent Bradbury		Sarah Milnes
3/221/442	William Mangham		Jane Eliza Goodman
3/222/443	Herbert Dearden		Alice Ann Hill
3/222/444	Frederick Crawshaw		Ellen Dawson
3/223/445	Benjamin Bushell		Mary Ann Arnold
3/223/446	Daniel Gallagher		Ada Pickering
3/224/447	Frederick Turner		Jane Graham
3/224/448	Charles Jenkinson		Hannah Jenkinson
3/225/449	Charles Atkinson		Mary Hill
3/225/450	William Henry Beaumont		Annie Needham
3/226/451	Thomas William Clarke		Ellen Downing
3/226/452	George Copeland Marriott		Florence Jubb
3/227/453	Joseph William Gregory		Mary Law
3/227/454	William Herbert Forcitt		Alice James
3/228/455	William Henry Carmont		Florence Janet Barclay
3/228/456	Albert Greenhedge		Mary Booker
3/229/457	George William Tingle		Mary Jane Austerfield
3/229/458	Albert Hopkinson	Rose Anna Elfrida Gathercloe Cooper	Maryes Cooper
3/230/459	George Nicholas		Christiana Eliza Codling
3/230/460	Frederick Wilson		Hannah Hoyle
3/231/461	George Gray		Ann Dunn
3/231/462	James Schofield		Helena Litchfield
3/232/463	Thomas Horace Wigley	1885	Jane Ann McNeill
3/232/464	Joseph Wilson		Martha Hartley
3/233/465	James Aslin Ward		Jane Smith
3/233/466	Arthur Douglas Scott		Mary Ann Longley
3/234/467	William Henry Ratcliffe		Mary Jane Snowling
3/234/468	Benjamin Ryalls		Mary Ann Burrows
3/235/469	Morris Rhodes		Minnie Burton
3/235/470	Stephen Sheldon		Amy Goodwin Paget
3/236/471	Henry Gratton		Mary Harriet Dawes
3/236/472	George Edward Hault		Sarah Jane Williams
3/237/473	William Colls		Sarah Ann Briggs
3/237/474	Henry Winnell		Lilly Darwin
3/238/475	Joseph Harrison Earnshaw		Annie Edith Frith
3/238/476	Abraham Clark		Frances Augusta Billam
3/239/477	Thomas Donnelly		Mary Ann Horner
3/239/478	John Charles Thompson		Selina Ann Chambers
3/240/479	George Benner		Lene Steinle
3/240/480	Francis Mallender		Mary Walker
3/241/481	Albert Rivington		Eliza Truman
3/241/482	George Steward		Emma Woodcock
3/242/483	George Tilney		Mary Ann Knowles
3/242/484	John Somerset		Ann Ettoft

3/243/485	Daniel Mattson	Mary Clayton
3/243/486	Samuel Alfred Shaw	Louisa Wright
3/244/487	John Thomas Stokes	Emily Thompson
3/244/488	Thomas Walker	Emma Fox
3/245/489	Alfred Knight	Matilda Walters
3/245/490	Daniel Woodward	Mary Rivington
3/246/491	John Dauris	Sarah Elizabeth Ryalls
3/246/492	John Albert Rose	Sarah Ann Barker
3/247/493	Clement Shaw	Mary Cope
3/247/494	James Arthur Bolsover	Emily Kitson
3/248/495	Louis Ebert	Karoline Wittmann
3/248/496	Charles Henry Ibbotson	Elizabeth Thoroughgood
3/249/497	George Loude	Sarah Hannah Pearce
3/249/498	Matthew Cotterill	Rose Brunt
3/250/499	Robert Dawson	Sarah Fidler
3/250/500	Edward Willis	Ellen Powell

END OF BOOK 3

4/1/1	William Elliott		Annie Elizabeth Eastwood
4/1/2	Eli Hirst		Elizabeth Pape
4/2/3	Henry Green		Ellen Adæ Gannon
4/2/4	Arthur Clarke Burgin		Beatrice Elizabeth Chambers
4/3/5	Frank Kirkland		Sarah Ann Archdale
4/3/6	William Atkins		Martha Hartley
4/4/7	Arthur Hooper	1886	Hannah Gambles
4/4/8	Tom Ashley		Agnes Smith
4/5/9	Frederick Croft		Sarah Ann Wragg
4/5/10	William Winter		Ada Keens
4/6/11	George Burkinshaw Silcock		Emily Robinson
4/6/12	Frank William Padley		Elizabeth Mitchell
4/7/13	Frederick Brown		Emma Jubb
4/7/14	John Isaac Guy		Elizabeth Drabble
4/8/15	John Weatherhead		Sarah Jane Marvill
4/8/16	Frank Vaughan		Ann Eliza Marsh
4/9/17	George Wragg		Elizabeth Copley
4/9/18	George Wilson Marsh		Emma Holmes
4/10/19	Walter White		Charlotte Frith
4/10/20	Fred <del>erick</del> Goodyear		Ada Elizabeth Asprey
4/11/21	John Kelly		Charlotte Ann Fox
4/11/22	Andrew John Ruglen		Sarah Kate Froggatt
4/12/23	William Newton		Sarah Ann Morrell
4/12/24	Andrew Hammond		Eliza Chapman
4/13/25	William Theophilus Howell		Selina Bembridge
4/13/26	Leonard Bramall		Caroline Clark
4/14/27	Thomas Bosanquæ Kistell		Eliza Waterhouse
4/14/28	John William Henry Stokes		Ann Cowley
4/15/29	William Henry Sheldon		Jane Brown Harrison
4/15/30	Thomas Kay		Elizabeth Skeemer
4/16/31	John Widdison		Mary Elizabeth Page
4/16/32	Joe Ettoft		Selina Calthorpe
4/17/33	Wilfred Fearnough		Ada Banks
4/17/34	John Blundy		Ann Blagdon
4/18/35	Joseph Bunting		Sarah Windle
4/18/36	Thomas William <del>son</del> Reaney		Clara Ann Ellison
4/19/37	Walter Perkins		Maria Beatson
4/19/38	William Alfred Deacon	1887	Ada Crowder
4/20/39	John Jackson		Sarah Jane Stiff
4/20/40	William Smith		Rose Clark
4/21/41	Thomas Machen Bridges		Fanny Booth
4/21/42	Herbert Collins		Clara Blackwell
4/22/43	Jonathan Munday		Sarah Jane Dennis
4/22/44	Harry Leedham Clayton		Sarah Ann Wragg

4/23/45	Frederick Freeman	Florence Slawson
4/23/46	Joseph Walker	Annie Elizabeth Watson
4/24/47	Walter Staveley	Amelia Morton
4/24/48	Walter Towns <del>e</del> nd	Annie Hurst
4/25/49	William Valentine Lindenstruth	Lucy Annie Stones:
4/25/50	Thomas Roberts	Sarah Ann Hofton
4/26/51	Robert Oxley	Annie Maria Kirk
4/26/52	Frederick William Hinchliffe	Annie Pressley
4/27/53	Ernest Furniss Fisher	Elizabeth Ann Goodacre
4/27/54	George Arthur Keeler	Elizabeth Ann Garnett
4/28/55	Matthew Skinner	Ann Merrill
4/28/56	John Rudd	Mary Harrison
4/29/57	Charles Wright	Anna Willett
4/29/58	Ellis Herbert Bower	Mary Ann Chapman
4/30/59	William Chapman	Lilly Emma Bower
4/30/60	Robert Henry Osborne	Florence Dalton
4/31/61	George Henry Pace	Elizabeth Reader
4/31/62	Walter Emrey	Mary Hannah Cartwright
4/32/63	John Bain	Selina Mundy
4/32/64	William Campbell	Elizabeth Broadhead
4/33/65	Arthur James Blake.	Annie Rodgers:
4/33/66	Thomas Staton	Harriet Wildgoose
4/34/67	Thomas Cawthorne	Emily Treloar
4/34/68	Frank Burley	Elizabeth Martin
4/35/69	Joseph Wright	Sarah Stones.
4/35/70	Alonzo Peel	Fanny Higginbottom
4/36/71	Richard Laarence	Mary Hartley
4/36/72	Henry McLoughlin	Florence <del>e</del> Glew
4/37/73	William John Aspland	Ada Burkinshaw
4/37/74	Walter Bocking White:	Elizabeth Dalton
4/38/75	Walter Simpson	Louisa Ibbitson Brown
4/38/76	William Henry <del>XXXXXX</del> Thornton	Emma Gough
4/39/77	Harry Stacey	Ellen Shaw
4/39/78	John Walter Allen	Jessie Stewart Barker
4/40/79	Charles Cooper Blakey	Annie Inman
4/40/80	Donald McCulloch.	Jessie Telfer
4/41/81	John William Harward	Emily Polly Collyer Marshall
4/41/82	Benjamin Jackson	Alice Wood
4/42/83	John Henry Munks:	Polly Leck
4/42/84	Ernest Evans	Florence Lee
4/43/85	John Edward Beeley	Caroline Fisher
4/43/86	William Beckett Marriott	Ada Beatrice Boyd
4/44/87	Hugh Bownier	Julia Elizabeth Hardy
4/44/88	Alexander Thilbourne	Elizabeth Booker

4/45/89	Charles Overend	Fanny Tattershall
4/45/90	William Richards	Alice Ashmore
4/46/91	Joseph Westnedge	Sarah Ann Bentley
4/46/92	Charles Allen	Sarah Goucher
4/47/93	Arthur Williamson	Ellen Fanny Wood
4/47/94	Arthur Roberts	Mary Chester
4/48/95	James Swain Emsley	Ada Foster
4/48/96	John Burton Butterfield	Janet Ann Curtis
4/49/97	Walter Scott	Annie Stanley
4/49/98	William Curtis	Bessie Wood
4/50/99	Frank Hague	Sarah Greaves
4/50/100	John William Rhodehouse	Elizabeth Ann Jones
4/51/101	Philip Marr	Harriet Ann Drake
4/51/102	George William Mosley	Kate Pryor Dale
4/52/103	John Awdas	Ann Elizabeth Bush
4/52/104	John Robert Allison	Nancy Grubb Slack
4/53/105	John Thomas Shrives	Fanny Parker
4/53/106	Frank Lindenstruth	Florence Milner
4/54/107	Edward Fisher	1889 Sarah Ann Bradshaw
4/54/108	Joseph Bell	Annie Louisa Greenhedge
4/55/109	Arthur Broomhead	Emily Page
4/55/110	Joseph Shannem Fox	Harriet Martin
4/56/111	Fred James Brameld	Mary Elizabeth Parkin
4/56/112	Albert Joseph Teasdale	Frances Ellem Brunt
4/57/113	Bernard Pitts	Sarah Elizabeth Wilkinson
4/57/114	George Burkin	Mary Elizabeth Massom
4/58/115	Charles Henry James	Sarah Ann Guest
4/58/116	William Henry Draper	Mary Alice Newsome
4/59/117	William Henry Cryer	Sarah Gleadaile
4/59/118	John Headford	Kate Durrington
4/60/119	Joseph Mussey	Elizabeth Speed
4/60/120	John Milner	Kate Makin
4/61/121	Arthur Stapp	Lilley Abbott
4/61/122	John Frederick Rossington	Edith Isabel Hunt
4/62/123	John Thomas White	Sarah Morton
4/62/124	Albert Meallers	Emily Entwisle
4/63/125	Marshall Stephen Stirgess	Lavinia Maynard Booth
4/63/126	Arthur Gill	Lydia Leonard
4/64/127	Walter Mappin	Edith Sanderson
4/64/128	Arthur Stones	Margaret Evans
4/65/129	Albert Hartley	Ada Jowitt
4/65/130	Albert Edward Burditt	Louisa Guest
4/66/131	Robert Scott	Sarah Ann Hinchliffe
4/66/132	Harry Godley	Annie Hayter

4/67/133	Samuel Ainley	Amelia Sistine Wilson	
4/67/134	Joseph Bryam Cocking	Annie Garwood	
4/68/135	Walter Norton	Agnes Hill	
4/68/136	George Fred Morton	Clara Cooper	
4/69/137	William Henry Guest	Margaretta Spillings	
4/69/138	George Thomas Bradley	Eleanor Plowman	
4/70/139	Arthur Hanson	Annie Mead	
4/70/140	Thomas John Cairns	Isabella Jane Lynch	
4/71/141	Harry Whitton	Mary Watts	
4/71/142	William Henry Binns	Mary Elizabeth Sorby	
4/72/143	Joseph Howe	Lillie Flower	
4/72/144	John Henry Thorpe	Mary Hannah Tagg	
4/73/145	Raymond Montreville Steven	Kate Barns	
4/73/146	Tom Francis	Hannah Taylor	
4/74/147	George Arthur Turner	Theresa Paget	
4/74/148	John Frazer Donaldson	Catherine Hopkinson	
4/75/149	Albert Edward Green	Annie Eliza Jessop	
4/75/150	Joseph Eades	Emma Hopewell	
4/76/151	John Ziegler	1890	Martha Ellen Wilson
4/76/152	Albert Tennant	Rebecca Pogson	
4/77/153	John Ashley Yates	Annie Peech Sheldon Harrison	
4/77/154	William Henry Shaw	Tryphenia Rowlett	
4/78/155	William Bonnett	Kate Jackson	
4/78/156	Edward William Lank	Kate Ellen Matthewman	
4/79/157	James Adams	Mary Reeson	
4/79/158	John Wordsworth Dobbs	Beatrice Ellem Markham	
4/80/159	John James Bedford	Louisa Oliver	
4/80/160	Horace Ibbotson	Margaret Law	
4/81/161	Henry Roebuck	Agnes Ann Askham	
4/81/162	George Henry Harrison	Florence Ada Lee	
4/82/163	John Roberts	Mary Ellen Smith	
4/82/164	Ernest Maltby	Mary Ann Toll	
4/83/165	John Ellis	Eliza Banks	
4/83/166	Thomas Hindley	Kate Robinson	
4/84/167	Frank Pinder	Annie Heaton	
4/84/168	William Henry Thorpe	Sarah Jane Memmot	
4/85/169	James Aslin Ward	Eliza Marsden	
4/85/170	Frederick William Smith	Fanny Webster Swift	
4/86/171	Herbert Helliwell	<del>XXXXXX</del> Emily Hall	
4/86/172	Benjamin Allison	Florence Bennett	
4/87/173	Frederick Walton	Annie Eliza Powell	
4/87/174	William Wear	Gertrude Crawshaw	
4/88/175	Hugh Stothard	Sarah Ann Hughes	
4/88/176	Lewis Ashton	Florence Charlesworth	

4/89/177	Arthur Davy		Alice Ryals
4/89/178	William James Smith		Elizabeth Harrison
4/90/179	Joseph Vasey Spetch		Annie Mayfield
4/90/180	Walter Gibson		Clara Maskrey
4/91/181	John Stones		Elizabeth Hunt
4/91/182	Emmanuel Gascoigne		Sarah Leslie
4/92/183	John Boardman Hill		Florence Marshall Haslam
4/92/184	John Taylor		Harriet Pearce
<del>4/93/185</del>	Frank Oglesby Hall		Elizabeth Wagstaffe
4/93/186	Charles Chambers		Ann Bradshaw
4/94/187	Arthur Boardman		Clara Atkinson
4/94/188	Charles Edwin Bailey		Fanny Marrison
4/95/189	James Rodgers		Florence Catherine Thulbourne
4/95/190	John George Field		Florence Maud Crawford
4/96/191	Charles Allen		Elizabeth Ann Gallantre
4/96/192	William Ryland		Clara Davison
4/97/193	Henry Ball		Ann Barker
4/97/194	Joseph Greaves		Mary Fenson
4/98/195	Albert Edward Hollin		Mary Carr
4/98/196	Alfred Green		Maria Cowham
4/99/197	Joe Wright		Ruth Reeson
4/99/198	Frederick Parke		Rebecca Barnes
4/100/199	Henry Hales	1891	Helliner Nicholson
4/100/200	James Gillatt		Clara Jane Hall
4/101/201	William Baldry Manning		Mary Ann Robinson
4/101/202	John Heath		Emma Yeomans
4/102/203	Mellor Holmes		Sarah Ann Cartwright
4/102/204	Frederick Travis		Clara Groobey
4/103/205	Percival Bowker		Minnie Constance Brown
4/103/206	John Robert Tummon		Annie Sawtell
4/104/207	Henry Cotterill		Alice Roebuck
4/104/208	John Robert Brown		Bertha Annie Coupland
4/105/209	John Marvin		Charlotte Eliza Addy
4/105/210	William Sturdy		Annie Elizabeth Landells
4/106/211	Charles Henry Jessop		Mary Ellen Sawtell
4/106/212	Joe Sayles		Florence Sheldon
4/107/213	Robert Skelton		Sarah Ann Stokes
4/107/214	Herbert Owen Howorth		<del>Ida</del> Ida Jane Burtchall
4/108/215	John Robert Hill		Clara Lee
4/108/216	Edwin Seedhouse		Eliza Hadfield
4/109/217	John Paisley		Alice Silverwood
4/109/218	Thomas Gascoine		Zillah Mellors
4/110/219	George Jackson		Maria Jepson
4/110/220	William Garlick		Ann Eliza Leonard

4/111/221	John Arthur Dodworth		Ellen Kirkham
4/111/222	Thomas Newsome		Eleanor Bradshaw
4/112/223	William Henry Baker		Alice Mallender
4/112/224	George Dent		Annie Elizabeth Bage
4/113/225	Peter Makin		Beatrice Clayton
4/113/226	John Hastings		Clara Tadman
4/114/227	Matthew Peters		Joyce Colton
4/114/228	David Wordsworth		Lucy Knut
4/115/229	Arthur William Booth		Henrietta Heap
4/115/230	Thomas Ellis		Sarah Ellis
4/116/231	John Howell		Emmalina Mappin
4/116/232	William Ackrill		Laura Guest
4/117/233	James Turton		Millicent Marsden
4/117/234	Joseph Bickerstaff	1892	Ann Jones
4/118/235	Frank Allison		Frances Lowe
4/118/236	Charles Scott Lowe		Mary Emma Swift
4/119/237	Willie Rowland		Bertha Caroline Stokes
4/119/238	Samuel Betsworth		Lydia Marriott
4/120/239	James Guest		Mary Jane Sampson
4/120/240	Robert Dober Balding		Annie Maria Preston
4/121/241	George Wilson		Alice Hall
4/121/242	Herbert Oakley		Annie Burton
4/122/243	Job Frank Hall		Sarah Ada Chambers
4/122/244	Edward Embley		Rebecca Gardner
4/123/245	George Robinson		Annie Elizabeth Dundass
4/123/246	Walter Wordsworth Markham		Alice Mary Dobbs
4/124/247	William Henry Sedwood		Lily Taylor
4/124/248	Francis John Radford		Mary Ann Oxley
4/125/249	William Baldwin		Mary Hannah Mycock
4/125/250	Herbert Spencer		Louisa Maud Mary Sandersom
4/126/251	Albert Wright		Ann Oxley
4/126/252	William Martū m		Sophia Taylor
4/127/253	William Whitham		Harriet Turner
4/127/254	John Francis Allcock		Mary Alice Harrison
4/128/255	Thomas Warriss		Elizabeth Clayton
4/128/256	John Henry Hemsall		Annie Haslam Hartley
4/129/257	John Somerset		Sarah Bemberidge
4/129/258	Joshua Hurry		Agnes Emily Oldham
4/130/259	Walter Dennell		Charlotte Smith
4/130/260	Abraham Spittle		Sophia Thacker
4/131/261	Horace George Betts		Annie Elizabeth Clegg
4/131/262	John Henry Mitchell		Edith Rowland
4/132/263	John William Kay	1893.	Clara Lawson
4/132/264	George Holland		Annie Elizabeth Beal

4/133/265	Henry Chambers		Charlotte Amelia Wood Lowe
4/133/266	David Goacher		Elizabeth Walton
4/134/267	George Winfrow		Mary Ann Hibberd
4/134/268	John Thomas Carr Whitaker		Mary Ann Barthorpe
4/135/269	George Whiteley		Emily Staniland
4/135/270	John Richard Puddicombe		Sarah Tugby
4/136/271	Levi Tom Goucher		Agnes Kitsom
4/136/272	Samuel Bush		Mary Alice Ogdon
4/137/273	George Bark		Clara Lonsdale
4/137/274	Walter Wheatcroft		Sarah Ann Hodgson
4/138/275	James Whitehead		Mary Ann Bishop
4/138/276	Frederick William Nicholls		Ellem Hutchinson
4/139/277	Charlie Middleston		Annie Milner
4/139/278	Charles Arnold		Mary Gillott
4/140/279	George William Bembridge		Myra Ann Dey
4/140/280	George Parkin		Mary Jane Dey
4/141/281	James Garwood		Annie Elizabeth Marshall
4/141/282	James Purser		Florence Higgins
4/142/283	George Wallwin Marsden		Fanny Davis
4/142/284	Arthur Stocks		Sarah Elizabeth Strafford
4/143/285	James Marshall	1894	Alice Durose
4/143/286	Joseph Dorney		Fanny Hodkin
4/144/287	Tom Kemp Leavesley		Mary Ellen Hazlewood
4/144/288	John Charles Mastin		Florence Damms
4/145/289	William Herbert Swannack		Mary Louisa Hodkin
4/145/290	Richard Clack		Elizabeth Hadfield Fleming
4/146/291	Charles Gambles		Elizabeth Wright
4/146/292	Thomas Stanley		Edith Marie Bunny
4/147/293	Frank Priest		Jane Ward
4/147/294	Albert Battie		Ada Clarke
4/148/295	Walter Register		Emma Bradley
4/148/296	Arthur Chapman		Ellen Barton
4/149/297	George Smith		Alice Mary Westley
4/149/298	James John Borrington		Emily Broomhead
4/150/299	George Benjamin Kinson		Eliza Tugby
4/150/300	Charles Harold Barnes	1895	Lilian Clarke
4/151/301	Archibald Rowley		Eliza Hammerton
4/151/302	Nathaniel Wright		Mary Hannah Anthony
4/152/303	George Garner		Laura Louisa Brookes
4/152/304	Joseph Eadson		Annie Parvin
4/153/305	Stephen Cochrane		Emily Burtom
4/153/306	Benjamin Arnfield		Hannah Beatson
4/154/307	Frank Fisher		Annie Eliza Archer
4/154/308	Linley Toothill		Emma Harrott

4/155/309	John William Nassau	Elizabeth Wilson
4/155/310	John Hawksworth	Lauretta Enefey
4/156/311	Frank Gillott	Eliza Dobson
4/156/312	George Holmes	Eliza Hagues
4/157/313	Leonard Charles Ward	Alice Maud Mary Ridgway
4/157/314	William Fairfax Gibbs	Annie Cawthorne
4/158/315	Oswald George Precious	Elizabeth Kate Riley
4/158/316	Herbert Heginbotham	Beatrice Lee
4/159/317	Arthur James	Annie Trafford Cockayne
4/159/318	Thomas Damms	Frances Hartley
4/160/319	William Coombs	Annie Newbould
4/160/320	William Farmery	Fanny Collier
4/161/321	Fred Sheldon	Lilly Robinson
4/161/322	Edwin Fletcher	Mary Radford
4/162/323	Charles George Gray	Sarah Ellen Britten
4/162/324	James Frederick Chambers	Clara Daly
4/163/325	John James Daveis	Annie Memmott
4/163/326	John Holliday	Ada Charlesworth
4/164/327	Thomas Hickton	Mary Ann Mallender
4/164/328	William Astley	Florence Ann Atkinson
4/165/329	John Fenwick	Jane Pennington
4/165/330	Edward Mountford	Harriet Burgin
4/166/331	Joseph Wingfield	Mary Ann Wortley
4/166/332	Frank Mason	Marie Dearman
4/167/333	John Cousins Chambers	Alemiea Cartwright
4/167/334	Godfrey Graham Henchley	Annie Eliza Malkin
4/168/335	Charles Rollings	Sarah Elizabeth Dixon
4/168/336	Charles Albert Hall	Annie Unwin
4/169/337	William Thwaites	Bridget Finnerty
4/169/338	John Henry Heward	Ellen Elizabeth Radford
4/170/339	Reuben Chambers	Margaret Annie Rielley
4/170/340	John Ford	Cassandra Plant
4/171/341	Arthur Felix Gross	Ethel Lottie Curtis
4/171/342	Charles Albert Greaves	Alice Barthorpe
4/172/343	Thomas Henry Black	Amy Edith Birks
4/172/344	Charles William Endicott	Mary Evelyn Torr
4/173/345	Stephen Andrew Butters	Mary Ann Warman
4/173/346	Randolph Bush	Mary Ann Carnall
4/174/347	Joe Walter Dungworth	Elizabeth Simmons Smith-Dack
4/174/348	James Hodgson Harrison	Hannah Elizabeth Turner
4/175/349	George Waterhouse	Harriet Randall Jackson
4/175/350	John Vincent Dignam	Annie Mastim
4/176/351	James Thompson	Sarah Ann Beetmore
4/176/352	Arthur Slingsby	Martha Elizabeth Dobson

4/177/353	Edward Hobson	Elizabeth Ann Hutchinson
4/177/354	James Hartley Hodgkinson	Ada Annie Mullins
4/178/355	Arthur Mills	Alice Bray
4/178/356	Thomas Dewis	Alma Haynes
4/179/357	Lewis Littlewood Wingfield	Hattie Jessie Fry
4/189/358	Harry Holmes	Clara Wright
	1897	
4/180/359	William Henry Bolsover	Marion Rodgers
4/180/360	Elijah Bowler	Rachel Duckworth
4/181/361	Albert Sweetman	Sarah Alice Ryder
4/181/362	Walter Cowlishaw	Eliza Frost
4/182/363	Thomas Frederick Plimer	Mary Eliza Hill
4/182/364	Thomas Elijah Vernon	Florence Ada Birks
4/183/365	George Torry	Annie Marrie Taylor
4/183/366	Thomas Sampson	Caroline Panter
4/184/367	James Wilson	Lillie Damms
4/184/368	John Talks	Florence Clark
4/185/369	Francis Herbert Gautier	Edna Hoyland
<del>4/185/370</del>	Frank Stubbins	Ethel Martha Bingham
4/186/371	Frederick Wildgoose	Pollie Gough
<del>4/186/372</del>	Fred Price	Ann Maria Guest
4/187/373	Edward Scott	Harriet Gray
4/187/374	William Francis Dexter	Clara Ellen Slingsby
4/188/375	James Reed Simmonds	Sarah Ann Beeley
4/188/376	Joseph Dent	Mary Jane Barratt
4/189/377	Thomas Barlow	Hannah Harper
4/189/378	Henry Dabbs	Annie Elizabeth Wysehall Taylor
4/190/379	Joseph Boockock Swaby	Mary Ellen Woolhouse
4/190/380	Richard Abbott	Sarah Ann Staniforth
4/190/381	Edward Pennington	Clara Mappin
4/191/382	Francis Greenwood	Louisa Ann Radford
4/192/383	John Thomas Atherton	Eleanor Peters
4/192/384	Arthur Mirfin	Flora Ellen Mills
4/193/385	Richard Wright	Clara Morris
4/193/386	John William Royles	Alice Davis
4/194/387	Ernest Lowe	Selina Skinner
4/194/388	Alfred Edward Banks	Gertrude Ludlam
4/195/389	Walter Sykes	Edith Northgrave
4/195/390	James Edward Wyatt	Lillian Smith
4/196/391	Walter Patrick McEvelly	Eliza Ann Buxton
4/196/392	Jasper Lingard	Sarah Smith
<del>3/197/393</del>	Richard Cooke	Maria Carter
	1898	
4/197/394	Wilson Jowitt	Hannah Dixon
4/198/395	Herbert Jackson	Elizabeth Howell
4/198/396	Willoughby Law	Elizabeth Ann Bagshaw

4/199/397	John Riley	Olive Holdertom
4/199/398	Arthur Sawtell	Charlotte Mary Shaw
4/200/399	Sam Ewinson	Harriet Jones
4/200/400	Joseph Ridge	Katherine Fisher
4/201/401	Frederick Hartley	Charlotte Ann French
4/201/402	Herbert Sleaford	Mary Ann Whitehead
4/202/403	Robert Battie	Sarah Ellen Shaw
4/202/404	Walter Garwood	Mary Prior
4/203/405	Willis Skipworth Ward	Mary Hannah Coates
4/203/406	John Henry Norcliffe	Lucy Clara Staniland
4/204/407	William Greem	Martha Johnson
4/204/408	Herbert Fell	Florence Mary Woodcock
4/205/409	Robert Humphries	Catherine Marsden
4/205/410	Arthur John Bunting	Florence Enefey
4/206/411	John Roberts	Clara Todd
4/206/412	Charles William Coggan	Fanny Norcliffe
4/207/413	Richard Robert Thompson	Mary Ann Quirk
4/207/414	George William Mosley	Mary Ann Kelly
4/208/415	Benjamin Powell	Charlotte Elizabeth Barnsley
4/208/416	Thomas Henry Oxer	Henrietta Bestwick
4/209/417	William James Berry	Mabel Florence Gibbins
4/209/418	George Henry Turton	Elizabeth Thackery
4/210/419	Harry Fox	Sarah Emma Hill
4/210/420	Ernest Robinson	Alice Marshall
4/211/421	Harry Burkinshaw	Ann Elizabeth Oates
4/211/422	John Charles Pearse	Minnie Nevitt
4/212/423	George Norris Tebbutt	Eva Elizabeth Green
4/212/424	James Holmes	Ada Haythorne
4/213/425	Charles Cherrell	Grace Garratt
4/213/426	William Garrfitt	Theresa Todd
4/214/427	Fairwell Harrison	Sarah Ann Kenderdine
4/214/428	Charles May Taylor	Martha Jane Banks
4/215/429	Charles Hamlin Hanson	Gertrude Gillatt
4/215/430	William Wostenholm	Sarah Emily Cantrell
4/216/431	Henry Thompson	Annie Elizabeth Mortimer
4/216/432	John William Hall	Theresa Flanson Goodwin
4/217/433	Frank Basford	Florence Bradshaw
4/217/434	Harry Charlesworth	Mary Lizzie Garfitt
4/218/435	George William Joseph Carpinter	Emma Elizabeth Burrowclough
4/218/436	Charles Hinsley	Elizabeth Harrison
4/219/437	Ernest Wall	Sarah Ann Hazlehurst
4/219/438	Frederick Jones	Hannah Ethel Snape
4/220/439	William Charles Smith	Louie Gilbert
4/220/440	Leonard Rushworth	Mary Elizabeth Wainscoat

4/221/441	Percy Shemeld		Florence Greaves
4/221/442	William Henry Windle		Mary Owen Grayson
4/222/443	Tom Kelham Robson		Florence Jackson
4/222/444	John Arthur Vickers		Mary Jane Grant
4/223/445	Percy Charles Bisatt		Mary Howard
4/223/446	Cornelius Brookes		Sarah Elizabeth Wilkes
4/224/447	John Searles		Annie Parkin
4/224/448	Bernard Renshaw		Rosena Broomhead
4/225/449	John Hope		Elizabeth Barlow
4/225/450	John May		Maud Crowther
4/226/451	Albert Jackson		Annie Elizabeth Taylor
4/226/452	Alfred Ernest Mullins		Frances Morris Cooper
4/227/453	John Redgate		Sarah Dobbs
4/227/454	John Walter Barber		Rose Ann Finnerty
4/228/455	John Henry Dickinson		Emily Senior
4/228/456	William Henry Slack		Mary Louisa Froggatt
4/229/457	John Henry Horsefield		Elizabeth Harriet Peacock
4/229/458	Frederick William Helm		Minnie Tickner
4/230/459	Herbert Edwin Hutchinson		Jane Sykes
4/230/460	Clement Hicks		Mary Ellen Littler
4/231/461	Henry Bagshaw		Agnes Higginbottom
4/231/462	Charley Palfreyman		Alice Slack
4/232/463	George Dates		Harriet Ann Allen
4/232/464	John Bland		Sarah Ann Thompson
4/233/465	John Alfred Guyler		Janet Galbraith Fleming
4/233/466	Albert Rees		Annie Bradshaw
4/234/467	Herbert Marsden		Lilian Kimber
4/234/468	William Swift		Lily Buckley
4/235/469	William Rees		Alice Hayes
4/235/470	Tom Wood		Jane Frith
4/236/471	Harry Carter		Alice Worthington
4/236/472	Samuel Heathcote		Elizabeth Cox
4/237/473	Harry Frost		Lottie Pennington
4/237/474	Harry Dewsnap		Maud Coucom
4/238/475	Albert Michie		Emma Almond
4/238/476	Herbert Hartley		Theresa Sayles
4/239/477	John Thomas Marsden		Isabella Noland
4/239/478	George Grant		Eliza Goodwin
4/240/479	Joseph Headford	1900	Mary Ellen Harrison
4/240/480	Herbert Wallis		Sarah Hookham
4/241/481	William Booth		Charlotte Gardner
4/241/482	George William Edge		Alice Beaumont
4/242/483	Walter Bell		Gertrude Laura Lambert
4/242/484	Ernest Edward Brownhill		Mary Ellen Crofts

4/243/485	Herbert Lingard Langworth	Mary Eliza Northgraves
4/243/486	Joseph Thomas Walter Stevens	Henrietta Turner
4/244/487	William Beatson	Mary Ann Embley
4/244/488	Thomas Levi Crookes	Alice Palmer
4/245/489	James William Kniveton	Nelly Baker
4/245/490	Charles Phail	Marion Farmer
4/246/491	Thomas Cousins	Annie Fieldsend
4/246/492	Alfred Edwin Travis	Clara Lowdes
4/247/493	John Henry Fellows	Mary Elizabeth Dronfield
4/247/494	William Millson	Florence Broadhead
4/248/495	Andrew Thomas Cavey	Polly Sturton
4/248/496	William Henry Rowland	Ellen Marsden
4/249/497	Lawrence Cocker	Mary Ann Peters
4/249/498	James Howard	Mary Eliza Ellis
4/250/499	George Karl Frederick Hafner	Caroline Christine Spearer
4/250/500	Edward Thulbourne	Sarah Haslam

END OF BOOK 4

- ABBOTT Lilley 4/61/121. Richard 4/190/380.
- ACKRILL William 4/116/232.
- ADAMS James 4/79/157. William 3/25/52.
- ADDY Charlotte Eliza 4/105/209. Mary Emma 3/144/288.
- ADSETTS Elizabeth 3/104/207.
- ADWICK Julia Annie 3/87/174.
- AINLEY Samuel 4/67/133.
- AINSWORTH Jackson Foster 3/16/32.
- ALDHAM John 3/65/130.
- ALLCHURCH William 3/5/9.
- ALLCOCK John Francis 4/127/254.
- ALLEN Annie Elizabeth 3/59/118. Charles 4/46/92, 4/96/191. Harriet Ann 4/232/463.  
John Walter X 4/39/78. Priscilla 3/21/41.
- ALLISON Benjamin 4/86/172. Frank 4/118/235. John Robert 4/52/104.
- ALMOND (ARMOND) Annie 3/168/335. Emma 3/80/159, 4/238/475.
- ANDERSON Mary Jane 3/11/22. Sarah 3/122/224.
- ANDREW Walter 3/162/323.
- ANGUS Ann Barlow 3/69/138.
- ANTHONY Mary Hannah 4/151/302.
- ARCHDALE Sarah Ann 4/3/5.
- ARCHER Annie Eliza 4/154/307.
- ARLETT Alfred 3/171/341.
- ARMITAGE Fanny 3/39/77. Mary Ann 3/90/179.
- ARNFIELD Benjamin 4/153/306.
- ARNOLD Charles 4/139/278. Mary Ann 3/223/445.
- ASHLEY (ASTLEY) George 3/210/419. Tom 4/4/8. William 4/164/3 28.
- ASHMORE Alice 4/45/90. Fred Cooper 3/145/290. William Henry 3/183/365.
- ASHTON John 3/18/36. Lewis 4/88/176. Martin 3/163/326.
- ASKHAM Agnes Ann 4/81/161.
- ASPLAND William John 4/37/73.
- ASPREY Ada Elizabeth 4/10/20.
- ATHERTON John Thomas 4/192/383.
- ATKINS Henry 3/156/311. Mary Ann 3/128/256. William 4/3/6.
- ATKINSON Charles 3/225/449. Clara 4/94/187. Ellen 3/92/183. Ernest 3/120/240.  
Florence Ann 4/164/328. John 3/62/123. John William Guttridge 3/9/17.
- AUSTERFIELD Mary Jane 3/229/457.
- AWDAS John 4/52/103.
- AXE Henry 3/130/259.
- BAGE Annie Elizabeth 4/112/224.
- BAGGALEY John Arthur 3/105/210. Richard Henry 3/105/209. William Frederick 3/115/229.
- BAGSHAW Elizabeth Ann 4/198/396. Henry 4/231/461.
- BAILEY Charles Edwin 4/94/188. Harriet 3/62/123. John 3/84/168. Maria Marsh 3/9/17.  
Mary Ann 3/181/362. Philip 3/142/284.

BAIN John 4/32/63. Marion 3/13/26.  
BAKER Nelly 4/245/489. William 3/15/29. William Henry 4/112/223.  
BALDING Robert Dober 4/120/240.  
BALDWIN William 4/125/249.  
BALL Henry 4/97/193. James 3/57/113.  
BAMBER Norman Eustace 3/153/306.  
BANKS Ada 4/17/33. Alfred Edward 4/194/388. Eliza 4/83/165. Martha Jane 4/214/428.  
BARBER John Walter 4/227/454.  
BARCLAY Florence Janet 3/228/455.  
BARK George 4/137/273.  
BARKER Ann 4/97/193. Ellen 3/3/5. Jessie Stewart 4/39/78. Mary 3/204/408. Sarah Ann  
3/246/492.  
BARLOW Elizabeth 4/225/449. Thomas 4/189/377.  
BARNES Charles Harold 4/150/300. Emily 3/61/122. Frederick 3/178/356. Kate 4/73/145.  
Rebecca 4/99/198.  
BARNESLEY Charleste Elizabeth 4/208/415. Frederick Dale 3/69/137.  
BARRATT Mary Jane 4/188/376.  
BARRY Mary 3/77/153.  
BARTHORPE Alice 4/171/342. Mary Ann 4/134/268.  
BARTON Ellen 4/148/296.  
BASHFORD (BASFORD) Ellen 3/102/204. Frank 4/217/433.  
BATEMAN Hannah 3/128/255.  
BATES Edny Parr 3/50/99. John 3/219/437.  
BATESON Annie 3/18/36.  
BATTIE Albert 4/147/294. Robert 4/202/403.  
BEAL Annie Elizabeth 4/132/264.  
BEASLEY Henrietta Louisa 3/132/264.  
BEATSON Hannah 4/153/306. Maria 4/19/37. William 4/244/487.  
BEAUMONT Alice 4/241/482. Richard 3/89/177. William Henry 3/225/450.  
BECKETT John Cleveland 3/20/40.  
BEDFORD John James 4/80/159.  
BEELEY John Edward 3/43/85. Sarah Ann 4/188/375.  
BEETMORE Sarah Ann 4/176/351.  
BELK Henry 3/175/349.  
BELL Joseph 4/54/108. Walter 4/242/483. William Henry 3/3/6.  
BELLAMY Henry Herbert 3/79/158.  
BEMBRIDGE George William 4/140/279. Mary Ann 3/179/358. Sarah 4/129/257. Seihena 4/13/25.  
BENNER George 3/240/479.  
BENNETT Florence 4/86/172.  
BENSON Mark 3/66/132. William Henry 3/147/294.  
BENTLEY Sarah Ann 4/46/91.  
BERRESFORD Henry 3/83/165. Mary 3/53/196.  
BERRY William James 4/209/417.  
BERTRAM Henry 3/76/152.

BESTWICK Henrietta 4/208/416.  
BETSWORTH Samuel 4/119/238.  
BETTS Horace George 4/131/261.  
BICKERSTAFF Joseph 4/117/234.  
BIGGINS Ellen 3/180/359.  
BILLAM Frances Augusta 3/238/476.  
BINGHAM Ethel Martha 4/185/370.  
BINNS William Henry 4/71/142.  
BIRCH Charlotte 3/56/111.  
BIRKS Amy Edith 4/172/343. Florence Ada 4/182/364.  
BISATT Percy Charles 4/223/445.  
BISHOP Mary Ann 4/138/275.  
BLACK Thomas Henry 4/172/343.  
BLACKWELL Clara 4/21/42.  
BLADES Tom 3/102/204.  
BLAGDON Ann 4/17/34.  
BLAKE Arthur James 4/33/65.  
BLAKELEY Sarah 3/178/356.  
BLAKEY Charles Cooper 4/40/79.  
BLAND John 4/232/464.  
BLAZE Isabella 3/76/152.  
BLUNDY John 4/17/34.  
BOARDMAN Arthur 4/93/187.  
BOCKING Hannah Martha 3/103/206.  
BOLSOVER Ada 3/196/392. James Arthur 3/247/494. William Henry 4/180/359.  
BOLTON Eliza 3/181/361.  
BONNETT William 4/78/155.  
BOOKER Clara 3/139/277. Elizabeth 4/44/88. John 3/93/186. Mary 3/68/135, 3/228/456.  
BOOTH Arthur William 4/115/229. Emily 3/206/412. Fanny 4/21/41. Lavina Maynard 4/63/125.  
 William 4/241/481.  
BOOTHMAN William 3/124/247.  
BORRINGTON James John 4/149/298.  
BOSTON Charles 3/168/336.  
BOTTOMLEY Frances Jane 3/182/364.  
BOWER Ellis Herbert 4/29/58. Lilly Emma 4/30/59.  
BOWHANNA John Thomas 3/184/367.  
BOWKER Percival 4/103/205.  
BOWLER Elijah 4/180/360.  
BOWLING Charles 3/59/117.  
BOWNIER Hugh 4/44/87.  
BOYD Ada Beatrice 4/43/86.  
BRADBURY Vincent ~~XXXX~~ 3/221/441.  
BRADFORD James 3/122/224.  
BRADLEY Elizabeth 3/160/320. Emma 4/148/295. George Thomas 4/69/138. James 3/44/88.  
 Mary Ann 3/71/142.

BRADSHAW Ann 4/93/186. Annie 4/233/466. Eleanor 4/111/222. Florence 4/217/433. Harriet 3/103/205. John William 3/63/126. Martha 3/207/414. Mary 3/53/105. Mary Ann 3/142/284. Sarah Ann 4/54/107. Sarah Ellen 3/82/164. ~~BRAMALL~~

BRAMALL (BRAMFALL, BRAMBLED) Emily 3/63/126. Fred James 4/56/111. Leonard 4/13/26. Samuel 3/85/169.

BRAY Alice 4/178/355.

BRAZWELL Sarah 3/49/97.

BRETT Ann 3/187/373.

BRIDGES Thomas Machen 4/21/41.

BRIGGS Sarah Ann 3/237/473.

BRIGHT Thomas 3/181/362.

BRIGHTMORE Frances 3/98/195.

BRITTAIN John Christopher 3/141/282. Sarah Ellen 4/162/323.

BROADHEAD Alice 3/111/222. Elizabeth 4/32/64. Florence 4/247/494.

BROOKES Cornelius 4/223/448. Ellen 3/19/37. Emma 3/52/104. Frances Gertrude 3/172/344. George 3/81/161. Laura Louisa 4/152/303. Lydia 3/135/270. Martha 3/117/233.

BROOMHEAD (BROMHEAD) Arthur 4/55/109. Emily 4/149/298. Rosena 4/224/448. William Henry 3/112/223.

BROWN Edward 3/190/379. Elizabeth 3/108/209. Frederick 4/7/13. John Robert 4/104/208. Joseph 3/185/370. Louisa Ibbitson 4/38/75. Mary Ann 3/114/227. Minnie Constance ~~4/103/205~~ Richard 3/36/72.

BROWNHILL Ernest Edward 4/242/484. George 3/103/205. Thomas 3/7/13.

BROWNLESS Thomas 3/116/231.

BRUNT Frances Ellen 4/56/112. Rose 3/249/498.

BUCKLEY Lily 4/234/468.

BUDDLE Mary Ann 3/219/438.

BUNNY Edith Marie 4/146/292.

BUNTING Arthur John 4/205/410. James 3/32/63. Joseph 4/18/35.

BURDITT Albert Edward 4/65/130.

BURGIN Arthur Clarke 4/2/4. Harriet 4/165/330.

BURKIN George 4/57/114.

BURKINSHAW Ada 4/37/73. Harry 4/211/421. John Osborne 3/36/71.

BURKLEIN George Frederick 3/99/197.

BURLEY Frank 4/34/68.

BURROWCLOUGH Emma Elizabeth 4/218/435.

BURROWS Mary Ann 3/234/468.

BURTCHELL Ida Jane 4/107/214.

BURTON Annie 4/121/242. Emily 4/153/305. Minnie 3/235/469.

BUSH Ann Elizabeth 4/52/103. Randolph 4/173/346. Samuel 4/136/272.

BUSSELL Benjamin 3/223/445. Emily Ann 3/48/95.

BUTCHER Fanny 3/75/150.

BUTTERFIELD John Burton 4/48/96. Mary 3/66/132.

BUTTERS Stephen Andrew 4/173/345.

BUXTON Eliza Ann 4/196/391. Eliza Lessiter 4/196/391. Mary 3/62/124.

BYWATER Catherine 3/27/53.

CADMAN Charles 3/43/85.  
CAIRNS Thomas John 4/70/140.  
CALTHORPE Selina 4/16/32.  
CAMPBELL Elizabeth 3/169/337. Harry Hope 3/40/79. Willis 4/32/64.  
CANDOW Mary 3/208/416.  
CANEY Lizzie 3/209/418.  
CANTRELL Sarah Emily 3/215/430.  
CAREY Mary Ann 3/101/201.  
CARLEY Mary Ellen 3/123/245.  
CARMONT William Henry 3/228/455.  
CARNALL Annie 3/18/35. Elizabeth 3/64/127. Mary Ann 4/173/346.  
CARPINTER George William Joseph 4/218/435.  
CARR John 3/142/283. Mary 4/98/195. Mary Ann 3/144/287.  
CARTER Harry 4/236/471. Maria 4/197/393.  
CARTLEDGE Levi 3/220/439. James\* 3/53/106.  
CARTWRIGHT Alemeia 4/167/333. Mary Hannah 4/31/62. Sarah Ann 4/102/203. Thomas William  
3/146/292.  
CAVEY Andrew Thomas 4/248/495.  
CAWTHORNE Annie 4/157/314. Thomas 4/34/67.  
CHAMBERS Beatrice Elizabeth 4/2/4. Charles 4/93/186. Henry 4/133/265. John Cousins  
4/167/333. Reuben 4/170/339. Sarah Ada 4/122/243. Selina Ann 3/239/478.  
CHAMPION Phoebe 3/114/228.  
CHAPMAN Arthur 3/148/296. Eliza 4/12/24. James Frederick 4/162/324. John Robinson  
3/52/104. Mary Ann 4/29/58. William 4/30/59.  
CHARLES Emily 3/200/399. William Thomas 3/172/344.  
CHARLESWORTH Ada 4/163/326. Ann 3/186/372. Florence 4/88/176. Harry 4/217/434.  
John 3/133/265. ~~KNIGHTERTON~~  
CHATTERTON Joseph 3/145/289.  
CHERRELL Charles 4/213/425.  
CHESTER Mary 4/47/94.  
CHOLERTON Francis 3/143/286.  
CHRISTIE James Nuggians 3/125/249.  
CLACK Richard 4/145/290.  
CLAPHAM Henry 3/28/56,  
CLARK(E) Abraham 3/238/476. Ada 4/147/294. Caroline 4/13/26. Emily 3/113/226. Francis  
3/31/61. Florence 4/184/368. Lilian 4/150/300. Rose 4/20/40. Thomas William  
3/226/451. Walter 3/149/297.  
CLAYTON Arthur 3/166/331. Beatrice 4/113/225. Elizabeth 4/128/255. Harry Leedham  
4/22/44. Mary 3/243/485.  
CLEGG Annie Elizabeth 4/131/261.  
COATES Mary Hannah 4/203/405.  
COCHRANE Stephen 4/153/305.  
COCKAYNE Annie Trafford 4/159/317. Harriet 3/70/140.  
COCKER Lawrence 4/249/497.  
COCKING Joseph Bryan 4/67/134.

CODLING Christiana Eliza 3/230/459.  
COGGAN Charles William 4/206/412. Pamela Millington 3/14/27.  
COLBRIDGE Alice Mary 3/68/136.  
COLE(S) Henry 3/126/251. Samuel 3/165/329.  
GOLLIER Fanny 4/160/320.  
COLLINS Ellen 3/174/347. Herbert 4/21/42. Margaret 3/7/13. Thomas 3/60/119.  
COLLS William 3/237/473.  
COLTON Joyce 4/114/227.  
CONSTABLE Lucy 3/217/434.  
COOK Richard 4/197/393.  
COOKSON John 3/14/28, 3/187/373. Sarah Ann 3/169/338.  
COOMBS William 4/160/319.  
COOPER Clara 4/68/136. Frances Morris 4/226/452. Harbert William 3/209/418. Robert Francis  
~~3/143/285~~. Rose Anna Elfrida Gathercole Cooper Mayes 3/229/458.  
COPE Mary 3/247/493. May Hannah 3/177/354.  
COPLEY Elizabeth 4/9/17. Frederick 3/170/340.  
COTTERILL Henry 4/104/207. Matthew 3/249/498.  
GOULDWELL Demund Howarth 3/164/328.  
COUPLAND Bertha Annie 4/104/208.  
COUSINS Thomas 4/246/491. Walter James 3/182/364.  
COWHAM (COUCOM) Maria 4/98/196. Maud 4/237/474.  
COWLEY Ann 4/14/28. Sarah Jane 3/105/210.  
COWLISHAW Annie 3/215/429. Emma 3/176/351. Sarah Ann 3/189/378. Walter 4/181/362.  
COX Elizabeth 4/236/472.  
CRAWFORD Florence Maud 4/95/190.  
CRAWSHAW Frederick 3/222/444. Gertrude 4/87/174. Sarah 3/79/158.  
CRICH Emily Hannah 3/93/186.  
CROFTS Elizabeth 3/31/61. Emily 3/81/161. Frederick 4/5/9. John Rodger 3/19/38.  
Mary Ellen 4/242/484. Thomas 3/70/139.  
CROOKS Thomas Levi 4/244/488. William 3/171/342.  
CROSS George 3/44/87. Joseph 3/144/288.  
CROSSLAND Fred. 3/141/281.  
CROSSLEY Elizabeth 3/198/396. Thomas Walter 3/61/121.  
CROWDER Ada 4/19/38. Ann 3/30/60.  
CROWTHER Maud 4/225/450.  
CRYER William Henry 4/59/117.  
CULLEN Ellen 3/74/147.  
CUNDY Ann 3/85/170.  
CURTIS Ethel Lottie 4/171/341. Janet Ann 4/48/96. William 4/49/98.  
CUTHBERT Mary 3/24/48. Tamar 3/121/241.  
  
DABBS Henry 4/189/378.  
DALE Kate Pryor 4/51/102.  
DALTON Elizabeth 4/37/74. Florence 4/30/60.  
DALY Clara 4/162/324.

DAIMES Charles 3/179/358. Florence 4/144/288. George Allen 3/98/196. Lillie 4/184/367.  
 Thomas 3/218/436, 4/159/318.

DARBY Arabella Eliza 3/146/291.

DARBYSHIRE Alice 3/44/88. Frances 3/44/87.

DARWENT Ellen 3/192/384. Henry 3/123/246.

DARWIN Alice 3/136/272. Lilly 3/237/474.

DAUGHTRY (DOHERTY) James 3/167/336. James Whitworth 3/54/108.

DAURIS John 3/246/491.

DAVIS (DAVEIS) Alice 4/193/386. Fanny 4/142/283. John James 4/163/325. Thomas 3/132/264.

DAVISON Annie Elizabeth 3/75/149. Clara 4/96/192.

DAVY Arthur 4/89/177.

DAWES Mary Harriet 3/236/471.

DAWSON Elizabeth 3/170/339. Ellen 3/222/444. John Thomas Frearson 3/32/64. Robert  
 3/250/499. Thomas 3/164/327.

DAY (DEY) Francis 3/4/7. Mary Ann 4/140/280. Myra Ann 4/140/279.

\*DEAKIN Frederick 3/82/164.

DEACON William Alfred 4/19/38.

DEANS Richard 3/207/413. Samuel 3/12/23.

DEARDEN Herbert 3/222/443.

DEARMAN Marie 4/166/332.

DENNELL Walter 4/130/259.

DENNIS Ellis Mary 3/58/116. Sarah Jane 4/22/43.

DENT George 4/112/224. Joseph 4/188/376.

DEPLEDGE Annie Barker 3/141/282. John 3/64/128.

DEWIS Thomas 4/178/356.

DEWSBURY John 3/25/50.

DEWSNAP Harry 4/237/474.

DEXTER William Francis 4/187/374.

DICKINSON George Thomas Youdan 3/119/237. John Henry 3/39/77, 4/228/455.

DIGNAM John Vincent 4/175/350.

DIXON Hannah 4/197/394. John 3/201/401. Sarah Elizabeth 4/168/335.

DOBBS Alice Mary 4/123/246. John Wordsworth 4/79/158. Sarah 4/227/453.

DOBSON Eliza 4/156/311. Martha Elizabeth 4/156/311.

DODSON Sarah Ann 3/56/112.

DODWORTH John Arthur 4/111/221.

DONALDSON John Frazer 4/74/148.

DONNELLY John Patrick 3/169/337. Thomas 3/239/477.

DORNEY Joseph 4/143/286.

DOWNING Ellen 3/226/451.

DRABBLE Ann 3/176/352. Elizabeth 4/7/14. Sarah Jane 3/69/137. Thomas 3/94/187.

DRAKE Harriet Ann 4/51/101.

DRAPER William Henry 4/58/116.

DRONFIELD Mary Elizabeth 4/247/493. Percy 3/185/369.

DUCKWORTH Rachel 4/180/360.

DUNDAS(S) Ann Elizabeth 4/123/245. Rachel 3/54/108.

DUNGWORTH Joe Walter 4/174/347. Marie Jane 3/121/242.

DUNN Ann 3/231/461.

DUROSE Alice 4/143/285.

DURRINGTON Kate 4/59/118.

EASES Joseph 4/75/150.

EADSON Joseph 4/152/304.

EAMES Emma 3/512/303.

EARNSEAW Joseph Harrison 3/238/475.

EARP Mary Jane 3/195/390.

EASTWOOD Annie Elizabeth 4/1/1.

EBERT Louis 3/248/495.

EBLET Charles William 3/114/227. Jane 3/32/64.

ECKHARDT Catherine 3/151/301.

EDGE George William 4/241/482.

EDMONDSON Charles 3/213/426.

ELLIOTT Alice 3/109/218. Walter 3/48/96. William 4/1/1.

ELLIS(S) George Frederick 3/107/214. John 4/83/165. Mary Eliza 4/249/498. Sarah 4/115/230.  
Thomas 4/115/230.

ELLISON Clara Ann 4/118/36.

EMBLEY Edward 4/122/244. Mary Ann 4/244/487.

EMREY Walter 4/31/62.

EMSLEY James Swain 4/48/95.

ENDICOTT Charles William 4/172/344.

ENEFEY Florence 4/205/410. Lauretta 4/155/310.

ENTWISLE Emily 4/62/124.

ETHERINGTON Alice 3/162/323.

ETTOFT Ann 3/242/484. Joe 4/16/32.

EVANS Ernest 4/42/84. Margaret 4/64/128.

EVERITT Arthur 3/118/236.

EVINSON Sam 4/200/399.

FARMER George 3/13/26. Marion 4/245/490.

FARMERY William 4/160/320.

FARROWS Arthur 3/17/33.

FEARNEHOUGH Wilfred 3 4/17/33.

FELL Herbert 4/204/408.

FELLOWS John Henry 4/247/493.

FELTRUP Mary 3/13/25.

FELWELL Charles 3/6/12.

FENSON Mary 4/97/194.

FENWICK John 4/165/329.

FERRIDAY Joseph 3/10/20.

FIDLER Sarah 3/250/499.

FIELD John George 4/95/190.

FIELDSEND Annie 4/246/~~482~~/491.  
FILTON Mary Ann 3/203/406.  
FINNERTY Bridget 4/169/337. Rose Ann 4/227/454.  
FISHER Caroline 4/43/85. Edward 4/54/107. Ernest Furniss 4/28/53. Frank 4/154/307.  
Katherine 4/200/400.  
FLEMING Elizabeth Hadfield 4/145/290. Janet Galbraith 4/233/465.  
FLETCHER Edwin 4/161/322. Florence 3/184/367. Herbert 3/11/22.  
FLOWER Killie 4/72/143.  
FORCITT William Herbert 3/227/454.  
FORD John 4/170/340.  
FOSTER Ada 4/48/95. James 3/69/138. John 3/174/348. Mary Jane 3/89/177.  
FOWLER Jane Alice 3/140/280.  
FOX Arthur Seymour Seamer 3/129/257. Charlotte Ann 4/11/21. Emma 3/244/488. Harry  
4/210/419. John William 3/6/11. Joseph Shannen 4/55/110. Mary 3/32/63.  
Robert Barnes 3/199/397. Sophia 3/43/86.  
FRANCE Herbert 3/192/384. John Thomas 3/159/317.  
FRANCIS Tom 4/73/146.  
FRANKISH Abraham 3/78/156.  
FREEMAN Frederick 4/23/45.  
FRENCH Charlotte Ann 4/201/401.  
FRITH Annie Edith 3/238/475. Charlotte 4/10/19. Jane 4/235/470.  
FROGGATT Eliza 3/120/239. George Martin Henry 3/158/316. Mary Louisa 4/228/456.  
Sarah Kate 4/11/22.  
FROST Eliza 4/181/362. Elizabeth 3/161/321. George 3/21/41. George William 3/138/276.  
Harry 4/237/473. John 3/80/160. John Thomas 3/89/178.  
FRY Hattie Jessie 4/179/357.  
FULLER Robert 3/60/120.  
FURNISS Annie Elizabeth 3/148/296.  
  
GALLAGHER Daniel, 3/223/446.  
GALIENTRE Elizabeth Ann 4/96/191.  
GAMBLES Charles 4/146/291. Hannah 4/4/7.  
GANNON Ellen Ada 4/2/3.  
GARDNER Charlotte 4/241/481. Rebecca 4/122/244.  
GARFITT Mary Lizzie 4/217/434. William 4/213/426.  
GARLICK Mary Elizabeth 3/167/333. Richard 3/116/232. William 4/110/220.  
GARNER ✠ George 4/152/303.  
GARNETT Annie Eliza Hudson 3/98/196. Elizabeth Ann 4/27/54.  
GARRATT Grace 4/213/425.  
GARWOOD Annie 4/67/134. James 4/141/281. Walter 4/202/404.  
GASCOIGNE Emmanuel 4/91/182. Thomas 4/109/218.  
GAUTIER Francis Hebbert 4/185/369.  
GAY Sarah Elizabeth 3/140/279.  
GENT Thomas 3/135/270.  
GIBBON (GIBBINS) Henry 3/127/253. Mabel Florence 4/209/417.

GIBBS William Fairfax 4/157/314.  
GIBSON Walter 4/90/180.  
GILBERT Lowie 4/220/439.  
GILES Clara 3/50/100.  
GILL Arthur 4/63/126. Charles 3/139/277. William 3/91/182.  
GILLOTT (GILLETT) Frank 4/156/311. George Harold 3/150/299. Gertrude 4/215/429. James  
 4/100/200. Mary 4/139/278.  
GILMORE Patrick 3/26/51.  
GLEADALL Joseph 3/49/97. Sarah 4/59/117.  
GLEW Florence 4/36/72.  
GLOSSOP Annie Elizabeth 3/182/363. John 3/189/378.  
GLYNN Thomas Henry 3/195/390.  
GODBEHERE Sarah Ann 3/77/154.  
GODDARD Wilfréd 3/55/110.  
GODLEY Harry 4/66/132.  
GOODACRE Elizabeth Ann 4/27/53.  
GOODINSON Armelia 3/218/436.  
GOODMAN Jane Eliza 3/221/442.  
GOODWIN Eliza 4/239/478. Theresa Flamson 4/216/432.  
GOODYEAR Fred 4/10/20.  
GOUCHER (GOACHER) David 4/133/266. Levi Tom 4/136/271. Sarah 4/46/92.  
GOUGH Emma 4/38/76. Pollie 4/186/371.  
GOULD Mary Ann 3/2/3.  
GRAHAM Isabella 3/12/24. Jane 3/224/447. Samuel 3/50/100.  
GRANT Annie 3/175/350. George 4/239/478. Mary Jane 4/222/444.  
GRATTON Henry 3/236/471.  
GRAY Charles George 4/162/323. George 3/33/65, 3/231/461. Harriet 4/187/373.  
 Lilly Loveine 3/127/254. Mary Atmore 3/16/32. William Henry 3/1/1.  
GRAYSON Clara Agnes 3/203/405. Mary Owen 4/221/442.  
GREAVES (GREVES) Charles Albert 4/171/342. Florence 4/221/441. Joseph 4/97/194. Mary  
 3/38/76. Sarah 4/50/99. Thomas 3/136/271. William 3/162/324.  
GREEN Abraham 3/131/261. Albert Edward 4/75/149. Alfred 4/98/196. Caroline Eliza  
 3/197/393. Eva Elizabeth 4/212/423. Henry 4/2/3. Sarah Ann 3/193/385.  
 William 4/204/407. William Henry 3/132/263.  
GREENHEDGE Albert 3/228/456. Annie Louisa 4/54/108.  
GREENHOUGH Mary Cobb 3/148/295. ~~FRANKENBERG~~  
GREENWOOD Francis 4/191/382.  
GREGORY Joseph William 3/227/453.  
GRITTON Mary Ann 3/119/238.  
GROOBAY Clara 4/102/204.  
GROSS Arthur Felix 4/171/341.  
GRUNDY Selina 3/59/117.  
GUEST Agnes 3/94/188. Ann Maria 4/186/372. James 3/120/239. Laura 4/116/232. Louisa  
 4/55/130. Sarah Ann 4/58/1115. William Henry 4/69/137.  
GUY John Isaac 4/7/14.

GUYLER John Alfred 4/233/465.

HABERSHAW Frederick 3/196/391.

HADFIELD Eliza 4/108/216.

HAFNER George Karl Frederick 4/250/499.

HAGUE(S) Charles 3/8/15. Elizabeth 4/156/312. Frank 4/50/99. John 3/56/112. Martha  
3/33/65. Mary 3/161/322. Sarah Ann 3/95/189. ~~WAKE~~

HALE(S) Arthur 3/93/185. Elizabeth 3/67/134. Henry 4/100/199.

HALL Abraham 3/9/18. Alice 4/121/241. Ann Matilda 3/217/433. Charles Albert 4/168/336.  
Clara Jane 4/100/200. Elizabeth 3/86/171. Emily 4/86/171. Frank Oglesby 4/93/185.  
Job Frank 4/122/243. John 3/195/389. John William 4/216/432. Lydia Elizabeth  
3/193/386. Mary 3/131/261. Mary Gaite 3/22/44.

HAMMERTON Ann 3/2/4. Eliza 4/151/301. Henry 3/10/19.

HAMMOND Andrew 4/12/24.

HANDLEY George 3/51/101.

HANLEY John 3/118/235.

HANSON Arthur 4/70/139. Charles Hamlin 4/215/429.

HARDWICK John Thomas 3/106/211.

HARDY Clara Hickman 3/163/325. Isabella 3/210/420. Joseph 3/186/371. Julia Elizabeth  
4/44/87.

HARPER Hannah 4/189/377.

HARRINGTON Lucy Elizabeth 3/150/299.

HARRISON Ann 3/179/357. Annie 3/8/16. Annie Elizabeth 3/211/422. Annie Peck Sheldon  
4/77/153. Elizabeth 4/89/178, 4/218/436. Fairwell 4/214/427. Florence 3/153/306.  
George Henry 4/81/162. James Hodgson 4/174/348. Jane Brown 4/15/29. Mary 4/28/56.  
Mary Alice 4/127/254. Mary Ellen 4/240/479. Phoebe Ann 3/157/314.

HARROTT Emma 4/154/308.

HARSLEY Annie 3/8/15.

HARTLEY Abraham 3/49/98. Albert 4/65/129. Annie Haslam 4/128/256. Frances 4/159/318.  
Frederick 4/201/401. Herbert 4/238/476. Martha 3/232/464, 4/3/6. Mary 4/36/71.

HARWOOD John William 4/41/81.

HASLAM Florence Marshall 4/92/183. Sarah 4/250/500.

HASTINGS John 4/113/226.

HAULT George Edward 3/236/472.

HAWK Selina 3/51/102.

HAWKINS John William 3/115/230.

HAWKSWORTH John 4/155/310.

HAWLEY Frederick 3/133/266.

HAYES Alice 4/235/469. Martha 3/26/51.

HAYNES Alma 4/178/356.

HAYTER Annie 4/66/132.

HAYTHORNE Ada 4/212/424.

HAZLEHURST Sarah Ann 4/219/437.

HAZLEWOOD Fred 3/211/421. Samuel Gates 3/170/339.

HEADFORD John 4/59/118. Joseph 4/240/479.  
HEALD Emma 3/145/290, 3/196/391.  
HEALEY Alfred 3/182/363,  
HEAP Henrietta 4/115/229.  
HEATH John 4/101/202.  
HEATHCOTE Betsey Clarke 3/95/190. Samuel 4/236/472.  
HEATON Annie 4/84/167.  
HELLIWELL Herbert 4/86/171.  
HELM Frederick William 4/229/458.  
HEMPSALL John Henry 4/128/256.  
HENCHLEY Godfrey Graham 4/167/334.  
HENNING Absalom 3/110/219.  
HENSON John 3/208/415.  
HEPPENSTALL Ann 3/84/167.  
HEPPLESTONE Elizabeth 3/153/305. William Henry 3/94/188.  
HETHERINGTON Julia 3/147/293.  
HEWARD John Henry 4/169/338.  
HEWITT James Nicholas 3/72/144. William 3/155/309.  
HIBBERD Mary Ann 4/134/267.  
HIBBERT William 3/84/167.  
HICK(S) Clement 4/230/460. Janet 3/23/46. Robert 3/163/325.  
HICKTON Thomas 4/164/327,  
HIDES Harriet 3/219/437.  
HIGGINBOTTOM Agnes 4/231/461. Fanny 4/35/70. Herbert 4/158/316.  
HIGGINS Florence 4/141/282.  
HILL Agnes 4/68/135. Alice Ann 3/222/443. Charles William 3/25/49. Fanny 3/35/70. George  
3/74/148. John 3/18/35, 3/114/149/298. John Boardman 4/92/183. John Robert  
4/108/215. Mary 3/225/449. Mary Eliza 4/182/363. Sarah Emma 4/210/419.  
William 3/45/90, 3/86/172, 3/102/203.  
HINCHLIFFE Frederick William 4/26/52. Sarah Ann 4/66/131.  
HINDLEY Thomas 4/83/166.  
HINSLEY Charles 4/218/436.  
HIRST Eli 4/1/2. Susannah 3/118/235.  
HIXON George Edwin 3/140/280.  
HOBSON Alice Ann 3/65/129. Edward 4/177/353. George 3/194/387. Henry Hartley Edmund  
3/73/145. Joseph Samuel 3/117/233.  
HODGKIN Ellen 3/5/10.  
HODGKINSON James Hartley 4/177/354. Thomas 3/3/5.  
HOEGSON Sarah Ann 4/137/274.  
HODKIN Fanny 4/143/286. Mary Louisa 4/145/289.  
HODSON Samuel 3/29/58.  
HOFTON Sarah Ann 4/25/50.  
HOGG Mary Elizabeth 3/46/92.  
HOLBERN Henry 3/198/395.  
HOLDERTON Olive 4/199/397.

HOLLAND George 4/132/264.  
HOLLIDAY John 4/163/326.  
HOLLIN Albert Edward 4/98/195.  
HOLLINGSWORTH George 3/107/213.  
HOLMES Charles Beckett 3/47/94. Edward George 3/33/66. Emma 4/9/18. Father Ann 3/57/113.  
 Florence 3/201/401. George 4/156/312. Harry 4/179/358. James 4/212/424. Joseph  
 3/98/195. Martha Ann 3/160/319. Mary Jane 3/134/268. Mellor 4/102/203.  
 Richard 3/213/425.  
HOLT Emily 3/154/307.  
HOMER Elizabeth 3/41/82.  
HOOKHAM Sarah 4/240/480.  
HOOPER Arthur 4/4/7.  
HOPE John 4/225/449.  
HOPEWELL Emma 4/75/150.  
HOPKINSON Albert 3/229/458. Catherine 4/74/148.  
HORNER Elizabeth 3/116/232. Mary Ann 3/239/477.  
HORSEFIELD John Henry 4/229/457.  
HOWARD James 4/249/498. Mary 4/223/445.  
HOWE John 3/158/315. Joseph 4/72/143. Thomas Hanson 3/129/258.  
HOWELL Elizabeth 4/198/395. John 4/116/231. Mary Ann 3/73/145. William Theophilus 4/13/25.  
HOWLEY Joseph Robert 3/77/153.  
HOWORTH Herbert Owen 4/107/214.  
HOYE Edwin Thomas 3/138/275.  
HOYLAND Edna 4/185/369. Frank 3/201/402.  
HOYLE Hannah 3/230/460.  
HUDSON George 3/177/353.  
HUGHES Sarah Ann 4/88/175.  
HUKIN Mary Ann 3/1/1.  
HUMPHRIES Robert 4/205/409.  
HUNT Edith Isabel 4/61/122. Elizabeth 4/91/181. Florence Annie 3/185/370.  
HUNTER John 3/41/82. Timothy 3/99/198.  
HURP Jane 3/155/309.  
HURRY Harriet 3/201/402. Joshua 4/129/258.  
HURST Ann 3/91/182. Annie 4/24/48.  
HUSHEN John Henry 3/147/293.  
HUTCHINSON Elizabeth Ann 4/177/353. Ellen 4/138/276. Herbert Edwin 4/230/459.  
HUTLEY Mary Jane 3/156/312.  
HUTSON Rosanna 3/129/258.  
HUXLEY James Henry 3/22/44.  
  
IBBOTSON Charles Henry 3/248/496. Horace 4/80/160. William 3/80/159. William Frederick  
 3/120/239.  
INGLESON Lydia 3/88/176.  
INMAN Annie 3/40/79.

JACKSON Albert 4/226/451. Benjamin 4/41/82, Betsey 3/21/42. Emma 3/112/223. Florence 4/222/443. George 4/110/219. Harriet Randall 4/175/349. ~~HERBERT~~ Herbert 4/198/395. John 3/167/333, 4/20/39. Kate 4/78/155. Mary Ann 3/7/14. Priscilla 3/29/57. William Henry 3/2/3.

JAMES Alice 3/227/454. Arthur 4/159/317. Charles Henry 3/58/115. Edward Jeremiah 3/117/234. Mary 3/214/427.

JARVIS Hannah 3/106/211.

JENKINSON Charles 3/224/448. George 3/34/68. Hannah 3/224/448.

JEPSON Albert 3/179/357. Ann 3/1/2. Maria 4/110/219.

JESSOP Annie Eliza 4/75/149. Charles Henry 4/106/211.

JINKINS Thomas 3/72/143.

JOHNSON Charles James Andrews 3/103/206. Martha 4/204/407. William Thomas 3/123/245.

JONES Ann 4/117/234. Elizabeth Ann 4/50/100. Frederick 4/219/438. Hannah Maria 3/116/231. Harriet 4/200/399. Richard 3/51/102.

JOWITT Ada 4/65/129. Wilson 4/197/394.

JUBB Emma 4/7/13. Florence 3/226/452. Louisa Elizabeth 3/119/237. Marianna 3/118/236.

JUPP Ann 3/143/286.

  

KAY John William 4/132/263. Thomas 4/15/30.

KEANS Ada 4/5/10.

KEATS Joseph 3/4/8.

KEELER George Arthur 4/27/54.

KEETON Frederick George 3/101/202.

KELLY Harriet 3/183/366. John 4/11/21. Mary Ann 4/207/414.

KELSEY Alfred 3/95/189.

KEMP Harriet Annie 3/213/425.

KENDERDINE Sarah Ann 4/214/427.

KENT Ann 3/60/119.

KENYON Annie 3/67/133.

KIMBER Lilian 4/234/467.

KINSON George Benjamin 4/150/299.

KIRK Annie Maria 4/26/51.

KIRKBY Susannah 3/126/251.

KIRKHAM Ellen 4/111/221.

KIRKLAND Frank ~~XX~~ 4/3/5.

KISTELL Thomas Bosangus 3/46/92, 4/14/27.

KITSON Agnes 4/136/271. Emily 3/247/494.

KNIGHT Alfred 3/245/489.

KNIVETON James William 4/245/489.

KNOWLES Annie 3/186/371, Charles Edward 3/161/321. James 3/144/287. Mary Ann 3/242/483. Mary Ellen 3/6/11.

KNUT Lucy 4/114/228.

KRAMER Clara Jane 3/58/115. Henry 3/61/122.

LAMBERT Gertrude Laura 4/242/483. James Thomas 3/121/242.  
LANDELLS Annie Elizabeth 4/105/210.  
LANGWORTH Herbert Lingard 4/243/485.  
LANK Edward William 4/78/156.  
LARISSEY John 3/217/434.  
LARREN Mary Ann 3/149/298.  
LAW Margaret 4/80/160. Mary 3/227/453. William 3/74/147. Willoughby 4/198/396.  
LAWLEY John 3/57/114.  
LAWRENCE Jane 3/63/125. Richard 4/36/71.  
LAWSON Clara 4/132/263.  
LAWTON Mary 3/72/143.  
LAYBOURN John 3/161/322.  
LEAVESLEY Tom Kemp 4/144/287.  
LECK Polly 4/42/83.  
LEDGER Eliza 3/200/400. Henry Hall 3/16/31.  
LEE Beatrice 4/158/316. Clara 4/108/215. Elizabeth 3/34/68. Florence 4/42/84.  
 Florence Ada 4/81/162.  
LEONARD Ann Eliza 4/110/220. Lydia 4/63/126.  
LESLIE Sarah 4/91/182.  
LEWIS Elizabeth 3/20/39. William 3/8/16.  
LILLEY Caroline 3/115/229.  
LINDENSTRUTH Frank 4/53/106. William Valentine 4/25/49.  
LINGARD Jasper 4/196/392. Joseph 3/137/274. Peter 3/194/388.  
LINLEY Charles Frederick 3/190/380.  
LISTER William 3/43/86.  
LITCHFIELD Helena 3/231/462. Mary Jane 3/150/300.  
LITTLER Mary Ellen 4/230/460.  
LOCK John 3/131/262.  
LOGAN Ann 3/97/194.  
LONG Annie Elizabeth 3/199/397.  
LONGDEN Elizabeth 3/26/52, 3/110/220. Rebecca 3/162/324.  
LONGFORD Mary 3/74/148.  
LONGLEY Mary Ann 3/233/466.  
LONSDALE Clara 4/137/273.  
LOUDE George 3/249/497.  
LOWE(S) Charles Scott 4/118/236. Charlotte Amelia Wood 4/133/265. Ernest 4/194/387.  
 Frances 4/118/235. John Walter 3/23/46. Robert 3/20/39. Theresa 3/99/198.  
LOWNDES Clara 4/246/492.  
LUCAS Rebekah 3/46/91.  
LUDLAM Charlotte 3/47/93. George Gambel 3/17/34. Gertrude 4/194/388. Sarah Ann 3/48/96,  
 3/73/146 $\frac{1}{2}$   
LYNCH Isabella Jane 4/70/140.  
LYNDON William 3/215/430.  
LYNGCOLN Mary Matilda 3/78/155.  
LYONS Jane 3/91/181.

MACKEBBEY Thomas 3/200/400.

MADIN Harriet 3/10/19.

MAIDMENT Louisa 3/174/348.

MAKIN Elizabeth 4/34/68. Kate 4/60/120. Peter 4/113/225.

MALKIN Annie Eliza 4/167/334. George 3/196/392.

MALLINDER Ada 3/210/419. Alice 4/112/223. Francis 3/240/480. George 3/104/208.  
Mary Ann 4/164/327.

MALTY Ernest 4/82/164.

MANGER Harriet 3/78/156, 3/214/428.

MANGHAM William 3/221/442.

MANION Charlotte 3/96/191.

MANNING William Baldry 4/101/201.

MAPPIN Clara 4/191/391. Emily 3/42/83. Emmalina 4/116/231. Walter 4/64/127.

MAPPLEBECK Abraham Truelove 3/110/220.

MARKHAM Beatrice Ellen 4/79/158. Walter Wordsworth 4/123/246.

MARR Philip 4/51/101.

MARRIOTT George Copeland 3/226/452. Lydia 4/119/238. William Beckett 4/43/86.

MARRISON Fanny 4/94/188.

MARSDEN Catherine 4/205/409. Eliza 4/85/169. Ellen 4/248/496. Frederick 3/191/382.  
George Wallwin 4/142/283. Herbert 4/234/467. James 3/180/359. John Thomas  
4/239/477. Millicent 4/117/233. William Atkin 3/63/125.

MARSH Ann Eliza 4/8/16. Charles 3/205/410. George 3/23/45. George Wilson 4/307/9/18.  
James 3/24/48. Walter Joseph 3/42/83. William 3/90/179.

MARSHALL Alice 4/210/420. Annie Elizabeth 4/141/281. Emily Pally Collyer 4/41/81.  
James 4/143/285.

MARTIN Frances Elizabeth 3/34/67. Harriet 4/55/110. Henry George 3/197/394. William  
4/126/252.

MARVILL Sarah Jane 4/8/15.

MARVIN John 4/105/209.

MASKREY Clara 4/90/180.

MASON (MASSON) Frank 4/166/332. Mary Elizabeth 4/57/114. Sarah Ann 3/47/94.

MASTIN Annie 4/175/350. John Charles 4/144/288.

MATHER Elizabeth 3/168/336.

MATTHEWMAN Kate Ellen 4/78/156.

MATTHEWS (MATHEWS) Andrews 3/192/383. Charles 3/91/181. Emily 3/192/383.

MATTSON Daniel 3/243/485.

MAY John 4/225/450.

MAYFIELD Annie 4/90/179.

MAYNARD Alfred 3/76/151.

McARTHUR Harriet 3/130/259.

McCULLOCH Donald 4/40/80.

McEVELLY Walter Patrick 4/196/391.

McLOUGHLIN Henry 4/36/72.

McKNIGHT John Weir 3/88/175.

McNALLY Alfred 3/27/53.

McNIFF Jane Ann 3/232/463.  
MEAD(S) Annie 4/70/139. Elizabeth 3/4/7.  
MEDLICOTT Martha 3/25/49.  
MELLOR(S) Albert 4/62/124. Florence 3/83/166. Zillah 4/109/218.  
MEMMOTT Annie 4/163/325. Frank 3/212/423. Frederick Joseph 3/188/376. Olivia 3/31/62.  
Sarah Jane 4/84/168.  
MERRILL Ann 4/28/55. Eliza 3/199/397. Emily 3/190/380. Hannah 3/190/379. Minnie  
3/205/409. Pizzard 3/109/218.  
MERRYWEATHER Mary Emily 3/92/184.  
MIDDLETON Charlie 4/139/277. Eliza 3/129/257. Elizabeth Hartshorn 3/213/426.  
Frederick William 3/40/80.  
MILLINGTON James Isaac 3/38/75.  
MILLS Arthur 4/178/355. Flora Ellen 4/192/384.  
MILLSON William 4/247/494.  
MILLWARD Samuel 3/216/432.  
MILNER Annie 4/139/277. Florence 4/53/106. John 4/60/120.  
MILNES Sarah 3/221/441.  
MILTON Philip 3/125/250.  
MIRFIN Arthur 4/192/384.  
MITCHELL Elizabeth 4/6/12. John Henry 4/131/262. William 3/114/228.  
MITCHIE Albert 4/238/475.  
MOAT John 3/206/411.  
MOORCROFT William Henry 3/96/191.  
MOORE Amelia 3/102/203.  
MORLEY Frank 3/68/136. Martha 3/173/346.  
MORRELL Sarah Ann 4/12/25.  
MORRIS Clara 4/193/385. Tom Slater 3/134/268.  
MORTIMER Annie Elizabeth 4/216/431.  
MORTON Amelia 4/24/47. George Fred 4/68/136. Sarah 3/200/400, 4/62/123.  
MOSELY Reuben 3/85/170. Wilfred 3/67/133.  
MOSLEY George William 4/51/102, 3/207/414.  
MOSS Eliza 3/54/107. Sarah Jane 3/60/120.  
MOULTON William 3/19/37.  
MOUNTFORD Edward 4/165/330.  
MULLINS Ada Annie 4/177/354. Agnes 3/83/165. Alfred Ernest 4/226/452.  
MUNDAY (MUNDE) Frederick 3/58/116. Jonathan 4/22/43. Selina 4/32/63.  
MUNKS John Henry 4/42/83.  
MUSCROFT Mary Ann 3/55/109.  
MUSSEY Joseph 4/60/119.  
MYCOCK Mary Hannah 4/125/249.  
  
NASSAU John William 4/155/309.  
NAYLOR Agnes 3/106/212. Arthur Frederick 3/154/307. Elizabeth Chapman 3/33/66.  
William Stevenson 3/156/312.  
NEEDHAM Aaron 3/173/345. Annie 3/225/450. Henry 3/14/27, 3/119/238. Thomas 3/128/255.

NEVES Charlotte 3/51/101.  
NEVITT Minnie 4/211/422.  
NEWBOULD Annie 4/160/319.  
NEWMAN Sarah 3/40/79.  
NEWSOME Mary Alice 4/58/116. Thomas 4/111/222.  
NEWTON William 4/12/25.  
NICHOLLS (NICHOLAS) Clara 3/209/417. George 3/230/459. Frederick William 4/138/276.  
NICHOLSON Helliner 4/100/199.  
NOBLE William 3/189/377, 3/219/438.  
NODDER Thomas Henry 3/135/269.  
NOLAND Isabella 4/239/477.  
NORCLIFFE Fanny 4/206/412. John Henry 4/203/406.  
NORMANTON Sarah Hannah 3/202/404.  
NORRIS Mary Ann 3/137/274.  
NORTH Isaac 3/203/405.  
NORTHGRAVE(S) Edith 4/195/389. Mary Eliza 4/243/485.  
NORTON Walter 4/68/135.  
NULTY Margaret 3/145/289.  
NUTTALL John 3/216/431. John Brammer 3/13 4/267.

OAKLEY Herbert 4/121/242. ~~MATES~~  
OATES Ann Elizabeth 4/211/421. George 4/232/463.  
OGDEN Jane Elizabeth 3/42/84. Mary Alice 4/136/272.  
OLDALE Alfred 3/56/111.  
OLDHAM Agnes Emily 4/129/258.  
OLIVER Louisa 4/80/159.  
OSBORNE Robert Henry 4/30/60.  
OTTLEY John 3/198/396. William 3/81/162.  
OVEREND Charles 4/45/89. Joseph 3/92/183.  
OXER Thomas Henry 4/208/416.  
OXLEY Ann 4/126/251. Arthur 3/183/366. Mary Ann 4/124/248. Mary Elizabeth 3/155/310.  
 Robert 4/26/51.

PACE George Henry 4/31/61.  
PADLEY Frank William 4/6/12.  
PAGE Emily 4/55/109. Mary Elizabeth 4/16/31.  
PAGET Amy Goodwin 3/235/470. Ann Elizabeth 3/113/225. Theresa 4/74/147.  
PAISLEY John 4/109/217.  
PAKEMAN Eliza Ann 3/111/221.  
PALFREYMAN Charley 4/231/462. Mary 3/94/187.  
PALMER Alice 4/244/488.  
PANTER Caroline 4/183/366.  
PAPE Elizabeth 4/1/2.  
PARKE Frederick 4/99/198.  
PARKER Angelina 3/37/73. Eliza 3/188/376. Fanny 4/53/105.

PARKIN Annie 4/224/447. George 4/140/280. Mary Elizabeth 4/56/111.  
PARVIN Annie 4/152/304.  
PASHLEY William 3/184/368.  
PASS Elizabeth 3/133/265.  
PAYNE Letitia 3/207/413.  
PEACE Mary Ann 3/19/38.  
PEACOCK Elizabeth Harriet 4/229/457.  
PEAKER Jane Elizabeth 3/29/58.  
PEARCE (PEARSE) Harriet 4/92/184. John Charles 4/211/422. Sarah Hannah 3/249/497.  
PEARSON John Richard 3/59/118.  
PEEL Alonzo 4/35/70.  
PENNINGTON Edward 4/191/381. Jane 4/165/329. Lottie 4/237/473. William Henry 3/124/248.  
PENNOCK Thomas 3/113/225.  
PERKINS Walter 4/19/37.  
PERRY Elizabeth 3/216/431.  
PETERS Eleanor 4/192/383. Mary Ann 4/249/497. Matthew 4/114/227.  
PHAIL Charles 4/245/490.  
PHEASANT Thomas 3/176/352.  
PHENIX Harriet 3/178/355.  
PICKERING Ada 3/223/446. Frances Sarah 3/112/224. Robert Colver 3/130/260.  
PICKUP Rosetta 3/20/40.  
PINDER Frank 4/84/167. Joseph 3/214/428. Thomas 3/82/163.  
PINCOTT William George 3/212/424.  
PITTS Bernard 4/57/113. Harriet Annie 3/5/9.  
PLANT Cassandra 4/170/340.  
PLATT Sarah 3/157/313.  
PLIMER Thomas Frederick 4/182/363.  
PLOWMAN Eleanor 4/69/138.  
POGSON Rebecca 4/76/152.  
PORTER James 3/90/180.  
POWELL Annie Eliza 4/87/173. Benjamin 4/208/415. Ellen 3/250/500.  
PRECIOUS Oswald George 4/158/315.  
PRESKITT John 3/95/190.  
PRESSLEY Abram 3/11/21. Annie 4/26/52. Clara 3/185/369.  
PRESTON Annie Maria 4/120/240. Job 3/92/184.  
PRICE Alfred 3/39/78. Fred 4/186/372. William Maloney 3/139/278.  
PRIEST Alice 3/197/394. Frank 4/147/293.  
PRIOR Mary 4/202/404.  
PUDDICOMBE John Richard 4/135/270.  
PURSER James 4/141/282.  
  
QUICK Mary 3/66/131.  
QUIN Mike 3/101/201.  
QUIRK Mary Ann 4/207/413. Sarah 3/30/59.

RADFORD Ellen Elizabeth 4/169/338. Francis John 4/124/248. Louisa Ann 4/191/382.

Mary 4/161/322.

RAFFERTY Mary 3/184/368.

RAISTRICK Caroline 3/64/128.

RATCLIFFE Elizabeth 3/166/331. William Henry 3/234/467.

RAWSON Agnes 3/89/178. Annie 3/138/275. Harriet 3/100/299.

RAYNES Richard William 3/104/207.

READER Elizabeth 4/31/61.

REANEY Christopher 3/157/313. Thomas William 4/18/36.

REDDECLIFFE Alexandrina Henrietta Augustina 3/125/249.

REDFEARN Fred Nailor 3/202/403. Mary Elizabeth 3/151/302. Zillah Naylor 3/88/175.

REDGATE John 4/227/453.

REED (READ) Annie 3/191/381. Henry 3/181/361.

REES Albert 4/233/466. William 4/235/469.

REESON Mary 4/79/157. Ruth 4/99/197.

REGISTER Walter 3/148/295.

RENSHAW Bernard 4/224/448. Germyn 3/108/215.

REVILL Annabella 3/104/208.

REX Hannah Elizabeth 3/14/28. Thomas 3/220/440.

REYNOLDS William 3/78/155.

RHODEHOUSE John William 4/50/100.

RHODES Morris 3/235/469.

RICHARDS William 4/45/90.

RIDGE Joseph 4/200/400.

RIDGWAY Alice Maud Mary 4/157/313.

RIELLEY Margaret Annie 4/170/339.

RILEY Elizabeth Kate 4/158/315. John 4/199/397. Polly 3/215/430. Robert Garmom 3/38/76.

RIPPON Bertha Annie 3/149/297.

RIVINGTON Albert 3/241/481. Mary 3/245/490.

ROBERTS Alice 3/133/266. Andrew 3/54/107. Arthur 4/47/94. Francis 3/35/69. John 3/155/310,  
4/82/163, 3/206/411. Sarah Ann 3/164/327. Thomas 4/25/50.

ROBERTSON Mary Jane 3/16/31.

ROBINSON Daniel 3/214/427. Emily 4/6/11. Ernest 4/210/420. George 4/123/245. James  
3/154/308. Kate 4/83/166. Lilly 4/161/321. Mary Ann 4/101/201. William Thomas  
3/100/200.

ROBSON Tom Kelham 4/222/443.

RODGERS Annie 4/33/65. Elizabeth 3/123/246. James 4/95/189. John 3/152/303. John Thomas  
3/176/351. Marion 4/180/359. Squire 3/62/124.

ROEBUCK Alice 4/104/207. Henry 3/168/335, 4/81/161.

ROLLINGS Charles 4/168/335.

ROPER George 3/35/70, 3/136/272, 3/173/346. Sarah Ann 3/139/278. Thomas 3/37/73.

ROSE John Albert 3/246/492. Samuel 3/52/103. Walter 3/30/59.

ROSS Emily 3/156/311. Sarah 3/154/308. William 3/151/302.

ROSSINGTON John Frederick 4/61/122.

ROTHERHAM Harriet 3/108/215. Theresa 3/132/263.  
ROWBOTHAM Marian 3/36/72. Sarah Ann 3/125/250.  
ROWDEN Elizabeth 3/3/6,  
ROWLAND Arthur Justice 3/45/89. Edith 4/131/262. William Henry 4/248/496. Willie 4/119/237.  
ROWLEY Ann 3/136/271. Archbald 4/151/301. Florence 3/120/240.  
ROWLETT Tryphenia 4/77/154.  
ROYLES John William 4/193/386.  
RUDD John 4/28/56.  
RUGLEN Andrew John 4/11/22.  
RUSHWORTH Leonard 4/220/440.  
RUSSELL Arthur 3/203/406.  
RYALLS Alice 4/89/177. Benjamin 3/234/468. Louisa 3/38/75. Maria 3/220/439. Mary 3/37/74.  
 Sarah 3/246/491.  
RYCROFT Thomas 3/178/355.  
RYDER Sarah Alice 4/181/361.  
RYLAND William 4/96/192.  
  
SALT Walter 3/151/301.  
SAMPSON John 3/75/150. Mary Jane 4/120/239. Thomas 4/183/366.  
SANDERS Philip, 3/24/47.  
SANDERSON Edith 4/64/127. Louisa Maud Mary 4/125/250. Fred 3/121/241.  
SANDFORD Mary Jane 3/218/435.  
SAVAGE Harriet 3/131/262.  
SAVILLE Martha Ann 3/28/55.  
SAWTELL Annie 4/103/206. Arthur 4/199/398. Mary Ellen 4/106/211.  
SAYLES Joe 4/106/212. Theresa 4/238/486.  
SCHOFIELD James 3/231/462.  
SCOTT Amos 3/200/399. Arthur Douglas 3/233/466. Austin 3/174/347. Edward 4/187/373.  
 Ellen Harriet 3/10/20. Mary Elizabeth 3/180/360. Raymond Edmund 3/41/81.  
 Robert 4/66/131. Walter 4/49/97.  
SCRIMSHAW Mary 3/110/219.  
SEARLES John 4/224/447.  
SEEDHOUSE Edwin 4/108/216.  
SEELEY William 3/160/320.  
SELBY Sarah 3/158/316.  
SELWOOD William Henry 4/124/247.  
SENIOR Emily 4/228/455. George 3/7/14.  
SHANNON Dominic Thomas 3/30/60.  
SHAW Charlotte Mary 4/199/398. Clement 3/247/493. Ellen 3/167/334, 4/39/77. Ernest John  
 3/77/154. George William 3/112/224. Harriet 3/17/34. John 3/150/300. Mary Ann  
 3/152/304. Samuel Alfred 3/243/486. Sarah 3/147/294. Sarah Ellen 4/202/403.  
 Selina 3/25/50. William Henry 4/77/154.  
SHELDON Ebenezer 3/96/192. Florence 4/106/212. Fred 4/161/321. Stephen 3/235/470.  
 William Henry 4/15/29.

SHEMELD Percy 4/221/441.  
SHENTON John 3/128/256.  
SHEPHERD John William 3/204/407. William 3/22/43.  
SHIPLEY Elizabeth 3/175/349.  
SHIPMAN Eliza 3/204/407.  
SHIRA Jane 3/41/81.  
SHORTLAND Emily 3/11/21.  
SRIVES John Thomas 4/53/105.  
SILCOCK George Burkinshaw 4/6/11.  
SILLS John 3/46/91 .  
SILVERWOOD Alice 4/109/217.  
SIMCOX Caroline Rachel 3/166/332.  
SIMMONDS James Reed 4/188/375.  
SIMMONITE Frank 3/97/193. Harriet Ellen 3/115/230.  
SIMPSON Robert 3/21/42. Walter 4/38/75.  
SKEEMER Elizabeth 4/15/30.  
SKELTON Robert 4/107/213.  
SKIDMORE Sarah Jane 3/146/292.  
SKINNER Matthew 4/28/55. Selina 4/194/387.  
SLACK Alice 4/231/462. Nancy Grubb 4/52/104. William Henry 4/228/456.  
SLAWSON Florence 4/23/45.  
SLEAFORD Herbert 4/201/402.  
SLINGSBY Arthur 4/176/352. Clara Ellen 4/187/374. Sarah Ann 3/108/216.  
SLINN Harriet 3/198/395.  
SMART Eliza 3/117/234.  
SMITH Agnes 4/4/8. Charles 3/29/57. Charlotte 4/130/259. Edward 3/108/216. Elizabeth  
3/220/440. Ezra 3/122/243. Frederick William 4/85/170. George 3/97/194, 3/153/305,  
4/149/297. Harry 3/165/330. Jane 3/233/465. John 3/106/212. Lilliam 4/195/390.  
Margaret 3/45/90. Mary Ellen 4/82/163. Mary Jane 3/12/23. Sarah 4/196/392.  
Tom 3/126/252. William 4/20/40. William Charles 4/220/439. William James 4/89/178.  
SMITH-DACK Elizabeth Simmons 4/174/347.  
SNAPE Hannah Ethel 4/219/438.  
SNOWLING Mary Jane 3/234/467.  
SOMERSET John 3/242/484, 4/129/257.  
SORBY Mary Elizabeth 4/71/142.  
SPEARER Caroline Christine 4/250/499.  
SPEED Elizabeth 4/60/119.  
SPENCER Herbert 4/125/250.  
SPETCH Joseph Vasey 4/90/179.  
SPILLING Margaretta 4/69/137.  
SPITTLE Abraham 4/130/260.  
SPOONER William Hovey 3/211/422.  
SPOTSWOOD Mary Jane 3/134/267. Thomas 3/210/420.  
SPRECKLEY Ada 3/216/432.  
STACEY Harry 4/39/77. Thomas 4/146/292.

STANDRIN Eunice 3/173/345.

STANFORTH Elizabeth 3/17/33. Sarah Ann 4/190/380.

STANILAND (STANLAND) Emily 4/135/269. Henry 3/215/429. Lucy Clara 4/203/406.

STANLEY Annie 4/49/97.

STAPP Arthur 4/61/121.

STARKEY Lucy 3/65/130.

STATON Thomas 4/33/66.

STAVELEY Walter 4/24/47.

STEINLE Lene 3/240/479. Magdalene Johanna 3/99/197.

STEVEN(S) Joseph Thomas Walter 4/246/486. Raymond Montreville 4/73/145.

STEVENSON Barbra 3/208/415. John 3/28/55. Phoebe 3/81/162.

STEWART George 3/241/482.

STIFF Sarah Jane 4/20/39.

STIRGESS Marshall Stephen 4/63/125.

STOCKS Alfred Henry 3/34/67. Arthur 4/142/284. Charles 3/175/350. Louisa 3/172/343.  
William 3/73/146.

SFOKES Bertha Caroline 4/119/237. John Henry William 4/14/28. John Thomas 3/244/487.  
Sarah Ann 3/107/213.

STONES Annie 3/101/202. Arthur 4/64/128. Clara 3/82/163. John 4/91/181. Lucy Annie  
4/25/49. Mary Ann 3/159/317. Sarah 4/35/69. Thomas 3/204/408.

STORRS Harriet 3/135/269.

STOTHARD Hugh 4/88/175.

STRAFFORD Sarah Elizabeth 4/142/284. Sidney Harry 3/75/149.

STREETS Clara 3/205/410.

STRINGFELLOW Isaac Parker 3/37/74.

STUBBINS Frank 4/185/370.

STURDY William 4/105/210.

STURTON Polly 4/248/495.

SWABY Joseph Boocock 4/190/379.

SWAIN Alfred 3/31/62.

SWANNACK William Herbert 4/145/289.

SWIFT Fanny Webster 4/85/170. Maria 3/165/330. Mary Ann 3/122/243. Mary Emma 4/118/236.  
Walter 3/209/417. William 4/234/468.

SWINDEN Kate 3/85/169.

SYKES Jane 4/230/459. John 3/159/318. Walter 4/195/389.

TADMAN Clara 4/113/226.

TAGG Mary Hannah 4/72/144.

TALBOT Charles 3/87/174.

TALKS John 4/184/368.

TAMLYN Elizabeth 3/194/388.

TANDY George Arthur 3/12/24.

TANFIELD Henry 3/127/254. Mary Ellen 3/211/421.

TATTERSALL (TATTERSHALL) Fanny 4/45/99. Thomas 3/15/30.

TAYLOR Annie Elizabeth 3/159/318, 4/226/451. Annie Elizabeth Wysehall 4/189/378.  
 Annie Marrie 4/183/365. Charles May 4/214/428. Eliza 3/9/18, 3/212/423. Elizabeth  
 3/39/78. Hannah 4/73/146. John 4/92/184. Lily 4/124/247. Mary 3/109/217. Mary Ann  
 3/22/43. Sarah Ann 3/143/285. Sophia 4/126/252. William Robert Evans 3/207/414.  
TEASDALE Albert Joseph 4/56/112. Lewis 3/100/199.  
TEBBUTT George Norris 4/212/423.  
TELFOR Jessie 4/40/80.  
TENNANT Albert 4/76/152.  
THOMPSON Emily 3/244/487. Henry 4/216/431. James 3/218/435, 4/176/351. John Charles  
 3/239/478. Richard Robert 4/207/413. Sarah Ann 4/232/464.  
THORNTON William Henry 4/38/76.  
THOROUGHGOOD Elizabeth 3/248/496.  
THORPE James 3/86/171. John 3/113/226. John Henry 4/72/144. Kezia 3/107/213.  
 William Henry 4/84/168.  
THULBOURN(E) Alexander 4/44/88. Edward 4/250/500. Florence Catherine 4/95/189.  
THWAITES William 4/169/337.  
TICKNER Minnie 4/229/458.  
TILL James 3/111/221.  
TILNEY George 3/242/483.  
TINGLE George William 3/229/457.  
TINSLEY Sarah 3/164/328.  
TODD Clara 4/206/411. Theresa 4/213/426.  
TOFIELD William 3/140/279.  
TOLL Mary Ann 4/82/164.  
TOOTHILL Linley 4/154/308.  
TOPHAM Elizabeth 3/36/71.  
TORR Mary Evelyn 4/172/344.  
TORRY George 4/183/365.  
TOWNSEND Martha 3/142/283. Mary 3/80/160. Walter 4/24/48.  
TOYNE Ann 3/141/281. Annie 3/72/144. John 3/186/372.  
TOYNTON Harriet 3/79/157.  
TRAFFORD John Thomas 3/70/140.  
TRAVIS Alfred Edwin 4/246/492. Frederick 4/102/204.  
TRELOAR Emily 4/34/67.  
TRINDER Grace Anna 3/76/151.  
TRUMAN Eliza 3/241/481.  
TUGBY Eliza 4/150/299. Sarah 4/135/270.  
TURNER Angelina 3/183/365. Caroline 3/35/35/69. Frederick 3/224/447. George Arthur  
 4/74/147. Hannah Elizabeth 4/174/348. Harriet 4/127/253. Henrietta 4/243/486.  
 Lucy 3/70/139. Mary Ann 3/4/8. Sarah Ellen 3/195/389. William 3/47/93.  
TURTON George 3/187/374. George Henry 4/209/418. James 4/117/233.  
TWIGG Albert 3/109/217.  
UNDY Mary Ann 3/86/172. Richard 3/66/131.  
UNWIN Albert 3/197/393. Annie 4/168/336. Edwin James 3/206/412.

VANCE William 3/88/176.

VAUGHAN Frank 4/8/16.

VERNER Alice May 3/202/403.

VERNON Thomas Elijah 4/182/364. William 3/217/433.

VICKERS George 3/71/141. John Arthur 4/222/444. Sarah Ann 3/171/341.

WADE Fanny Maria 3/71/141.

WAGSTAFFE Elizabeth 4/93/185.

WAIN Sarah Ann 3/127/253.

WAIT Jane 3/194/387.

WALKER Albert 3/166/332. Elizabeth 3/97/193, 3/189/377. Joseph 4/23/46. Margaret 3/171/342.  
Mary 3/240/480. Mary Ann Clayton 3/43/185. Thomas 3/244/488. William Stephen  
3/50/99.

WALL (WHALL) Ernest 4/219/437. Sarah Ann 3/177/353.

WALLIS Herbert 4/240/480.

WALTERS Elijah 3/152/304. Matilda 3/245/489.

WALTON Elizabeth 4/133/266. Fanny 3/27/54. Frederick 4/87/173. James 3/83/166.

WARD James Aslin 3/233/465, 4/85/169. Jane 4/147/293. Willis Skipworth 4/203/405.

WARMAN Mary Ann 4/173/345.

WARNER William 3/87/173.

WARREN John Henry Haslam 3/1/2.

WARRIS Thomas 4/128/255.

WATERHOUSE Eliza 4/14/27. George 4/175/349.

WATSON Annie Elizabeth 4/23/46. Edward 3/111/222.

WATTS Mary 4/71/141.

WEAR William 4/87/174.

WEATHERHEAD John 4/8/15.

WEBSTER Charles 3/188/375.

WEGERN William 3/146/291.

WELLS Jane 3/6/12. Lillian Charlotte 3/187/374. Walter 3/13/25.

WESTLEY Alice Mary 4/149/297.

WESTNEDGE Joseph 4/46/91.

WHARREN William John 3/193/386.

WHEATCROFT Walter 4/137/274.

WHITAKER John Thomas Carr 4/134/268.

WHITE Ann 3/165/329. Emily 3/15/29. Emma 3/45/89. Frederick William Andrew 3/160/319.  
George 3/205/409. Hannah 3/49/98. John 3/48/95. John Thomas 4/62/123. Walter  
4/10/19. Walter Bocking 4/37/74. William James 3/202/404.

WHITEHEAD James 4/138/275. Mary Ann 4/201/402.

WHITELEY George 4/135/269.

WHITHAM Mary Ann 3/138/276. William 4/127/253.

WHITTINGTON Elizabeth 3/23/45.

WHITTON Harry 4/71/141.

WIDDISON John 4/16/31.

WIGLEY Thomas Horace 3/232/463.

WILDGOOSE Frederick 4/186/371. Harriet 4/33/66.

WILES Jonathan 3/5/10.

WILKES Sarah Elizabeth 4/223/446.

WILKINS Ann 3/52/103.

WILKINSON ANN 3/188/375. Annie Elizabeth 3/61/121. Emily 3/24/47. James Lawrence 3/2/4.

Mary Elizabeth 3/55/110. Sarah Elizabeth 4/57/113. Walter 3/55/109.

WILLETT Anna 4/29/57.

WILLEY Mary Gee 3/40/80.

WILLIAMS Sarah Jane 3/236/472.

WILLIAMSON Arthur 4/47/93. William 3/169/338.

WILLIS Edward 3/250/500.

WILLS George 3/71/142.

WILSON Amelia Sistine 4/67/133. Charles 3/191/381. Elizabeth 4/155/309. Emma 3/90/180.

Frederick 3/230/460. George 4/122/241. James 4/184/367. Joseph 3/232/464.

Josiah 3/67/134. Martha Ellen 4/76/151. Phoebe 3/96/192. Sarah Ann 3/130/260.

Thomas 3/42/84, 3/68/135.

WINDLE Sarah 4/18/35. William Henry 4/221/442.

WINEMAN Frederick Mount 3/208/416.

WINFIELD Mary Percilla 3/28/56.

WINFROW George 4/134/267.

WINGFIELD Joseph 4/166/331. Lewis Littlewood 4/179/357. Maryann 3/126/252.

WINNELL Henry 3/237/474.

WINTER William 4/5/10.

WITTMAN Karoline 3/248/495.

WOLSTENHOLME Albert 3/148/296. Clara 3/206/411. Walter 3/172/343. William 4/215/430.

WOOD Agnes 3/158/315. Alice 4/41/82. Bessie 4/49/98. Ellen Fanny 4/47/93. Henry 3/157/314.

Theresa 3/107/214. Tom 4/235/470.

WOODCOCK Emma 3/241/482. Florence Mary 4/204/408.

WOODHOUSE George 3/58/115.

WOODWARD Daniel 3/245/490.

WOOLHOUSE Henry 3/199/398. Mary Ellen 4/190/379.

WORDSWORTH David 4/114/228.

WORRALL Samuel James 3/64/127.

WORTHINGTON Alice 4/236/471.

WORTLEY Mary Ann 4/166/331.

WRAGG George 4/9/17. Sarah Ann 4/5/9, 4/22/44.

WRIGHT Ada Bird 3/170/340. Albert 4/126/251. Annie 3/87/173. Charles 3/29/57. Clara

4/179/358. Elizabeth 4/146/291. Emily 3/124/247. Emma 3/93/185, 3/124/248.

Emma Jane 3/191/382. Francis 3/27/54. Hannah 3/15/30. Henry 3/177/354. James

3/65/129. Joe 4/99/197. Joseph 4/35/69. Kate Emma 3/57/114. Luisa 3/243/486.

Nathaniel 4/151/302. Richard 4/193/385. Walter William 3/180/360. William Henry

3/193/385.

WYATT James Edward 4/195/390.

WATES John Ashley 4/77/153. Millicent Jane 3/212/424.

YEARDLEY Mary 3/163/326.

YEOMANS Emma 4/101/202.

YOUNG George 3/148/295.

ZIEGLER John 4/76/151.

END OF INDEX TO BOOKS 3 & 4

ST. PAULS CHURCH  
MARRIAGE REGISTERS HELD AT SHEFFIELD CATHEDRAL

BOOKS 5, 6, 7.

( REGISTERS No. ST.P 16, 17, 18.)

AGUST 1900 TO NOVEMBER 1937

Transcribed By ELAINE SMITH

Indexed and Typewritten By KEITH BLAGDEN

BY KIND PERMISSION OF THE PROVOST

THE VERY REV. W.F. CURTIS A. K. C.

Prefix number denotes book

2nd numerals denote page number

3rd numerals denote entry number

\* denotes name out of sequence

## BOOK 5

5/1/1	Harry Barraclough Coombs	Gertrude Stewart Barker
5/1/2	Thomas Henry Lambert	Elizabeth Clover
5/2/3	William White	Clara Hudson
5/2/4	Robert Cotterill	Louisa Mullins
5/3/5	Thomas Sheldon	Mary Ann Skinner
5/3/6	John Clarke Mills	Blanche Partridge
5/4/7	John Oldale	Mary Jane Bestwick
5/4/8	Ernest Jones	Mary Elizabeth Coombs
5/5/9	Samuel Herrobin	Elizabeth Marshall
5/5/10	William Greaves	Clara Stacey
5/6/11	Ernest Dewsnap	Cordelia Bradley
5/6/12	Charles Potter	Rosina Howard
5/7/13	Ernest Gee Pemberton	Florence Maxfield
5/7/14	Ernest Allan Cooper Adams	Floza Price
5/8/15	Irvine Crawshaw	1901 Mary Ann Johnston
5/8/16	Charles Green	May Briggs
5/9/17	Edward Marshall	Annie Bithea Morrison
5/9/18	William Fisher	Mary Duke Chappell
5/10/19	Joseph Powell	Florence Rudge
5/10/20	Tom Vardy	Mary Emma Carr
5/11/21	James Tomlinson	Jane Elizabeth Robson
5/11/22	Arthur Jowett	Eveline Adcock
5/12/23	George Taylor	Florence Smith
5/12/24	John William Bolsover	Pollie Shaw
5/13/25	William Pressley	Ada Ann Shaw
5/13/26	Frank Burbidge Mason	Lucy Wilkinson
5/14/27	Lewis Swift	Betsy Torry
5/14/28	Thomas James Williams	Hannah Higgins
5/15/29	William Charles Smith	Florence Hannah Frith
5/15/30	Sydney Herbert Staniforth	Annie Oldale
5/16/31	George Couch Taylor	Elizabeth Hawksworth
5/16/32	Cuthbert Potts Bull	Ann Sills
5/17/33	Herbert Lee	Hilena Trickett
5/17/34	George Leonard Kemp	Sarah Ann Fox
5/18/35	Albert Turton	Harriet White
5/18/36	Frederick Wood	Annie Heath
5/19/37	William Bell	Mary Davis
5/19/38	Arthur Wilson	Harriet Ward
5/20/39	Albert John Ballinger	Fanny Kenning
5/20/40	Henry Fleming	Eliza Hannah Torr Cavell
5/21/41	Edwin Walker	Polly Bunting
5/21/42	Thomas Dalton	Sarah Ellen Whitney
5/22/43	Charles Mycock	Sarah Ann Pattison
5/22/44	Joseph Henry Smith	Hannah Allinson

5/23/45	Fred Hatfield	1902	Mabel Price
5/23/46	William Gray		Mary Ann Charlesworth Lomas
5/24/47	William Henry Staley		Eliza Ann Burrow
5/24/48	Fred Siddon		Nancy Cowley
5/25/49	John Gray		Jennie Ledger
5/25/50	William Edward Mattinson		Elizabeth Harrison
5/26/51	James Edward Laythorne		Margaret Jane James
5/26/52	Charles Henry Sanderson		Ada Clegg
5/27/53	Fred Wells		Eliza Ann Fisher
5/27/54	Thomas Cooper		Mary Panter
5/28/55	Harry Hobson		Nellie Eaton
5/28/56	Ernest Westridge		Lucy Ellen Belcher
5/29/57	Henry Dobree Leopold		Margaret Stephenson
5/29/58	William Henry Greenhalgh		Laura Malkin
5/30/59	Harry Herbert East		Beatrice Amelia Ellis
5/30/60	Francis Simpson		Frances S. Embley
5/31/61	John William Loversuch		Hannah Brown
5/31/62	John Wheelhouse		Eliza Rusling
5/32/63	George Barr		Lizzie Price
5/32/64	James William Hall		Beatrice Ellen Allsop
5/33/65	John Smith		Sarah Elizabeth Joyce
5/33/66	George Foulstone Tilford		Louisa Maud Hawksley
5/34/67	James Johnson		Betsy Swift
5/34/68	Joe Lee		Elizabeth Wild
5/35/69	Frederick William Bestwick		Ada Elizabeth Travis
5/35/70	Frank Feek		Harriet Charlesworth
5/36/71	Charles Hanneman		Freda Gabhardt
5/36/72	Isaac Biggin Wolstenholme		Libbie Booth
5/37/73	John Edwin Sanders		Amelia Embley
5/37/74	Daniel Philip Edward Barnfield		Lilly Armstrong
5/38/75	Alfred Aspland		Eleanor Caroline Bullers
5/38/76	William Isaac Gibbs		Susanna Burr Atkinson
5/39/77	Joseph Taylor		Lucy Gent
5/39/78	Arthur Bark		Alice Hobart
5/40/79	John Howson		Mary Elizabeth Turner
5/40/80	Ernest Whitworth		Jane Elizabeth Howson
5/41/81	Joseph Mappin		Ada Stamford
5/41/82	Arthur Theodore Smith		Kate Adelaide Tinker
5/42/83	John Mettam		Ann Cartwright
5/42/84	John Henry McCarthy	1903	Hannah Marton Burnand
5/43/85	John William Cramp		Amy Fearnough
5/43/86	Henry Hill		Betsy Oldfield
5/44/87	John Henry Mansell		Nellie Bower
5/44/88	Conrad Egbert Dunbar Dew		Mary Jane Mansell

5/45/89	John Hutchings		Sarah Annie Burgon
5/45/90	Arthur Mills		Harriet Roberts
5/46/91	Alfred Grimes		Selina Burnd
5/46/92	Alfred Feek		Ellen Thursby
5/47/93	Ernest Burgess		Anice Mary Hitch
5/47/94	John Robert Jebson		Ada Hobson
5/48/95	Henry Torry		Lillian Greaves
5/48/96	John Louis Justin Carter		Winifred Eleanor Naylor
5/49/97	Lewis Platts		Harriet Mills
5/49/98	George Henry Barker		Mary Ellen Stopford Taylor Terry
5/50/99	Charles Henry Parkins		Olga Mary Mower
5/50/100	Samuel Bingham		Annie Finnerty
5/51/101	Thomas Goodwin		Amy Maltby
5/51/102	Horace Arthur Gardner		Lilian Hukin
5/52/103	John Donald Bain		Maria Marsdem
5/52/104	James Cryer		Julia Annie Bain
5/53/105	James Owem		Annie Emma Ezard
5/53/106	William Henry Johnson		Kate Alice Bamford
5/54/107	William Harrison	1904	Elizabeth Hopkinsom
5/54/108	John Benjamin May		Ethel Elizabeth Harwey
5/55/109	Joseph Henry Cordingley		Annie King
5/55/110	Edmund John Sullivam		Ethel Maud Thompsom
5/56/111	Joseph Gregory		Sarah Ann Thompsom
5/56/112	Ellis Henry Holling		Lydia Pearson
5/57/113	Frank Clayton		Blanche Mycock
5/57/114	Thomas Hodgkinson		Minnie Louisa Wallwin
5/58/115	Arthur Gough		Millicent Marsdem
5/58/116	Frank Johnson		Annie Marsh
5/59/117	Joseph Stancer Beaumont		Sarah Helen Hitch
5/59/118	William Barnes		Margaret Allan
5/60/119	Ernest Henderson		Annis Oakes
5/60/120	George Morton		Lilian Maud Rex
5/61/121	John Edward Fellows		Selina Elizabeth Abbott
5/61/122	Henry Millington		Sarah Elizabeth Wilson
5/62/123	Benjamin Lewis		Lily Akers
5/62/124	Thomas Skidmore		Alice Head
5/63/125	Albert Frederick Cousins		Beatrice Hodgkin
5/63/126	Samuel Taylor		Louisa Millington
5/64/127	Edward Sanderson		Emily Marsdem
5/64/128	Harry Biggin		Ellen Soper
5/65/129	Ellis Edgar Jackson		Kate Oxley
5/65/130	Peter Pieri		Lizzie Staley Cowley
5/66/131	Herbert Smith		Annie Elizabeth Ellis
5/66/132	Frank Robsom	1905	Sarah Shirtcliffe

5/67/133	Joseph Cartwright	Emily Standiland
5/67/134	William Henry Lonsdale	Mary Ann Cowan
5/68/135	James Higgins	Lily Carr
5/68/136	George Brook	Elizabeth Miller
5/69/137	Harry Newey Whitfield	Ada Wright
5/69/138	John William Kay	Sarah Ann Everitt
5/70/139	William Herbert Daniels	Jennie Wilson
5/70/140	Thomas William Waller Wales	Florence Senior
5/71/141	Thomas Lowe	Eliza Seddon
5/71/142	Samuel Vincent	Edith France
5/72/143	Harry Smith	Annie Elizabeth Butterworth
5/72/144	Lawrence Alfred Radford	Lucy Fairfax
5/73/145	Thomas Osgathorpe	Elizabeth Emma Houghland
5/73/146	Benjamin Tromans	Thursa Spwncer
5/74/147	William Saxby	Ann Warren
5/74/148	Joseph White	Lily Colton
5/75/149	Albert Blackburn	Annie Whitney
5/75/150	Richard Bailey	Edith Annie Wilson
5/76/151	Lewis Murrey	Florence Annie Ward
5/76/152	George Henry Turner	Beatrice Alice Bestwick
5/77/153	William Bagshaw	Emma Hoff
5/77/154	John Clive Banbery	Annie Burton
5/78/155	Fred Bardley	Sarah Ann Howe
5/78/156	John Thomas Pattison	Mary Cullen
5/79/157	Robert Heald	Sarah Ann Clegg
5/79/158	Frederick Curtis	Emma Knight
5/80/159	James Biggins	Lucille Annie Brooke
5/80/160	George Meeson	Amy Frost
5/81/161	Charles Frederick Hinchcliffe	Rosetta Wilkin
5/81/162	John Alfred Marlborough	Gladys Dove
5/82/163	John Stanley Jessop	Florence Ann Noble
5/82/164	John Heppenstall	Ellen Homer
5/83/165	George Welbourn	Florence Styles
5/83/166	Harry Wood	Ethel Kempton
5/84/167	Herbert Berry	Beatrice Emily Colyer
5/84/168	Frederick Beatson	Harriet Billard
5/85/169	Ernest William Frost	Sarah Ellen Mayfield
5/85/170	William Henry Hames	Emily Taylor
5/86/171	George Scargill	Kate Morton
5/86/172	Frank Horsley <del>Wales</del> Weightman	Alice Kirk
5/87/173	James Smith	Betsy Elizabeth Cook
5/87/174	Joel Street	Kethurah Harriet Symes
5/88/175	William Montgomery	Mary Ellen Laybourn
5/88/176	Bernard Harry Judge	Maud Wilson

5/89/177	Charles James Gilmore	Ada Jane Saint Hall
5/89/178	Frederick Poole	Susanah Wells
5/90/179	Fredinand Eugen Schmitz	Rosella Mary Deakin
5/90/180	George Gibson	Sarah Ann Smith
5/91/181	James Woolley	Violet Burnd
5/91/182	Albert Henry Davis	Kate Annie Forrestall
5/92/183	Charles Ernest Spearing	Annie Davison
5/92/184	Samuel Wright	Mary Ann Smith
5/93/185	John Philip Wagner	Jane Smith
5/93/186	William Mullins	Louisa Young
5/94/187	John Henry Clark	Maria Louise Clark
5/94/188	George William Sedgwick	Sarah Ann Jones
5/95/189	Charles Cooper	Ann Flaherty
5/95/190	Alfred Wood	Sarah Elizabeth Davis
5/96/191	Albert Shutt	Lily Hammerton
5/96/192	Charles Coupe	Nellie Hammerton
5/97/193	Thomas Bradwell	Annie Mosley
5/97/194	Joseph William Hardy	1907 Sarah Blackwell
5/98/195	Arthur Lawrence Wil som	Maud Ann Cozom
5/98/196	Albert Somerset	Alber Eda Jackson
5/99/197	Thomas Pollard	Sarah Blackburn
5/99/198	William Elsdon	Ruth Claypole
5/100/199	Reginald Percy Teale .	Nellie Traynor
5/100/200	Levi Wharton	Beatrice Jane Spotswood
5/101/201	John Walter Cousins	Florence Lingard
5/101/202	Joseph Billam	Florence Emma Lawton
5/102/203	Joseph Thickett	Ann Eliza Kirk
5/102/204	Thomas Hurt	Beatrice Singletom
5/103/205	Harry Parkin	Sarah Murphy
5/103/206	Fred Thompson	Mary Emma Cross
5/104/207	William Henry Bradshaw	Emma Howson
5/104/208	Robert Johnson	Nellie Wildon
5/105/209	William Henry Beardmore	Mary Jane Broadhead
5/105/210	Walter Lomas	Amy Maxfield
5/106/211	Ernest Edge	Gertrude Gough Haslam
5/106/212	Harry Jagger	May Godfrey
5/107/213	Leonard Godfrey	Lucy Adams
5/107/214	Thomas Sedgwick	Ellen Ridal
5/108/215	Frank Flower	Beatrice Green
5/108/216	William Percy Booth	Florence Beatrice Fry
5/109/217	Joe Latham	Clara Damms
5/109/218	THIS ENTRY CANCELLED	
5/110/219	Frederick Blakey	Clara Beatson
5/110/220	Albert Tingle	Sarah Ellen Cooke

5/111/221	John Mallender	Emma Godfrey
5/111/222	Alfred Briggs	Selina Lowe
5/112/223	Arthur Whitchurch	Florence Sayles
5/112/224	Alexander <del>W</del> Wright	Sarah Robinson
5/113/225	John Louis Johnson	Gertrude Annie Fox
5/113/226	Henry Watson	Minnie Kay
5/114/227	James Frederick Chambers	Annie Smith
5/114/228	Frederick Jenkins Pearce	May Davis
5/115/229	William Henry Smith	Emma Westmidge
5/115/230	William John Rae	Ruby Farnsworth Jarvis
5/116/231	Harry Greaves	Ethel Armitage
5/116/232	George Richley	Florence Edith Edwards
5/117/233	William Arthur Hadfield	Lizzie Charles
5/117/234	Thomas William Walker	Ada Martin
5/118/235	George Henry Cluelow	Lily France
5/118/236	Walter Ernest Fletcher	Charlotte Dalton
5/119/237	Harry Manton Platts	Elizabeth Blanche Turner
5/119/238	James Collins	Florence Nuttall
5/120/239	William Dodson	Mary Edith Bilham
5/120/240	Alfred Furniss	Emily Mettam
5/121/241	Isaac Biggin	Sarah Hannah Fieldsend
5/121/242	Harold Tummon	Esther Elizabeth Mann
5/122/243	Samuel Frederick Blackwell	Mary Ellen Evans
5/122/244	John James Emsley	Beatrice White
5/123/245	William Henry Gamble	Lilian Allsop
5/123/246	Frederick Rupert White	Sarah Ann Walker
5/124/247	George Farley	Sarah Johnson
5/124/248	Thomas Wild	Florence Jackson
5/125/249	John William Robson	Esther Seffers
5/125/250	William Henry Mellor	Emily Jarvis
5/126/251	James Place	Alice Singleton
5/126/252	William Thomas Simpson	Ada Hurst
5/127/253	George Hodgson	Emily Parkin
5/127/254	Fred Nash	Ellen Swain
5/128/255	Walter Anthony Marshall	Mary Ann Horsley
5/128/256	Richard H. Middleton	Marion Pheal
5/129/257	Arthur Bullivant	Hariet Howard
5/129/258	Walter Fidler	Jane Grimes
5/130/259	Robert Marshall Parratt	Emma Wright
5/130/260	Fred Cramp	Kate Franch
5/131/261	Charles Frederick Rossell	Maud Dalton
5/131/262	Herbert Smith	Emma Roseina Osborne
5/132/263	Charles Frederick Scott	Ellen Rensch Walker
5/132/264	George Henry Smith	Ada Woolhouse

5/133/265	Thomas Higgins	Margaret Beatson
5/133/266	William Crofts	Mary Ann Cowburn
5/134/267	Harry Holben	Nelly Armitage
5/134/268	John William Bowling	Mary Ann Johnson
5/135/269	Frederick Ward	Emily West Turner
5/135/270	Thomas Powell	Ada Nellie South
5/136/271	William Sturman	Ellen Dodson
5/136/272	Herbert Credland Johnson	Mary Alice Kay
5/137/273	Joseph Henry Wilkinson	Harriet Bown
5/137/274	Robert Turner	Edith Hill
5/138/275	Thomas Doleman	Florence Reading
5/138/276	Richard Edward Wood	Alice Gibson
5/139/277	Albert Megson	Evelyn Whittaker
5/139/278	Robert Victor Eales	Nellie Staniland
	1911	
5/139/279	Ralph Hibberd	Nellie Bower
5/140/280	Sydney Hobbs	Violet Penelope Ridge
5/140/280	<del>Sydney Hobbs</del> John Cutler	Alice Ann Blackwell
5/141/282	Thomas Corbett	Ruth Forreast
5/142/283	Joseph Barratt	Hannah Elizabeth Hugill
5/142/284	Samuel Claude Batty	Bertha Smith
5/143/285	Herbert William Wood	Ruth Bamford
5/143/286	Henry Keen	Martha Marsden
5/144/287	Arthur Johnson	Ethel Bamford
5/144/288	Thomas Astill	Margaret Armitage
5/145/289	Thomas Redfern Bestwick	Edith Haslam
5/145/290	William Henry Wilde	Sarah Emma Jackson
5/146/291	William W. Dormand	Lucy Steel
5/146/292	John Alfred Frost	Beatrice Broomhead
5/147/293	Frank Brittain	Maria Skidmore
5/147/294	Harry Jow	Annie Ashmore
5/148/295	Benjamin Nuttall	Hannah Wood
5/148/296	Walker Sydney Machin	Annie Farrer
5/149/297	Ernest Hibberd	Emily Reaney
5/149/298	John Thomas McNelly	Mary Maud Lingard
5/150/299	Thomas Gallagher	Eliza Beatrice Davison
5/150/300	Albert Sinclair Fairest	Clara Woodhouse
5/151/301	Joseph Beresford	Mary Ann Rose
5/151/302	John William Wells	Florence Ada White
	1912	
5/152/303	Edward Pitts	Annie Yates
5/152/304	Joseph Alexander Gregory	Lucy Ellen Cardwell
5/153/305	Albert Marsden	Clara Axe
5/153/306	John Lunn	Elizabeth Osborne
5/154/307	John Thomas Nolan	Elizabeth Skelton
5/154/308	Edwin James Alger	Minnie White

5/155/309	James Bathurst	Alice Jenkinson
5/155/310	Charles Arnold Reynolds	Harriet Elizabeth Shaw
5/156/311	John Eaton (otherwisw Heaton)	Miriam Rawlins
5/156/312	Frank Clarke	Lily Burnd
5/157/313	William C <sup>A</sup> ookes	Alice Atkinson
5/157/314	John Hill	Nellie White
5/158/315	William Grayson	Ruth Hall
5/158/316	John Arthur Woolhouse	Amy Hinchliffe
5/159/317	George Henry Barrowclough	Emma Hartley
5/159/318	Fred Cousins	Lily Lingard
5/160/319	William Howarth	Bartha Outram
5/160/320	Thomas Kipling 1913	Minnie Whiteley
5/161/321	Hubert James Musson	Jessie Frances Tillery
5/161/322	Joseph Bacon	Mabel Lingard
5/162/323	THIS ENTRY CANCELLED	
5/162/324	Thomas Fleming	Mary Ann Emsley
5/163/325	George Rowland Bolsover	Dorothy Flynn
5/163/326	Percy Dearden	Maud Louise Fry
5/164/327	William Anthony Mycock	Beatrice Lingard
5/164/328	Frank Awdas Fish	Ruth May Hamilton
5/165/329	John Edward White	Lily Searle
5/165/330	James Henry Hawkins	Annie Elizabeth Jackson
5/166/331	George Heath	Alice Webster
5/166/332	Edward Woodward	Grace Parkin
5/167/333	Alfred Wild	Fanny Wright
5/167/334	Herbert Pearson	Fanny Garnett
5/168/335	Frank Holroyd	Annie Burdett
5/168/336	John William Arderm	Margery Woffindin
5/169/337	Joseph Henry Bolton	Bartha Walker
5/169/338	William Wild	Minnie Webster
5/170/339	George Edward Betts	Mary Silvey
5/170/340	George Arthur Pearson 1914	May Newbould
5/171/341	Lawrence Hirst Price	Mabel Eyre
5/171/342	James Wright	Mary Ann Hodgkin
5/172/343	James Beaumont	Fanny Hukin
5/172/344	Walter Burkin	Annie Howe
5/173/345	William Jessop	Harriet Colgrave
5/173/346	William Roberts	Rose Dixon
5/174/347	Charles Joseph Shuttleworth	Ellen Marshall
5/174/348	Daniel Peters	Nellie Gray
5/175/349	Arthur Grayson	Clara Smith
5/175/350	John Henry Richards	Annie Foulstone
5/176/351	Harry Crofts	Annie Elizabeth Fenton
5/176/352	William Edward Bell	Jessie Green

5/177/353	Joe Laybourn		Edith Annie Lingard
5/177/354	Tom Furniss		Elizabeth Marsden
5/178/355	William Mallinson		Eleanor Goff
5/178/356	Henry Cotterill		Annie Hudson
5/179/357	Ernest Horsepool		Ethel May Dundas
5/179/358	William Hughes	1915	Lily Vasey Spetch
5/180/359	George William Hewitt		Ada Thackwray
5/180/360	Percy Middleton		Emma Needham
5/181/361	William Harrison		Carrie Cooper
5/181/362	Arthur Walker		Florence Sophia Bolton
5/182/363	Joseph Alfred Keen		Martha Ann Purser
5/182/364	Albert Edward Hinchliffe		Beatrice Sarah Lutkin
5/183/365	Fred Parker		Florence Milton
5/183/366	George William Adams		Florence Elizabeth Cawthorne
5/184/367	John Marshall Windle		Emma Louie Parlett
5/184/368	George Walter Swift		Doris Nixon
5/185/369	Frederick Hartley		Annie Elizabeth Laybourn
5/185/370	James Lindenstruth		Florrie Laybourn
5/186/371	John William Law		Florence Evelyn Cole
5/186/372	Francis Vernon Eyre		Florence Platts
5/187/373	Albert Gillott		Edith Osborne
5/187/374	William Bullass		Eliza Hutchinson
5/188/375	Charles Henry Webster		Lillian Gertrude Cary
5/188/376	Thomas Morton	1916	Lillian Roberts
5/189/377	George Masom		Annie Heaton
5/189/378	Albert Nash		Matilda Lowe
5/190/379	John Arthur Senior		Annie Eliza Fearn
5/190/380	Levi Hills		Emma Hopkinson
5/191/381	Henry Palmer		Kate Eaton
5/191/382	Henry Butterley		May Bradley
5/192/383	John Alfred Proctor		Sarah Emma Johnson
5/192/384	Henry Osborne		Martha Thorpe
5/193/385	Enoch Allard		Annie Bellingham
5/193/386	Albert Bingham		Ada Louisa Victoria Hodgkinson
5/194/387	Charles Johnson		Eliza Groves
5/194/388	Bernard Elliott		Eva Annie Marshall
5/195/389	Douglas Cooper		Mary Ann Elliott
5/195/390	John Henry Glenn		Elizabeth Wheatley Tootell
5/196/391	Herbert Gill		Mary Annie Cantrell
5/196/392	John Henry Oxley		Elsie Minsk ip
5/197/393	Ernest Staniland		Phoebe Ann Middleton
5/197/394	Gustavus Thomas Grant		Edith Louisa Cowan
5/198/395	Arthur Johnson		Jane Doris Pearce
5/198/396	Joseph Turton		Kate Skelton

5/199/397	Charles Ardron		Harriet Mayfield
5/199/398	Thomas William Reaney		Annie Elizabeth Smith
5/200/399	Alfred Elmer		Emma Jane Hague
5/200/400	Harry Hinchliffe		Grace Annie Ryalls
5/201/401	John Holmes		Clara Hinchley
5/201/402	George Pedley		Lilian Swain
5/202/403	Harry Fox		Edith Staniland
5/202/404	John Allan Heath	1917	Florence Collishaw
5/203/405	William Henry Kirk		Nellie Binney
5/203/406	John Henry Crutchley		Florence Thorpe
5/204/407	William Holroyd		Phebe Kate Hall
5/204/408	Ernest Harrison		Louisa Bond
5/205/409	Dennis Haslam		Olive May Simpson
5/205/410	James Frederick Heatherly		Frances Farrer
5/206/411	Arthur Caborn		Olive Green
5/206/412	William Dingworth		Matilda Elbrett
5/207/413	Tom Penrith		Margaret Mellor
5/207/414	George Hobson		Muriel Vernon Cox
5/208/415	John Bartzop		Mary Ada Wingfield
5/208/416	Joseph Booker Woollen		Annie Tyrrell
5/209/417	Frank Stanley Redfern		Minnie Hallatt
5/209/418	James Hugh Johnson		Martha Shuttleworth
5/210/419	William Else		Mary Sanders
5/210/420	William Fryer		Edith Beard
5/211/421	Thomas Arthur Singlehurst		Emilt. Towriss
5/211/422	Percy Holmes		Annie Wheeler
5/212/423	Albert Webster		Elsie Royle
5/212/424	John Couldwell		Alice Maud Crofts
5/213/425	Eric Norrmiss		Ada Bradley
5/213/426	Harry Spink		Frances Ivy Damms
5/213/427	Herbert Wild		Annie Lingard
5/214/428	Thomas Hobson	1918.	Alice Carolin McTaggart
5/215/429	Arthur Longthorne		Isabella Heaton
5/215/430	Montague Kemp Musgrave		Kate Mitchell
5/216/431	Arthur Crowther		Alice Brady
5/216/432	Harry Fox		Catherine Parker
5/217/433	John William Burgoyne		Ada Annie Richards
5/217/434	Samuel Walsh		Ada Annie Hodgkinson
5/218/435	Bertram Howard Harrison		Doris <del>LEENEK</del> Leedale
5/218/436	Sydney Goodrich		Florrie Arnold
5/219/437	John William Unwin		Elsie Whitworth
5/219/438	Thomas Henry Sharpe		Lucy Garnett
5/220/439	Sydney Albert Cooke		May Brocksopp
5/220/440	Fred Wilde		Lily Holliday

5/221/441	William Fletcher	Elizabeth Lucas
5/221/442	Walter Worth	Beatrice Barker
5/222/443	George Edward MacBeth	Nelly Crone
5/222/444	James Thomas	Gertrude Kenning
5/223/445	Edward Glossop	Rose Handley
5/223/446	George William Lingard	Annie Elizabeth Wright
5/224/447	Harry Ross	Ethel Farrer
5/224/448	Arthur Saxton Walton	Phyllis May Featherstone
5/225/449	John William Webster	Gertrude Dorling
5/225/450	Samuel Jenkinson	Annie Cotterill
5/226/451	Andrew Taylor	Gertrude Livensidge
5/226/452	Daniel Hughes	Florence Esther Parlett
5/227/453	William Percy Lowth	Elsie Staniland
5/227/454	Herbert Godley	Evelyn Janet Thom(as)
5/228/455	Frank Ascroft	Elsie Moore
5/228/456	Thomas McCraith Foley	Florence Gertrude Porrill
5/229/457	George Alfred Edgar Cooper	Florence Beatrice Neale
5/229/458	Clifton Williams	Doris Nash
5/230/459	George Chambers	Clara Roberts
5/230/460	Thomas Webster	Annie Elizabeth Holliday
5/231/461	Horace Hibberd	Edith Hannah Poole
5/231/462	Fred Sayles	Elizabeth Jenkinson
5/232/463	Frank Allen	Connie Hammond
5/232/464	Wilfred Wells	Frances Ellin Wait
5/233/465	Charles Johnson	Elsie Proctor
5/233/466	John <del>XXX</del> William Yates	Clara Marsh
5/234/467	Thomas Tivnan	Mary Ellen Wann
5/234/468	Joseph Ward	Louisa Sophia Woffindin
5/235/469	Frank Penney	Gladys Wicksom
5/235/470	James Bingham	Elizabeth Hogg
5/236/471	William Joseph Lake	Annie Elizabeth Knowles
5/236/472	William Whitchurch	Lily Cruise
5/237/473	James Charles Emery	Sarah Emma Proctor
5/237/474	Reginald Slee Lyon	Ada Fowler
5/238/475	Albert Fidler	Susannah Furniss
5/238/476	Ernest Young	Nellie Turner
5/239/477	Colin Stephenson	Doris Marie Gould
5/239/478	Francis Middleton	May Billard
5/240/479	John Robert Grant	Minnie Price
5/240/480	Henry Wilde	Elsie May Walker
5/241/481	Gordon Bell	Lily Griffiths
5/241/482	Ernest Collier	Lilian Burton
5/242/483	Frank Store	Agnes Mellor
5/242/484	Charles Windle	Mary Alice Thorpe

5/243/485	George Frederick Ellis	Louise Shearstone
5/243/486	Francis William Gamble	Sophia Elizabeth Todd
5/244/487	Ernest Ryalls	Freda MacBeth Jackson
5/244/488	Charles Ernest Hardy	Elizabeth Merrills
5/245/489	William Sykes	Alice May Batley
5/245/490	Arthur Hopkins	Sarah Sims
5/246/491	Ernest Bagshaw	Lily Milner
5/246/492	Herbert Bearden	Wimifred McQuillan
5/247/493	Thomas Alexander Hill	Clara Frances McBeth Jackson
5/247/494	Joseph Spencer	Florence Megson
5/248/495	William Ernest Turner	Amy Billard
5/248/496	George Henry Wood	Annie May Brockley
5/249/497	Joseph Walker Parkin	Florence Elizabeth Sleaford
5/249/498	Arthur White	Ada Smith
5/250/499	Arthur Thorpe	Dora Annie Oxley
5/250/500	Henry Wood	Frances Turner

END OF BOOK 5 (ST.P. 16)

1920

6/1/1	Sam Sayles		Kate Rose
6/1/2	James Edward Revill	1921	Annie Hextall
6/2/3	Joseph Roome		Eleanor Parish
6/2/4	Walter Birks		Emily Nelson
6/3/5	William Hextall		Beatrice Kohler
5/3/6	Joe Sayles		Clara Marsden
6/4/7	George Walker		Bertha Cliff
6/4/8	John Bryon Ackroyd		Lizzie Staley Pieri
6/5/9	Walter Scott		Ellen Agnes Taylor
6/5/10	James Arthur Murphy		Nellie Wood
6/6/11	Samuel Hodgson Wardle		Doris Nicholson
6/6/12	Frederick Flory		Ethel Wright
6/7/13	Cornelius Whitchurch		Lilian Harlene Thorley
6/7/14	Alonzo James Mozley		Bertha Elizabeth Liversidge
6/8/15	Walter Edmund Vickers		Doris Harriet Davison
6/8/16	Frank Whatham Ward		Allen Allison
6/9/17	Maurice Cyril Vickers		Naomi Myrtle Davison
6/9/18	Archibald Crammer McIlroy		Mary Kenyon Webster
6/10/19	George Hadfield		Ellen South
6/10/20	William Henry Snead		Ethel Hukin
6/11/21	Clarence Smith		Clara Turton
6/11/22	James Jenkin Woffindin		Amy Beard
6/12/23	Arthur Charlton		Ivy Gladys Adelaide Everson
6/12/24	Samuel Edwards		Violet Wright
6/13/25	Clifford Roberts		Ethel Jackson
6/13/26	Arnold Schofield		Ethel Mottram
6/14/27	Edward Fieldhouse		Clara Alice Heald
6/14/28	William Letts		Ellen Akers
6/15/29	James William Barrowclough	1922	Doris Sleemer
6/15/30	John Wild		Edith Emmie Downs
6/16/31	John Sharp		Mary Stamp
6/16/32	George Whitaker		Ann Ada Ullathorne
6/17/33	Harold Hanson		Lily Merrills
6/17/34	William Lofthouse		Frances Ann Downs
6/18/35	John Walter Heald		Ada Kitchen
6/18/36	William Haslam		Rose Ellen Turner
6/19/37	William Charlesworth		Doris Hall
6/19/38	Arthur Allen		Nellie Fletcher
6/20/39	Albert Holroyd		Nellie Hulett
6/20/40	John Wildgoose		Cissie Walch
6/21/41	Joseph Henry Birks		Alice Ada Lambert
6/21/42	Andrew Dale		Eveline Morris
6/22/43	William Dench (Marr. not Solemized)		Jessie Evelyn Endicott
6/22/44	John James Rotchell		Alice Rose Todd

6/23/45	John Ledger	1923	Dorothea Kohler
6/23/46	Herbert Jesse Dundas		Rose Ellen Townsend
6/24/47	Ernest Priestley		Sarah Crookes
6/24/48	William Henry Smith		Florence Wildgoose
6/25/49	Reuben Bourne		Ethel Johnson
6/25/50	Gilbert Needham		Harriet Singletom Priestley
6/26/51	Harold Jessop		Winifred Ibbotson
6/26/52	Harry Hill		Dorothy Alberta Leversidge
6/27/53	Alfred Ernest Dewse		Eveline Holroyd
6/27/54	Edmund John Partridge		Nellie Vellender Shaw
6/28/55	Alfred Fearn		Edith Lilian Slack
6/28/56	George Henry Henchley	1924	Dorothy Lilian Wainwright
6/29/57	Harold Arthur Matthews		Violette Ada Board
6/29/58	Harry Charlesworth		Nora Elliott
6/30/59	George Henry Windle		Ellen Holliday
6/30/60	Harry Grayson		Annie Smith
6/31/61	Linley Toothill		Helen Kelly
6/31/62	Frederick Langard		Emma Hobson
6/32/63	William Hamilton Knowleson		Lily Lee Denton
6/32/64	Walter Dawes		Florence Allisom
6/33/65	Harry Ronald Nance		Annie Elizabeth Williams
6/33/66	Frederick Harry Axe		Florence Hawley
6/34/67	Harold Clarkson		Annie Wethersby
6/34/68	John Edward Milner		Ethel Cowlshaw
6/35/69	George Thorpe		Elsie Paramore
6/35/70	Robert Greaves		Lilian Hunt
6/36/71	William Nicholson		Doris Ellen Dundas
6/36/72	George Phillips		Ethel Smith
6/37/73	Thomas Bolsover		Bessie Bell
6/37/74	Frank William Caswell		Gertrude Rastrick
6/38/75	Alan Edward Harrison		Elsie Moorhouse
6/39/76	Charles Sisman	1925	Hilda Beardshaw
6/39/77	Walter White		Alice Turner
6/39/78	Leonard Foster		Betsy Beedham
6/40/79	George Redvers Mosley		Alice Richards
6/40/80	Ernest Wordley		Catherine Kelley
6/41/81	Frank Atkin		Gladys Parkin
6/41/82	William Foster		Beatrice Toothill
6/42/83	Harry Stocks		Annie Jarvis
6/42/84	John William Fairbanks		Hilda Hayward
6/43/85	Harry Reed		Lilian Arnold
6/43/86	Albert Woollen		Martha Ann Carr
6/44/87	William Green		Evelyn Waring
6/44/88	Frederick Nuttall		Nellie May Searle

6/45/89	Walter Miller		Violet Smith
6/45/90	Percy Wood		Florence Wethersby
6/46/91	Percy Marriott		Edith Murat
6/46/92	Horace Smith	1926	Florence Hill
6/47/93	John William Ford		Nellie Fenwick
6/47/94	George Cyril Fryer		Ellen Grayson
6/48/95	Ernest Holroyd		Nora Enid Mawson
6/48/96	Fred Bell		Constance Bushell
6/49/97	Frank Jackson		Jessie Garrett
6/49/98	Harry Brookes		Nellie Swain
6/50/99	George Hunter		Winifred Fielding Westmidge
6/50/100	James Worrall		Elizabeth Forrestall
6/51/101	Leonard Ledger		Doris Knight
6/51/102	Mark Smallwood		Amy Booth
6/52/103	Thomas Crean		Elizabeth Wright
6/52/104	Jack Bates		Mary Wright
6/53/105	Joseph Barnes		Eileen Wilcox
6/53/106	Thomas Arnold Hill		Dora Worrall
6/54/107	Cyril Mosley		Alice Blackwell
6/54/108	Albert Edward Longley		Kate Fairey
6/55/109	Cyril Beardsmore		Beatrice Letts
6/55/110	Alfred Johnson		Lena Yates
6/56/111	Ernest William Gray	1927	Lily Bettison
6/56/112	Thomas Edwin Mason		Ethel Smith
6/57/113	Willis Mitchell		Eliza Jenkinson
6/57/114	Herbert Wake		Annie Bellamy
6/58/115	Frederick Hinchliffe		Rosina Lilley
6/58/116	Walter Marsden		Eva Self
6/59/117	George Fearn		Gladys Hill
6/59/118	Joseph Woodcock		Dora Johnson
6/60/119	Harry Thorpe		Minnie Murial Bessie Pugh
6/60/120	Willoughby Reaney		Annie Lizzie Higgins
6/61/121	Henry Deam		Constance Axe
6/61/122	Charles Henry Richardson		Elsie May Battle
6/62/123	Percy Dearden		Winifred Froggatt
6/62/124	Leslie Walter Cotton		Anne Kathleen Harris
6/63/125	Alfred Chittenden		Lilian France
6/63/126	Richard Smith		Beatrice Shooter
6/64/127	John Dolby		Elizabeth Fitzpatrick
6/64/128	Walter Dorling		Elizabeth Oldale
6/65/129	John Akers	1928	Bridget Thwaites
6/65/130	Albert Whitehouse		Esther Wilson
6/66/131	Thomas Hinchliffe		Emily Whitworth
6/66/132	William Henry South		Ethel Arnold

6/67/133	Richard Stanley Horton	Emma Mayfield
6/67/134	Philip Ardron	Beatrice Constance Boswell
6/68/135	George Bray	Mona Bartropp
6/68/136	Harry Bell	Sarah Ellen Morton
6/69/137	Joe Reade	Winifred Marion Hardy
6/69/138	Alfred Cooper	Annie Gawthorpe
6/70/139	Albert Gretton	Jane Ann Cooper
6/70/140	Wilfred Watson	Lilian Emma Broadbent
6/71/141	Laurence Murat	Agnes Goadsby
6/71/142	Charles Tingle	May Whitworth
6/72/143	Harry Dale	Annie Bradley
6/72/144	Thomas Shackshaft	Ellen Barker
6/73/145	Percy Smith	Edith Jubb
6/73/146	Tom Pattison	Gladys Wildgoose
6/74/147	Arthur Lund	Edith Craig
6/74/148	Ernest Cope	Alice May Kemp
6/75/149	Herbert Oldale	Doris Sheldon
6/75/150	James Edward Brookes	Gladys Winifred Deakin
6/76/151	Alfred Mallett	Alice Sleaford
6/76/152	Frederick <del>XXX</del> Joseph Ferrazi	Edna Ruth Patience Rolley
6/77/153	Cyril Whitehouse	Alice Ada Holmes
6/77/154	Edward Paxon	Mary Jane Winterbottom
6/78/155	Matthew Sharmam	Miriel Kingston
6/78/156	George Thomas Dixon Sherwood	Beatrice Cousins
6/79/157	Thomas Kay	Annie Gregory
6/79/158	Edwin Buttery	Sarah Ann Cooper
6/80/159	Walter Synyer	Rebecca Firth
6/80/160	Arthur Vincent Johnson	Annie Briggs
6/81/161	Edwin Knowles	Maria Mannion
6/81/162	Albert Johnson	Nellie Sleaford
6/82/163	Frank Peek	Celia Rodgers
6/82/164	George Henry Mason	Florence Johnson
6/83/165	Alf Crofts	Clara Windle
6/83/166	John Edward Nance	Boris Dewsnap
6/84/167	Francis Vernon Hodgkinson	Constance Clara Elizabeth Grayson
6/84/168	Arthur Turner	Edna Kendrick
6/85/169	Colin Parkin	Mary Ann Thorpe
6/85/170	Albert Edward Read	Ethel White
6/86/171	George Herbert Beedham	Ena Longden
6/86/172	Thomas Hill	Annie Eliza Marsh
6/87/173	Alfred Walker	Gladys Gillott
6/87/174	George Robert Atkinson	Gladys Minnie Rolley
6/88/175	Ernest George Cave	Elizabeth Stott
6/88/176	Frank Foster	Laura Dorling

6/89/177	Lewis Moat		Mary Bradley
6/89/178	Harold Homer		Ellen Davis
6/90/179	George Henry Taylor	1931	Isadora Holden
6/90/180	John Cottingham		Eleanor Price
6/91/181	Edward Mosley		Mabel Hill
6/91/182	Joseph Whelan Whitehouse		Edna Briggs
6/92/183	Sydney Wilkinson		Nora Fitzpatrick
6/92/184	John Arthur Rusby		Amy Rawlings
6/93/185	Hubert Withers		Lillian Rowley
6/93/186	James Frederick Myers		Beatrice Brookes
6/94/187	Harold Vyce		Sarah Ann Faizey
6/94/188	Arthur Bunting		Ivy Needham
6/95/189	Lawrence Marsden		Agnes Whitworth
6/95/190	Charles Henry Rodgers		Annie Omriette Greaves Ramsden
6/96/191	John Stuart Bramhall		Jessie Woolley
6/96/192	Percy Higgins		Gladys Shirt.
6/97/193	Frederick George Coath		Mary Elizabeth Thackeray
6/96/194	Samuel Powell		Alice May Hagger
6/98/195	George Bradbury		Nellie Miller
6/98/196	George Godber		Ada Toothill
6/99/197	Aldam Marshall Mills		Florence May Rowney
6/99/198	Alfred Rowney		Mary Hirst
6/100/299	Charles Edward Bradbury		Annie Elizabeth Titterton
6/100/200	George William Whitaley		Alice Morgan
6/101/201	Henry Foens	1932	Isabella Rose Barrow
6/101/202	Charles Harry Peters		Maggie Vera Donnelley
6/102/203	Leslie Wray		Emiline Gothard
6/102/204	Norman Brinton Bloomer		Doris May Hammerton
6/103/205	Thomas Eric Preston		Matilda Reed
6/103/206	Joseph Johnson		Lucy Sharpe
6/104/207	George Trigg		Violet Paramore
6/104/208	Ernest Hibberd		Gwendoline Jenkins
6/105/209	Cyril Hammerton		Clarice Jowle
6/105/210	Philip Allott		Ivy Gladys Adelaide Charlton
6/106/211	Reginald George Hearnshaw		Mary Stringer
6/106/212	Randolph Albert Florentine Bowette		Annie Boyd
6/107/213	Christopher James Dunster		Ivy Green
6/107/214	Samuel Isaac Board		Dorothy Mona Courtier
6/108/215	Walter Broadhead		Eva Miriam King
6/108/216	Edward Roome		Lily Miles
6/109/217	Edward Woodthorpe		Edith Haslam
6/109/218	William Ward	1933	Winifred Gleadall
6/110/219	Alfred Brookes		Mary Elizabeth Stennett
6/110/220	William Hogg		Irene Arnold

6/111/221	Edgar Bolton		Doris Scott
6/111/222	Albert Ernest Pickles		Betsy Mary Redshaw
6/112/223	Fred Woodcock Whitworth		Annie Elizabeth Windle
6/112/224	Harold Twigg		Annie Julia Bullingham
6/113/225	Alfred Broadhurst		Gladys Robinson Day
6/113/226	William Theodore Langford		Hattie Raynes
6/114/227	Hugh Ivan Ramsden		Ada Mallett
6/114/228	William Richard Watkiss		Bartha Ashton
6/115/229	Percy Markham		Mary Alice Windle
6/115/230	Alfred Linley		Elsie Dickins
<del>6/116/231</del>	Gilbert Edwards		Nora Martin
6/116/232	Norman Myers		Constance Cartledge
6/117/233	Fred Martin		Ellen Smith
6/117/234	Geoffrey Rupert Shapp		Jessie Feeney
6/118/235	Frank Walker		Amy Sorby
6/118/236	William Leslie Barber		Doris Partridge
6/119/237	Geoffrey Allison Widdowson		Marjorie Johnson
6/119/238	Charles Cawsey		Olive Turton
6/120/239	Albert Edward Hill	1934	Edith Hopkinson
6/120/240	Joseph Culf		Frances Bardley
6/121/241	<del>XXXXXX</del> Edward Jenkins		Vera Constance Bolton
6/121/242	Horace Mottram		May Cocker
6/122/243	John Alfred Morris		Gertrude Edge
6/122/244	Henry Pryor		Clara Bettison
6/123/245	Charles Edwin Birch		Elizabeth Redfearn
6/123/246	Joseph Cyril Dancer		Mabel Skelley
6/124/247	John Edward Roberts		Barbara Gill
6/124/248	Frank Clifford Walker		Mildred Durham
6/125/249	Willie Fletcher		Elsie Clewley
6/225/250	George Carr		Annie Elizabeth Montgomery

END OF BOOK 6 (ST.P.17)

MARRIAGES ATST. PAULS. CHURCH BOOK 7. (ST.P.18)

7/1/1	Herbert Lucas		Ivy Lingard
7/1/2	Cyril Ward		Beatrice Robinson Day
7/2/3	Charles Osborne Birtles	1935	Florence Amelia Allcroft
7/2/4	George Arthur Tankard		Lily Brown
7/3/5	Bernard Hickton		Ellen Bradbury
7/3/6	Harold Gillott		Florence Raynes
7/4/7	George Henry Beatson		Norah Smith
7/4/8	George Alfred William Edward Bacon		May Scott
7/5/9	Cecil Pickering		Margaret Ramsey
7/5/10	Frederick Hall		Sarah Ann Morgan
7/6/11	Fred Wilkinson		Constance Hogg
7/6/12	Cyril Arthur Whittington		Evelyne Reed
7/7/13	James Frederick Hewertson		Harriet Mitchinson
7/7/14	Arthur Payne		Edith Blanche Taylor
7/8/15	Harry Gosling		Florence Wright
7/8/16	Horace Clayton		Hilda Margaret Hook
7/9/17	Jack Smith		Lily Wild
7/9/18	Frank Dewsnap		Annie Elizabeth Hodgson
7/10/19	Albert Summer		Muriel Jessie Taylor
7/10/20	George Rooke		Beatrice Brown
7/11/21	Bertzam Allen		Catherine Vera Sharp
7/11/22	Robert Ashley		Dorothy Juliette Haynes
7/12/23	Richard Chapman		Phyllis Berry
7/12/24	Samuel Nicholson		Elizabeth Ann Walker
7/13/25	George John William Thompson		Mary Eileen Clode
7/13/26	James Dorling		Nellie Cartwright
7/14/27	Leonard Edwin Theobald		Nellie Turner
7/14/28	Leslie Almond		Hazel Gregory
7/15/29	George Hunter		Josephine Ramsey
7/15/30	Cyril Ford		Iris Ethel Agnes Young
7/16/31	John Leslie Bowler		Ada Cousins
7/16/32	James Harrison		Winifred Selwood
7/17/33	Alfred Bush		Hilda Grace Exton
7/17/34	William Edward Webster		Constance Elsie Slater
7/18/35	Fred Paramore		Annie Osborne
7/18/36	William Henry Thompson		Nellie Johnson
7/19/37	George Henry Hemming		Mabel Johnson
7/19/38	Charles Stringer		Annie Robinson
7/20/39	Denis William Lamb	1937	Margaret Jean Lightfoot
7/20/40	Joseph Dyson		Cecilia Hopkins
7/21/41	Alfred Manton		Elizabeth Frances Mary Slater
7/21/42	Leonard Shirt		Ann Amelia Holmes
7/22/43	Colin Burrows		Freda Emily Marr
7/22/44	Herbert Boyd		Elsie Woods
7/23/45	William Horace Young		Winifred Gill

ABBOTT Selina Elizabeth 5/61/121.

ACKROYD John Byron 6/4/8.

ADAMS Ernest Allan Cooper 5/7/14. George William 5/183/366. Lucy 5/107/213.

ADCOCK Eveline 5/11/22.

AKERS Ellen 6/14/28. John 6/65/129. Lily 5/62/123.

ALGER Edwin James 5/154/308.

ALLAN Arthur 6/19/38. Bertram 7/11/21. Frank 5/232/463. Margaret 5/59/118.

ALLARD Enoch 5/193/385.

ALLCROFT Florence Amelia 7/2/3.

ALLINSON Hannah 5/22/44.

ALLISON Ellen 6/8/16. Florence 6/32/64.

ALLOTT Philip 6/105/210.

ALISOP(P) Beatrice Ellen 5/32/64. Lillian 5/123/245.

ALMOND Leslie 7/14/28.

ARDERN John William 5/168/336.

ARDRON Charles 5/199/397. Philip 6/67/134.

ARMITAGE Ethel 5/116/231. Nelly 5/134/267. Margaret 5/144/288.

ARMSTRONG Lilly 5/37/74.

ARNOLD Ethel 6/66/132. Florrie 5/218/436. Irene 6/110/220. Lillian 6/43/85.

ASCROFT Frank 5/228/455.

ASHLEY Robert 7/11/2 2.

ASHMORE Annie 5/147/294.

ASHTON Bertha 6/114/228.

ASPLAND Alfred 5/38/75.

ASTILL Thomas 5/144/288.

ATKIN Frank 6/41/81.

ATKINSON Alice 5/157/313. George Robert 6/87/174. Susanna Burr 5/38/76.

AXE Clara 5/153/305. Constance 6/61/121. Frederick Harry 6/33/66.

BACON George Alfred William Edward 7/4/8. Joseph Allen 5/161/322.

BAGSHAW Ernest 5/246/491. William 5/77/153.

BAILEY Richard 5/75/150.

BAIN John Donald 5/52/103. Julia Annie 5/52/104.

BALLINGER Albert John 5/20/39.

BAMFORD Ethel 5/144/287. Kate Alice 5/53/106. Ruth 5/143/286.

BANBERY John Clive 5/77/154.

BARBER William Leslie 6/118/236.

BARK Arthur 5/39/78.

BARKER Beatrice 5/221/442. Ellen 6/72/144. George Henry 5/49/98. Gertrude Stewart 5/1/1.

BARNES Joseph 6/53/105. William 5/59/118.

BARNFIELD Daniel Philip Edward 5/37/84.

BARR George 5/32/63.

BARRATT Joseph 5/142/283.

BARROW Isabella Rose 6/101/201.

BARROWCLOUGH George Henry 5/159/317. James William 6/15/29.  
BARTROP(P) John 5/208/415. Mona 6/68/135.  
BATES Jack 6/52/104.  
BATHURST James 5/155/309.  
BATLEY Alice May 5/245/489.  
BATTLE Elsie May 6/61/122.  
BATTY Samuel Claude 5/142/284.  
BEARD Amy 6/11/22. Edith 5/210/420.  
BEARDMORE Cyril 6/55/109. William Henry 5/105/209.  
BEARDSHAW Hilda 6/38/76.  
BEATSON Clara 5/110/219. Frederick 5/84/168. George Henry 7/4/7. Margaret 5/133/265.  
Thomas Redfren 5/145/289.  
BEAUMONT James 5/172/343. Joseph Stancer 5/59/117.  
BEEDHAM Betsy 6/39/78. George Herbert 6/86/171.  
BELCHER Lucy Ellen 5/28/56.  
BELL Bessie 6/37/73. Fred 6/48/96. Gordon 5/241/481. Harry 6/68/136. William 5/19/37.  
William Edward 5/176/352.  
BELLAMY Annie 6/57/114.  
BELLINGHAM Annie 5/193/385.  
BERRY Herbert 5/84/167. Phyllis 7/12/23.  
BERESFORD Joseph 5/15/301.  
BESTWICK Beatrice Alice 5/76/152. Frederick William 5/35/69. Mary Jane 5/4/7.  
BETTISON Clara 6/122/244. Lily 6/56/111.  
BETTS George Edward 5/170/339.  
BIGGIN(S) Harry 5/64/128. Isaac 5/121/241. James 5/80/159.  
BILLAM (BILHAM) Joseph 5/101/202. Mary Edith 5/120/239.  
BILLARD Amy 5/248/495. Harriet 5/84/168. May 5/239/478.  
BINGHAM Albert 5/193/386. James 5/235/470. Samuel 5/50/100.  
BINNEY Nellie 5/203/405.  
BIRCH Charles Edwin 6/123/245.  
BIRKS Joseph Henry 6/21/41. Walter 6/2/4.  
BIRTLES Charles Osborne 7/2/3.  
BLACKBURN Albert 5/75/149. Sarah 5/99/197.  
BLACKWELL Alice Ann 5/141/281. \*Alice 6/54/107. Samuel Frederick 5/122/243. Sarah  
5/97/194.  
BLAKEY Frederick 5/110/219.  
BLOOMER Norman Brinton 6/102/204.  
BOARD Samuel Isaac 6/107/214. Violette Ada 6/29/57.  
BOLSOVER George Rowland 5/163/325. John William 5/12/24. Thomas 6/37/73.  
BOLTON Edgar 6/111/221. Florence Sophia 5/181/362. Joseph Henry 5/169/337. Vera Constance  
6/121/241.  
BOND Louisa 5/204/408.  
BOOTH Amy 6/51/102. Libbie 5/36/72. William Percy 5/108/216.  
BOSWELL Beatrice Constance 6/67/134.

BOURNE Reuben 6/25/49.  
BOWER Nellie 5/44/87, 5/140/279.  
BOWETTE Randolph Albert Florentine 6/106/212.  
BOWLER John Leslie 7/16/31.  
BOWLING John William 5/134/268.  
BOWN Harriet 5/137/273.  
BOYD Annie 6/106/212. Herbert 7/22/44.  
BRADBURY Charles Edward 6/100/199. Ellen 7/3/5. George 6/98/195.  
BRADLEY Ada 5/213/425. Annie 6/72/143. Cordelia 5/6/11. Frances 6/120/240. Fred 5/78/155.  
Mary 6/89/177. May 5/191/382.  
BRADSHAW William Henry 5/104/207.  
BRADWELL Thomas 5/97/193.  
BRADY Alice 5/216/431.  
BRAMHALL John Stuart 6/96/191.  
BRAY George 6/68/135.  
BRIGGS Alfred 5/111/222. Annie 6/80/160. Edna 6/91/182. May 5/8/16.  
BRITTAIN Frank 5/147/293.  
BROADBENT Lillian Emma 6/70/140.  
BROADHEAD Mary Jane 5/105/209. Walter 6/108/215.  
BROADHURST Alfred 6/113/225.  
BROCKLEY Annie May 5/248/496.  
BROCKSOPP May 5/220/439.  
BROOK(ES) Alfred 6/110/219. Beatrice 6/93/186. George 5/68/136. Harry 6/49/98.  
Lucille Annie 5/80/159. James Edward 6/75/150.  
BROOMHEAD Beatrice 5/146/292.  
BROWN Beatrice 7/10/20. Hannah 5/31/61. Lily 7/2/4.  
BULL Cuthbert 5/16/32.  
BULLERS (BULLASS) Eleanor Caroline 5/38/75. William 5/187/374.  
BULLINGHAM Annie Julia 6/112/224.  
BULLIVANT Arthur 5/129/257.  
BUNTING Arthur 6/94/188. Polly 5/21/41.  
BURDETT Annie 5/168/335.  
BURGESS Ernest 5/47/93.  
BURGON Sarah Annie 5/45/89.  
BURGOYNE John William 5/217/433.  
BURKIN Walter 5/172/344.  
BURNAND Hannah Morton 5/42/84.  
BURND Lily 5/156/312. Selina 5/46/91. Violet ~~XXX~~ 5/91/181.  
BURROW(S) Colim 7/22/43. Eliza Ann 5/24/47.  
BURTON Annie 5/77/154. Lillian 5/241/482.  
BUSH Alfred 7/17/33.  
BUSHELL Constance 6/48/96.  
BUTTERLEY Henry 5/191/382.  
BUTTERWORTH Annie Elizabeth 5/72/143.  
BUTTERY Edwin 6/79/158.

CABORN Arthur 5/206/411.  
CANTRELL Mary Annie 5/196/391.  
CARDWELL Lucy Ellen 5/152/304.  
CARR George ~~XX~~ 6/125/250. Lily 5/68/135. Martha Ann 6/43/86. Mary Emma 5/10/20.  
CARTER John Louis Justin 5/48/96.  
CARTLEDGE Constance 6/116/232.  
CARTWRIGHT Ann 5/42/83. Joseph 5/67/133. Nellie 7/13/26.  
CARY Lillian Gertrude 5/188/375.  
CASWELL Frank William 6/37/74.  
CAVE Ernest George 6/88/175.  
CAVELL Eliza Hannah Torr 5/20/40.  
CAWSEY Charles 6/119/238.  
CANTHORNE Florence Elizabeth 5/183/366.  
CHAMBERS George 5/230/459. James 5/114/227.  
CHAPMAN Richard 7/12/23.  
CHAPPELL Mary Duke 5/9/18.  
CHARLES Lizzie 5/117/233.  
CHARLESWORTH Harriet 5/35/70. Harry 6/29/58. William 6/19/37.  
CHARLTON Arthur 6/12/23. Ivy Gladys Adelaide 6/105/210.  
CHITTENDEN Alfred 6/63/125.  
CLARK(E) Frank 5/156/312. John Henry 5/94/187. Maria Louisa 5/94/187.  
CLARKSON Harold 6/34/67.  
CLAYPOLE Ruth 5/99/198.  
CLAYTON Frank 5/57/113. Horace 7/8/16.  
CLEGG Ada 5/26/52. Sarah Ann 5/79/157.  
CLEWLEY Elsie 6/125/249.  
CLIFF Bertha 6/4/7.  
GLODE Mary Eileem 7/13/25.  
CLOVER Elizabeth 5/1/2.  
CLUELOW George Henry 5/118/235.  
COATH Frederick George 6/97/193.  
COCKER May 6/121/242.  
COLE Florence Evelyn 5/186/371.  
COLGRAVE Harriet 5/173/345.  
COLLIER Ernest 5/241/482.  
COLLINS James 5/119/238.  
COLLISHAW Florence 5/202/404.  
COLTON Lily 5/74/148.  
COLYER Beatrice Emily 5/84/167.  
COOK(E) Betsy Elizabeth 5/87/173. Sarah Ellen 5/110/220. Sydney Albert 5/220/439.  
COOMBS Harry Barraclough 5/1/1. Mary Elizabeth 5/4/8.  
COOPER Alfred 6/69/138. Carrie 5/181/361. Charles 5/95/189. Douglas 5/195/389.  
George Alfred Edgar 5/229/457. Jane Ann 6/70/139. Sarah Ann 6/79/158. Thomas 5/27/54.  
CORBETT Thomas 5/141/282.  
CORDINGLEY Joseph Henry 5/55/109.

COTTERILL Annie 5/225/450. Henry 5/178/356. Robert 5/2/4.  
COTTINGHAM John 6/90/180.  
COTTON Leslie Walter 6/62/124.  
COULDWELL John 5/212/424.  
COUPE (COPE) Charles 5/96/192. Ernest 6/74/148.  
COURTIER Dorothy Mona 6/107/214.  
COUSINS Ada 7/16/31. Albert Frederick M 5/63/125. Beatrice 6/78/156. Fred 5/159/318.  
John Walter 5/101/201.  
COWAN Edith Louisa 5/197/394. Mary Ann 5/67/134.  
COWBURN Mary Ann 5/133/266.  
COWLEY Lizzie Staley 5/65/130. Nancy 5/24/48.  
COWLISHAW Ethel 6/34/68.  
COX Muriel Vernon 5/207/414.  
COXON Maud Ann 5/98/195.  
CRAIG Edith 6/74/147.  
CRAMP Fred 5/130/260. John William 5/43/85.  
CRAWSHAW Irvine 5/8/15.  
CREAN Thomas 6/52/103.  
CROFTS Alf 6/83/165. Alice Maud 5/212/424. Harry 5/176/351. William 5/133/266.  
CRONE Nelly 5/222/443.  
CROOKES Sarah 6/24/47. William 5/157/313.  
CROSS Mary Emma 5/103/206.  
CROWTHER Arthur 5/216/431.  
CRUISE Lily 5/236/472.  
CRUTCHLEY John Henry 5/203/406.  
CRYER James 5/52/104.  
CULF Joseph 6/120/240.  
CULLEN Mary 5/78/156.  
CURTIS Frederick 5/79/158.  
CUTLER John 5/141/281.  
  
DALE Andrew 6/21/42. Harry M 6/72/143.  
DALTON Charlotte 5/118/236. Maud 5/131/261. Thomas 5/21/42.  
DAMMS Clara 5/109/217. Frances Ivy 5/213/426.  
DANCER Joseph Cyril 6/123/246.  
DANIELS William Herbert 5/70/139.  
DAVIS Albert Henry 5/91/182. Ellen 6/89/178. Mary M 5/19/37. May 5/114/228.  
Sarah Elizabeth 5/95/190.  
DAVISON Annie 5/92/183. Doris Harriet 6/8/15. Eliza Beatrice 5/150/299. Naomi Myrtle  
6/9/17.  
DAVES Walter 6/32/64.  
DAY Beatrice Robinson 7/1/2. Gladys Robinson 6/113/225.  
DEAKIN Gladys Winifred 6/75/150. Rosella Mary 5/90/179.  
DEAN Henry 6/61/121.  
DEARDEN Herbert 5/246/492. Percy 5/163/326, 6/62/123.

DENCH William 6/22/43.  
DENTON Lily Lee 6/32/63.  
DEW Conrad Egbert Dunbar 5/44/88.  
DEWSE Alfred Ernest 6/27/53.  
DEWSNAP Doris 6/83/166. Ernest 5/6/11. Frank 7/9/18.  
DICKINS Elsie 6/115/230.  
DIXON Rose 5/173/346.  
DODSON Ellen 5/136/271. William 5/120/239.  
DOLBY John 6/64/127.  
DOLEMAN Thomas 5/138/275.  
DONNELLEY Maggie Vera 6/101/202.  
DORLING Gertrude 5/225/449. James 7/13/26. Laura 6/88/176. Walter 6/64/128.  
DORMAND William W. 5/146/291.  
DOVE Gladys 5/81/162.  
DOWNES Edith Emmie 6/15/30. Frances Ann 6/17/34.  
DUNDAS Ethel May 5/179/357. Doris Ellen 6/36/71. Herbert Jesse 6/23/46.  
DUNGWORTH William 5/206/412.  
DUNSTER Christopher James 6/107/213.  
DURHAM Mildred 6/124/248.  
DYSON Joseph 7/20/40.

EALLES Robert Victor 5/139/278.  
EAST Harry Herbert 5/30/59.  
EATON Kate 5/191/381. Nellie 5/28/55.  
EDGE Ernest 5/106/211. Gertrude 6/122/243.  
EDWARDS Florence Edith 5/116/232. Gilbert 6/116/231. Samuel 6/12/24.  
ELBRETT Matilda 5/206/412.  
ELLIOTT Bernard 5/194/388. Mary Ann 5/195/389. Nora 6/29/58.  
ELLIS Annie Elizabeth 5/66/131. Beatrice Amelia 5/30/59. George Frederick 5/243/485.  
ELMER Alfred 5/200/399.  
ELSDON William 5/99/198.  
ELSE William 5/210/419.  
EMBLEY Amelia 5/37/73. Frances S. 5/30/60.  
EMERY James Charles 5/237/473.  
EMSLEY John James 5/122/224. Mary Ann 5/162/324.  
ENDICOTT Jessie Evelyn 6/22/43.  
EVANS Mary Ellen 5/122/243.  
EVERITT Sarah Ann 5/69/138.  
EVERSON Ivy Gladys Adelaide 6/12/23.  
EXTON Hilda Grace 7/17/33.  
EYRE Francis Vernon 5/186/372. Mabel 5/171/341.  
EZARD Annie Emma 5/53/105.

FAIRBANKS John William 6/42/84.  
FAIREST Albert Sinclair 5/150/300.

FAIREY Kate 6/54/108.  
FAIRFAX Lucy 5/72/144.  
FAIZEY Sarah Ann 6/94/187.  
FARLEY George 5/124/247.  
FARRER Annie 5/148/296. Ethel 5/224/447. Frances 5/205/410.  
FEARN Alfred 5/28/55. Annie Eliza 5/190/379. George 6/59/117.  
FEARNEHOUGH Amy 5/43/85.  
FEATHERSTONE Phyllis May 5/224/448.  
FECK Alfred 5/46/92. Frank 5/35/70, 6/82/163.  
FEENEY Jessie 6/117/234.  
FELLOWS John Edward 5/61/121.  
FENTON Annie Elizabeth 5/176/351.  
FENWICK Nellie 6/47/93.  
FERRARI Frederick Joseph 6/76/152.  
FIDLER Albert 5/238/475. Walter 5/129/258.  
FIELDHOUSE Edward 6/14/27.  
FIELDSEND Sarah Hannah 5/121/241.  
FINNERTY Annie 5/50/100.  
FIRTH Rebecca 6/80/159.  
FISH Frank Awdas 5/164/328.  
FISHER Eliza Ann 5/27/53. William XX 5/9/18.  
FITZPATRICK Elizabeth 6/64/127. Nora 6/92/183.  
FLAHERTY Ann 5/95/189.  
FLEMING Henry 5/20/40. Thomas 5/162/324.  
FLETCHER Nellie 6/19/38. Walter Ernest 5/118/236. William 5/221/441. Willie 6/125/249.  
FLORY Frederick 6/6/12.  
FLOWER Frank 5/108/215.  
FLYNN Dorothy 5/163/325.  
FOERS Henry 6/101/201.  
FOLEY Thomas McCraith 5/228/456.  
FORD Cyril 7/15/30. John William 6/47/93.  
FORREST Ruth 5/141/282.  
FORRESTALL Elizabeth 6/50/100. Kate Annie 5/91/182.  
FOSTER Frank 6/88/176. Leonard 6/39/78. William 6/41/82.  
FOULSTONE Annie 5/175/350.  
FOWLER Ade 5/237/474.  
FOX Harry 5/202/403, 5/216/432. Sarah Ann 5/17/34.  
FRANCE Edith 5/71/142. Lilian 6/63/125. Lily 5/118/235.  
FRENCH Kate 5/130/260.  
FRITH Florence Hannah 5/15/29.  
FROGGATT Winifred 6/62/123.  
FROST Amy 5/80/160. Ernest William 5/85/169. John Alfred 5/146/292.  
FRY Florence Beatrice 5/108/216. Gertrude Annie 5/113/225. Maud Louise 5/163/326.  
FRYER George Cyril 6/47/94. William 5/210/420.  
FURNISS Alfred 5/120/240. Susannah 5/238/475. Tom 5/177/354.

GALLAGHER Thomas 5/150/299.  
GAMBLE Francis William 5/243/486. William Henry 5/123/245.  
GRADNER Horace Arthur 5/51/102.  
GARNETT Fanny 5/167/334. Lucy 5/219/438.  
GARRETT Jessie 6/49/97.  
GANTHORPE Annie 6/69/138.  
GEBHARDT Freda 5/36/71.  
GENT Lucy 5/39/77.  
GIBBS William Isaac 5/38/76.  
GIBSON Alice 5/138/276. George 5/90/180.  
GILL Barbara 6/124/247. Herbert 5/196/391. Winifred 7/23/45.  
GILLOTT Albert 5/187/373. Gladys 6/87/173. Harold 7/3/6.  
GILMORE Charles James 5/89/177.  
GLEADALL Winifred 6/109/218.  
GLENN John Henry 5/195/390.  
GLOSSOP Edward 5/223/445.  
GOADSBY Agnes 6/71/141.  
GODBER George 6/98/196.  
GODFREY Emma 5/111/221. Leonard 5/107/213. May 5/106/212.  
GODLEY Herbert 5/227/454.  
GOFF Eleanor 5/178/355.  
GOODRICH Sydney 5/218/436.  
GOODWIN Thomas 5/51/101.  
GOSLING Harry 7/8/15.  
GOTHARD Emilina 6/102/203.  
GOUGH Arthur 5/58/115.  
GOULD Doris Marie 5/239/477.  
GRANT Gustavus Thomas 5/197/394. John Robert 5/240/479.  
GRAY Ernest William 5/56/111. John 5/25/49. Nellie 5/174/348. William 5/23/46.  
GRAYSON Arthur 5/175/349. Constance Clara Elizabeth 6/84/167. Ellen 6/47/94. Harry  
6/30/60. William 5/158/315.  
GREAVES Harry 5/116/231. Lillian 5/48/95. Robert 6/35/70. William 5/5/10.  
GREEN Beatrice 5/108/215. Charles 5/8/16. Ivy 6/107/213. Jessie 5/176/352. Olive  
5/206/411. William 6/44/87.  
GREENHALGH William Henry 5/29/58.  
GREGORY Annie 6/79/157. Hazel 7/14/28. Joseph 5/56/111. Joseph Alexander 5/152/304.  
GRETTON Albert 6/70/139.  
GRIFFITHS Lily 5/241/481.  
GRIMES Alfred 5/46/91. Jane 5/129/258.  
GROVES Eliza 5/194/387.  
  
HADFIELD George 5/10/19. William Arthur 5/117/233.  
HAGGER Alice May 6/97/194.  
HAGUE Emma Jane 5/200/399.

HALL Ada Jane Saint 5/89/177. Doris 6/19/37. Frederick 7/5/10. James William 5/32/64.

Phebe Kate 5/204/407. Ruth 5/158/315.

HALLATT Minnie 5/209/417.

HAMES William Henry 5/85/170.

HAMILTON Ruth May 5/164/328.

HAMBERTON Cyria 6/105/209. Doris May 6/102/204. Lily 5/96/191. Nellie 5/96/192.

HAMMOND Connie 5/232/463.

HANDLEY Rose 5/223/445.

HANNEMAN Charles 5/36/71.

HANSON Harold 6/17/33.

HARDY Charles Ernest 5/244/488. Joseph William 5/97/1194. Winifred Marion 6/69/1137.

HARRIS Anne Kathleem 6/62/124.

HARRISON Alem Edward 6/38/75. Bertram Howard 5/218/435. Elizabeth 5/25/50. Ernest  
5/204/408. James 7/16/32. William 5/54/107, 5/181/361.

HARTLEY Emma 5/159/317. Frederick 5/185/369.

HASLEM Dennis 5/205/409. Edith 5/145/289, 6/109/217. Gertrude Gough 5/106/211. William  
6/18/36.

HATFIELD Fred 5/23/45.

HATHERLY James Frederick 5/205/410.

HAWKINS James Henry 5/165/330.

HAWKSLEY Louisa Maud 5/33/66.

HAWKSWORTH Elizabeth 5/16/31.

HAWLEY Florence 6/33/66.

HAYNES Dorothy Juliette 7/11/22.

HAYWARD Hilda 6/42/84.

HEAD Alice 5/62/124.

HEALD Clara Alice 6/14/27. John Walter 6/18/35. Robert 5/79/157.

HEARNSHAW Reginald George 6/106/211.

HEATE Annie 5/18/36. George 5/166/331. John Allan 5/202/404.

HEATON Annie 5/189/377. Isabella 5/215/429. John 5/156/311.

HEMMING George Henry 7/19/37.

HENCHLEY Clara 5/201/401.

HENDERSON Ernest 5/60/1119.

HEPPENSTALL John 5/82/164.

HEWERTSON James Frederick 7/7/13.

HEWITT George William 5/180/359.

HEXTALL Annie 6/1/2. William 6/3/5.

HUBBERD Ernest 5/149/297, 6/104/208. Horace 5/231/461. Ralph 5/140/279.

HICKTON Bernard 7/3/5.

HIGGINS Annie Lizzie 6/60/120. Hannah 5/14/28. James 5/68/135. Percy 6/96/192.  
Thomas 5/133/265.

HILL(S) Albert Edward 6/120/239. Edith 5/137/274. Florence 6/46/92. Gladys 6/59/1117.

Harry 6/26/52. Henry 5/43/86. John 5/157/314. Levi 5/190/380. Mabel 6/91/181.

Thomas 6/86/172. Thomas Alexander 5/247/493. Thomas Arnold 6/53/106.

HINCHLIFFE (HINCHCLIFFE) Albert Edward 5/182/364. Amy 5/158/316. Charles Frederick 5/81/151. Frederick 6/58/115. Harry 5/200/400. Thomas 6/66/131.

HIRST Ada 5/126/252. Mary 6/99/198.

HITCH Annie Mary 5/47/93. Sarah Helen 5/59/117.

HOBART Alice 5/39/78.

HOBBS Sydney 5/140/280.

HOBSON Ada 5/47/94. Emma 6/31/62. George 5/207/414. Harry 5/28/55. Thomas 5/214/428.

HODGKIN Beatrice 5/63/125. Mary Ann 5/171/342.

HODGKINSON Ada Annie 5/217/434. Ada Louisa Victoria 5/193/386. Francis Vernon 6/84/167. Thomas 5/57/114.

HODGSON Annie Elizabeth 7/9/18. George 5/127/253.

HOFF Emma 5/77/153.

HOGG Constance 7/6/11. Elizabeth 5/235/470. William 6/110/220.

HOLBEM Harry 5/134/267.

HOLDEN Isadora 6/90/179.

HOLLIDAY Annie Elizabeth 5/230/460. Ellen 6/30/59. Lily 5/220/440.

HOLLING Ellis Henry 5/56/112.

HOLMES Alice Ada 6/77/153. Ann Amelia 7/21/42. John 5/201/401. Percy 5/211/422.

HOLROYD Albert 6/20/39. Ernest 6/48/95. Eveline 6/27/53. Frank 5/168/335. William 5/204/407.

HOMER Ellen 5/82/164. Harold 6/89/178.

~~MARK~~ HOOK Hilda Margaret 7/8/16.

HOPKINS Arthur 5/245/490. Cecilia 7/20/40.

HOPKINSON Edith 6/120/239. Elizabeth 5/54/107. Emma 5/190/380.

HORROBIN Samuel 5/5/9.

HORSEPOOL Ernest 5/179/357.

HORSLEY Mary Ann 5/128/255.

HORTON Richard Stanley 6/67/133.

HOUGHLAND Elizabeth Emma 5/73/145.

HOWARD Harriet 5/129/257. Rosina 5/6/12.

HOWARTH William 5/160/319.

HOWE Annie 5/172/344. Sarah Ann 5/78/155.

HOWSON Emma 5/104/207. Jane Elizabeth 5/40/80. John 5/40/79.

HUDSON Annie 5/178/356. Clara 5/2/3.

HUGHES Daniel 5/226/452. William 5/179/358.

HUGILL Hannah Elizabeth 5/142/283.

HUKIN Ethel 6/10/20. Fanny 5/172/343. Lilian 5/51/102.

HULETT Nellie 6/20/39.

HUNT Lilian 6/35/70.

HUNTER George 6/50/99, 7/15/29.

HURT Thomas 5/102/204.

HUTCHINGS John 5/45/89.

HUTCHINSON Eliza 5/187/374.

IBBOTSON Winifred 6/26/51.

JACKSON Alber Eda 5/98/196. Annie Elizabeth 5/165/330. Clara Frances Macbeth 5/247/493.  
Ellis Edgar 5/65/129. Ethel 6/13/25. Florence 5/124/248. Frank 6/49/97.  
Freda Macbeth 5/244/487. Sarah Emma 5/145/290.

JAGGER Harry 5/106/212.

JAMES Margaret Jane 5/26/51.

JEBSON John Roberts 5/47/94.

JENKINS Edward 6/121/241. Gwendoline 6/104/208.

JENKINSON Alice 5/155/309. Eliza 6/57/113. Elizabeth 5/231/462. Samuel 5/225/450.

JERVIS (JARVIS) Annie 6/42/83. Emily 5/125/250. Ruby Farnsworth 5/115/230.

JESSOP Harold 6/26/51. John Stanley 5/82/163. William 5/173/345.

JOHNSON Albert 6/81/162. Arthur 5/144/287, 5/198/395. Arthur Vincent 6/80/160. Charles  
5/194/387, 5/233/465. Dora 6/59/118. Ethel 6/25/49. Florence 6/82/164. Frank  
5/48/116. Herbert Credland 5/136/272. James 5/34/67. James Hugh 5/209/418. John Lewis  
5/113/225. Joseph 6/103/206. Mabel 7/19/37. Marjorie 6/119/237. Mary Ann 5/134/268.  
Nellie 7/18/36. Robert 5/104/208. Sarah 5/124/247. Sarah Emma 5/192/383.  
William Henry 5/53/106.

JOHNSTON Mary Ann 5/8/15.

JONES Ernest 5/4/8. Sarah Ann 5/94/188.

JOW Harry 5/147/294.

JOWETT Arthur 5/11/22.

JOWLE Clarice 6/105/209.

JOYCE Sarah Elizabeth 5/33/65.

JUBB Edith 6/73/145.

JUDGE Bernard Harry 5/88/176.

KAY John William E 5/69/138. Mary Alice 5/136/272. Minnie 5/113/226. Thomas 6/79/157.

KEEN Henry 5/143/286. Joseph Alfred 5/182/363.

KELLY (KELLEY) Catherine 6/40/80. Helen 6/31/61.

KEMP Alice May 6/74/148. George 5/17/34.

KEMPTON Ethel 5/83/166.

KENDRICK Edna 6/84/168.

KENNING Fanny 5/20/39. Gertrude 5/222/444.

KING Annie 5/55/109. Eva Miriam 6/108/215.

KINGSTON Muriel 6/78/155.

KIPLING Thomas 5/160/320.

KIRK Alice 5/86/172. Ann Eliza 5/102/203. William Henry 5/203/405.

KITCHEN Ada 6/18/35.

KOHLER Beatrice 6/3/5. Dorothea 6/23/45.

KNIGHT Doris 6/51/101. Emma 5/79/158.

KNOWLES Annie Elizabeth 5/236/471. Edwin 6/81/161.

KNOWLESON William Hamilton 6/32/63.

LAKE William Joseph 5/236/471.  
LAMB Denis William 7/20/39.  
LAMBERT Alice Ada 6/21/41. Thomas Henry 5/1/2.  
LANGFORD William Theodore 6/113/226.  
LATHAM Joe 5/109/217.  
LAW John William 5/186/371.  
LAWTON Florence Emma 5/101/202.  
LAYBOURN Annie Elizabeth 5/185/369. Florrie 5/185/370. Joe 5/177/353. Mary Ellen 5/88/175.  
LAYTHORNE James Edward 5/26/51.  
LEDGER Jennie 5/25/49. John 6/23/45. Leonard 6/51/101.  
LEE Herbert 5/17/33. Joe 5/34/68.  
LEEDAILE Doris 5/218/435.  
LEOPOLD Henry Dobree 5/29/57.  
LETTIS Beatrice 6/55/109. William 6/14/28.  
LEWIS Benjamin 5/62/123.  
LIGHTFOOT Margaret Jean 7/20/39.  
LILLEY Rosina 6/58/115.  
LINDENSTRUTH James 5/185/370.  
LINDLEY Alfred 6/115/230.  
LINGARD Annie 5/214/427. Beatrice 5/164/327. Edith Annie 5/177/353. Frederick 6/31/62.  
Florence 5/101/201. George William 5/223/446. Ivy 7/1/1. Lily 5/159/318. Mabel  
5/161/322. Mary Maud 5/149/298.  
LIVERSIDGE Bertha Elizabeth 6/7/14. Dorothy Alberta 6/26/52 $\frac{1}{2}$ . Gertrude 5/226/451.  
LOFTHOUSE William 6/17/34.  
LOMAS Mary Ann Charlesworth 5/23/46. Walter 5/105/210.  
LONGDEN Era 6/86/171.  
LONGLEY Albert Edward 6/54/108.  
LONGTHORNE Arthur 5/215/429.  
LONSDALE William Henry 5/67/134.  
LOVERSUCH John William 5/31/61.  
LOWE Matilda 5/189/378. Selina 5/111/222. Thomas 5/71/141.  
LOWTH William Percy 5/227/453.  
LUCAS Elizabeth 5/221/441. Herbert 7/1/1.  
LUND Arthur 6/74/147.  
LUNN John 5/153/306.  
LUTKIN Beatrice Sarah 5/182/364.  
LYON Reginald Slee 5/237/474.  
  
MACBETH George Edward 5/222/443.  
MACHIN Walter Sydney 5/148/296.  
MALKIN Laura 5/29/58.  
MALLENDER John 5/111/221.  
MALLETT Ada 6/114/227. Alfred 6/76/151.  
MALLINSON William 5/178/355.  
MALTBY Amy 5/51/101.

MANN Esther Elizabeth 5/121/242.  
MANNION Maria 6/81/161.  
MANSELL John Thomas 5/44/87. Mary Jane 5/44/88.  
MANTON Alfred 7/21/42.  
MAPPIN Joseph 5/41/81,  
MARKHAM Percy 6/115/229.  
MARLBOROUGH John Alfred 5/81/162.  
MARR Freda Emily 7/22/43.  
MARRIOTT Percy 6/46/91.  
MARSDEN Albert 5/153/305. Clara 6/3/6. Elizabeth 5/177/354. Emily 5/64/127. Lawrence  
6/95/189. Maria 5/52/103. Martha 5/143/286. Millicent 5/58/115. Walter 6/53/116.  
~~XXXXXX~~ MARSH Annie 5/58/116. Annie Eliza 6/86/172. Clara 5/233/466.  
MARSHALL Edward 5/9/17. Elizabeth 5/5/9. Ellem 5/174/347. Eva Annie 5/194/388.  
Walter Anthony 5/128/255.  
MARTIN Ada 5/117/234. Fred 6/117/233. Nora 6/116/231.  
MASON Frank Burbidge 5/13/26. George 5/189/377. George Henry 6/82/164. Thomas Edwin  
6/56/112.  
MATTHEWS Harold Arthur 6/29/57.  
MATTINSON William Edward 5/25/50.  
MAWSON Nora Enid 6/48/95.  
MAXFIELD Amy 5/105/210. Florence 5/7/13.  
MAY John Benjamin 5/54/108.  
MAYFIELD Emma 6/67/133. Harriet 5/199/397. Sarah Ellen 5/85/169.  
McCARTHY John Henry 5/42/84.  
McILROY Archibald Crammer 6/9/18.  
McNELLY John Thomas 5/149/298.  
McQUILLAN Winifred 5/246/492.  
McTAGGART Alice Carolin 5/214/428.  
MEESON George 5/80/160.  
MEGSON Albert 5/139/277. Florence 5/247/494.  
MELLOR Agnes 5/242/483. Margaret 5/207/413. William Henry 5/125/250.  
MERRILLS Elizabeth 5/244/488. Lily 6/17/33.  
METTAM Emily 5/120/240. John 5/42/83.  
MIDDLETON Francis 5/239/478. Percy 5/180/360. Phoebe Ann 5/197/393. Richard H. 5/128/256.  
MILES Lily 6/108/216.  
MILLER Elizabeth 5/68/136. Nellie 6/98/195. Walter 6/45/89.  
MILLINGTON Louisa 5/63/126. Henry 5/61/122.  
MILLS Aldam Marshall 6/99/197. Arthur 5/45/90. Harriet 5/49/97. John Clarke 5/3/6.  
MILNER John Edward 6/34/68. Lily 5/246/491.  
MILTON Florence 5/183/3 65.  
MINSKIP Elsie 5/196/392.  
MITCHELL Kate 5/215/430. Willis 6/57/113.  
MITCHINSON Harriet 7/7/13.  
MOAT Lewis 6/89/177.  
MONTGOMERY Annie Elizabeth 6/125/250. William 5/88/175.

MOORE Elsie 5/228/455.

MOORHOUSE Elsie 6/38/75.

MORGAN Alice 6/100/200. Sarah Ann 7/5/10.

MORRIS(S) Eric 5/213/425. Eveline 6/21/42. John Alfred 6/122/243.

MORRISON Annie Birthea 5/9/17.

MORTON George 5/60/120. Kate 5/86/171. Sarah Ellen 6/68/136. Thomas 5/188/376.

MOSLEY (MOZLEY) Alonzo James 6/7/14. Annie 5/97/193. Cyril 6/54/107. Edward 6/91/181.

George Redvers 6/40/79.

MOTTRAM Ethel 6/13/26. Horace 6/121/242.

MOWER Olga Mary 5/50/99.

MULLINS Louisa 5/2/4. William 5/93/186.

MURAT Edith 6/46/91. Lawrence 6/71/141.

MURPHY James Arthur 6/5/10. Sarah 5/103/205.

MURREY Lewis 5/76/151.

MUSGRAVE Montague Kemp 5/215/430.

MUSSON Hybert James 5/161/321.

MYCOCK Blanche 5/57/113. Charles 5/22/43. William Anthony ~~5/164/327~~ 5/164/327.

MYERS James Frederick 6/93/186. Norman 6/116/232.

NANCE Harry Ronald 6/33/65. John Edward 6/83/166.

NASH Albert 5/189/378. Doris 5/229/458. Fred 5/127/254.

NAYLOR Winifred Eleanor 5/48/96.

NEALE Florence Beatrice 5/229/457.

NEEDHAM Emma 5/180/360. Gilbert 6/25/50. Ivy 6/94/188.

NELSON Emily 6/2/4.

NEWBOULD May 5/170/340.

NICHOLSON Doris 6/6/11. Samuel 7/12/24. William 6/36/71.

NIXON Doris 5/184/368.

NOBLE Florence Ann 5/82/163.

NOLAN John Thomas 5/154/307.

NUTTALL Benjamin 5/148/295. Florence 5/119/238. Frederick 6/44/88

OAKES Annis 5/60/119.

OLDALE Annie 5/15/30. Elizabeth 6/64/128. Herbert 6/75/149. John 5/4/7.

OLDFIELD Betsy 5/43/86.

OSBORNE Annie 7/18/35. Edith 5/187/373. Elizabeth 5/153/306. Emma Roseina 5/131/262.

Henry 5/192/384.

OSGATHORPE Thomas 5/73/145.

OUTRAM Bertha 5/160/319.

O'WEN James 5/53/105.

OXLEY Dora Annie 5/250/499. John Henry 5/196/392. Kate 5/65/129.

PALMER Henry 5/191/381.

PANTER Mary 5/27/54.

PARAMORE Elsie 6/35/69. Fred 7/18/35. Violet 6/104/207.

PARISH Eleanor 5/2/3.  
PARKER Catherine 5/216/432. Fred 5/183/365.  
PARKIN(S) Charles Henry 5/50/99. Colin 6/85/169. Emily 5/127/253. Gladys 6/41/81.  
Grace 5/166/322. Harry 5/103/205. Joseph Walker 5/249/497.  
PARFETT Emma Louie 5/184/367. Florence Esther 5/226/452.  
PARRATT Robert Marshall 5/130/259.  
PARTRIDGE Blanche 5/3/6. Doris 6/118/236. Edmund John 6/27/54.  
PATTISON John Thomas 5/78/156. Sarah Ann 5/22/43. Tom 6/73/146.  
PAXON Edward 6/77/154.  
PAYNE Arthur 7/7/14.  
PEARCE Frederick Jenkins 5/114/228.  
PEARSON George Arthur 5/170/340. Herbert 5/167/334. Jane Doris 5/198/395. Lydia 5/56/112.  
PEDLEY George 5/201/402.  
PEMBERTON Ernest Gee 5/7/13.  
PENNEY Frank 5/235/469.  
PENRITH Tom 5/207/413.  
PETERS Charles Harry 6/101/2-2. Daniel 5/174/348.  
PHEAL Marion 5/128/256.  
PHILLIPS George 6/36/72.  
PICKERING Cecil 7/5/9.  
PICKLES Albert Ernest 6/111/222.  
PIERI Lizzie Staley 6/4/7. Peter 5/65/130.  
PITTS Edward 5/152/303.  
PLACE James 5/126/251.  
PLATTS Florence 5/186/372. Harry Manton 5/119/237. Lewis 5/49/97.  
POLLARD Thomas 5/99/197.  
POOLE Edith Hannah 5/231/461. Frederick 5/89/178.  
PORRILL Florence Gertrude 5/228/456.  
POTTER Charles 5/6/12.  
POWELL Joseph 5/10/19. Samuel 6/97/194. Thomas 5/135/270.  
PRESSLEY William 5/13/25.  
PRESTON Thomas Eric 6/103/205.  
PRICE Eleanor 6/90/180. Flora 5/7/14. Lawrence Hirst 5/171/341. Lizzie 5/32/63.  
Mabel 5/23/45. Minnie 5/240/479.  
PRIESTLEY Ernest 6/24/47. Harriet Singleton 6/25/50.  
PROCTOR Elsie 5/233/465. John Alfred 5/192/383.  
PRYOR Henry 6/122/244.  
PUGH Minnie Muriel Bessie 6/60/119.  
PURSER Martha Ann 5/182/363.  
  
RADFORD Lawrence Alfred ~~5/22~~ 5/72/144.  
RAE William John 5/115/230.  
RAMSDEN Annie Omriette Greaves 6/95/190. Hugh Ivan 6/114/227.  
RAMSEY Margaret 7/5/9.  
RASTRICK Gertrude 6/37/74.

RAWLINS (RAWLING) Amy 6/92/184. Miriam 5/156/311.

RAYNES Florence 7/3/6. Hattie 6/113/226.

READING Florence 5/138/275.

REANEY Emily 5/149/297. Thomas William 5/199/398. Willoughby 6/60/120.

REDFERN (REDFEARN) Elizabeth 5/123/245. Frank Stanley 5/209/417.

REDSHAW Betsy Mary 6/111/222.

REED (READE) Albert Edward 6/85/170. Evelyne 7/6/12. Harry 6/43/85. Joe 6/69/137.  
Matilda 6/103/205.

REVILL James Edward 6/1/2.

REX Lillian Maud 5/60/120.

REYNOLDS Charles Arthur 5/155/310.

RICHARDS Ada Annie 5/217/433. Alice 6/40/79. John Henry 5/175/350.

RICHARDSON Charles Henry 6/61/122.

RICHLEY George 5/116/232.

RIDAL Ellen 5/107/214.

RIDGE Violet Penelope 5/140/280.

ROBERTS Clara 5/230/459. Clifford 6/13/25. Harriet 5/45/90. John Edward 6/124/247.  
Lillian 5/188/376. William 5/173/346.

ROBINSON Annie 7/19/38. Sarah 5/112/224.

ROBSON Frank 5/66/132. Jane Elizabeth 5/11/21. John William 5/125/249.

RODGER(S) Celia 6/82/163. Charles Henry 6/95/190.

ROLLEY Edna Ruth Patience 6/76/152. Gladys Minnie 6/87/174.

ROOKE George 7/10/20. Josephine 7/15/29.

ROOME Edward 6/108/216. Joseph 6/2/3.

ROSE Kate 6/1/1. Mary Ann 5/151/301.

ROSS Harry 5/224/447.

ROSSELL Charles Frederick 5/131/261.

ROTCHHELL John James 6/22/44.

ROWLEY Lillian 6/93/185.

ROWNEY Alfred 6/99/198. Florence May 6/99/197.

ROYLE Elsie 5/212/423.

RUDGE Florence 5/10/19.

RUSBY John Arthur 6/92/184.

RUSLING Eliza 5/31/62.

RYALLS Ernest 5/244/487. Grace Annie 5/200/400.

SANDERS John Edwin 5/37/73. Mary 5/210/419.

SANDERSON Charles Henry 5/26/52. Edward 5/64/127.

SAXBY William 5/74/147.

SAYLES Florence 5/112/223. Fred 5/231/462. Joe 6/3/6. Sam 6/1/1.

SCARGILL George 5/86/171.

SCHMITZ Ferdinand Eugen 5/90/179.

SCHOFIELD Arnold 6/13/26.

SCOTT Charles Frederick 5/132/263. Doris 6/111/221. May 7/4/8. Walter 6/5/9.

SEALE Lily 5/165/329. Nellie May 6/44/88.

SEDDON Eliza 5/71/141.  
SEDGWICK George William 5/94/188. Thomas 5/107/214.  
SEFFERS Esther 5/125/249.  
SELF Eva 6/58/116.  
SELWOOD Winifred 7/16/32.  
SENIOR Florence 5/70/140. John Arthur 5/190/379.  
SHACKSHAFT Thomas 6/72/144.  
SHARMAN Matthew 6/78/155.  
SHARP(E) Geoffrey Rupert 6/117/234. John 6/16/31. Lucy 6/103/206. Thomas Henry 5/219/438.  
SHAW Ada Ann 5/13/25. Harriet Elizabeth 5/155/310. Pollie 5/12/24. Nellie Vellender  
6/27/54.  
SHEARSTONE Louise 5/243/485.  
SHELDON Doris 6/75/149. Thomas 5/3/5.  
SHERWOOD George Thomas Dixon 6/78/156.  
SHIRT Gladys 6/96/192. Leonard 7/21/42.  
SHIRTCLIFFE Sarah 5/66/132.  
SHOOTER Beatrice 6/63/126.  
SHUTT Albert 5/96/191.  
SHUTTLEWORTH Charles Joseph ~~5/77~~ 5/174/347. Martha 5/209/418.  
SIDDON Fred 5/24/48.  
SILLS Ann 5/16/32.  
SILVEY Mary 5/170/339.  
SIMPSON Francis 5/30/60. Olive May 5/205/409. William Thomas 5/126/252.  
SIMS Sarah 5/245/490.  
SINGLEHURST Thomas Arthur 5/211/421.  
SINGLETON Alice 5/126/251. Beatrice 5/102/204.  
SISMAN Charles 6/38/76.  
SKEEMER Doris 6/15/29.  
SKELLEY Mabel 6/123/246.  
SKELTON Elizabeth 5/154/307. Kate 5/198/396.  
SKIDMORE Maria 5/147/293. Thomas 5/62/124.  
SKINNER Mary Ann 5/3/5.  
SLACK Edith Lilliam 6/28/55.  
SLATER Constance Elsie 7/17/34. Elizabeth Frances Mary 7/21/41.  
SLEAFORD Alice 6/76/151. Florence Elizabeth 5/249/497.  
SMALLWOOD Mark 6/51/102.  
SMITH Ada 5/249/498. Annie 5/114/227, 6/30/60. Annie Elizabeth 5/199/398. Arthur Theodore  
5/41/82. Bertha 5/142/284. Clara 5/175/349. Clarence 6/11/21. Ellen 6/117/233.  
Ethel 6/36/72, 6/56/112. Florence 5/12/23. George Henry 5/132/264. Harry 5/72/143.  
Herbert 5/66/131., 5/131/262. Horace 6/46/92. Jack 7/9/17. James 5/87/173. Jane  
5/93/185. John 5/33/65. Joseph Henry 5/22/44. Mary Ann 5/92/184. Norah 7/4/71. Percy  
6/73/145. Richard 6/63/126. Sarah Ann 5/90/180. Violet 6/45/89. William Charles  
5/15/29. William Henry 5/115/229, 6/24/48.  
SNEAD William Henry 5/10/20.  
SOMERSET Albert 5/98/196.

SOPER Ellen 5/64/128.  
SORSBY Amy 6/118/235.  
SOUTH Ada Nellie 5/135/270. Ellen 6/10/19. William Henry 6/66/132.  
SPEARING Charles Ernest 5/92/183.  
SPENCER Joseph 5/247/494. Thursa 5/73/146.  
SPETCH Lily Vasey 5/179/358.  
SPINK Harry 5/233/426.  
SPOTWOOD Beatrice Jane 5/100/200.  
STACEY Clara 5/5/10.  
STALEY William Henry 5/24/47.  
STAMP Mary 6/16/31.  
STANFORTH Ada 5/41/81. Sydney Herbert 5/15/30.  
STANILAND Edith 5/202/403. Elsie 5/227/453. Emily 5/67/133. Ernest 5/197/393. Nellie  
5/139/278.  
STEEL Lucy 5/146/291.  
STENNETT Mary Elizabeth 6/110/219.  
STEPHENSON Colin 5/239/477. Margaret 5/29/57.  
STOCKS Harry 6/42/83.  
STORE Frank 5/242/483.  
STOTT Elizabeth 6/88/175.  
STREET Joel 5/87/174.  
STRINGER Charles 7/19/38. Mary 6/106/211.  
STURMAN William 5/136/271.  
STYLES Florence 5/83/165.  
SULLIVAN Edmund John 5/55/110.  
SUMMER Albert 7/10/19.  
SWAIN Ellen 5/127/254. Lilian 5/201/402. Nellie 6/49/98.  
SWIFT Betsy 5/34/67. George Walter 5/184/368. Lewis 5/14/27.  
SYKES William 5/245/489.  
SYMES Kethurah Harriet 5/87/174.  
SYNYER Walter 6/80/159.  
  
TANKARD George Arthur 7/2/4.  
TAYLOR Andrew 5/226/451. Edith Blanche 7/7/14. Ellen Agnes 6/5/9. Emily 5/85/170. George  
5/12/23. George Couch 5/16/31. George Henry 6/90/179. Joseph 5/39/77.  
Mariel Jessie 7/10/19. Samuel 5/63/126.  
TEALE Reginald Percy 5/100/199.  
TERRY Mary Ellen Stopford Taylor 5/49/98.  
THACKWRAY Ada 5/180/359. Mary Elizabeth 6/97/193.  
THEOBALD Leonard Edwin 7/14/27.  
THICKETT Joseph 5/102/203.  
THOMAS Evelyn Janet 5/227/454. James 5/222/444.  
THOMPSON Ethel Maud 5/55/110. Fred 5/103/206. George John William 7/13/25. Sarah Ann  
5/56/111. William Henry 7/18/36.  
THORLEY Lilian Harlene 6/7/13.

THORPE Arthur 5/250/499. Florence 5/203/406. George 6/35/69. Harry 6/60/119. Martha  
5/192/384. Mary Alice 5/242/484. Mary Ann 6/85/169.

THURSBY Ellen 5/46/92.

THWAITES Bridget 6/65/129.

TILLERY Jessie Frances 5/161/321.

TINGLE Albert 5/110/220. Charles 6/71/142.

TINKER Kate Adelaide 5/41/82.

TITTERTON Annie Elizabeth 6/100/199.

TIVNAN Thomas 5/234/467.

TODD Alice Rose 6/22/44. Sophia Elizabeth 5/243/486.

\*TILFORD George Foulstone 5/33/66.

TOMLINSON James 5/11/21.

TOOTHILL (TOOTELL) Ada 6/98/196. Beatrice 5/41/82. Elizabeth Wheatley 5/195/390.  
Linley 6/31/61.

TORRY Betsy 5/14/27, Henry 5/48/95.

TOWNSEND Rose Ellen 6/23/46.

TOWRISS Emily 5/211/421.

TRAVIS Ada Elizabeth 5/35/69.

TRAYNOR Nellie 5/100/199.

TRICKETT Hilena 5/17/33.

TRIGG George 6/104/207.

TROMANS Benjamin 5/73/146.

TUMMON Harold 5/121/242.

TURNER Alice 6/39/77. Arthur 6/84/168. Elizabeth Blanche 5/119/237. Emily West 5/135/269.  
Frances 5/250/500. George Henry 5/76/152. Mary Elizabeth 5/40/79. Nellie 5/238/476,  
7/14/27. Robert 5/137/274. Rose Ellem 6/18/36. William Ernest 5/248/495.

TRUTON Albert 5/18/35. Clara 6/11/21. Olive 6/119/238.

TWIGG Harold 6/112/224.

TYRELL Annie 5/208/416.

ULLATHORNE Ann Ada 6/16/32.

UNWIN John William 5/219/437.

VARDY Tom 5/10/20.

VICKERS Maurice Cyril 6/9/17. Walter Edmund 6/8/15.

VINCENT Samuel 5/71/142.

VYCE Harold 6/94/187.

WAGNER John Phillip 5/93/185.

WAINWRIGHT Dorothy Lilian 6/28/56.

WAKE Herbert 6/57/114.

WALES Thomas William Waller 5/70/140.

WALKER Alfred 6/87/173. Arthur 5/181/362. Bertha 5/169/337. Edwin 5/21/41. Elizabeth Ann  
7/12/24. Ellen Rensch 5/132/263. Elsie May 5/240/480. Frank 6/118/235. Frank Clifford  
6/124/248. George 6/4/7. Sarah Ann 5/123/246. Thomas William 5/117/234.

WILSON Arthur 5/19/38. Arthur Lawrence 5/98/195. Edith Annie 5/75/150. Esther 6/65/130.  
 Jennie 5/70/139. Maud 5/88/176. Sarah Elizabeth 5/61/122.

WINDLE Annie Elizabeth 6/112/223. Charles 5/242/484. Clara 6/83/165. George Henry 6/30/59.  
 John Marshall 5/184/367. Mary Alice 6/115/229.

WINGFIELD Mary Ada 5/208/415.

WINTERBOTTOM Mary Jane 6/77/154.

WITHERS Hubert 6/93/195.

WOLSTENHOLME Isaac Biggin 5/36/72.

WOOD(S) Alfred 5/95/190. Elsie 7/22/44. Frederick 5/18/36. George Henry 5/248/496. Hannah  
 5/148/295. Harry 5/83/166. Henry 5/250/500. Herbert William 5/143/285. Nellie  
 6/5/10. Percy 6/45/90. Richard Edward 5/138/276.

WOODCOCK Joseph 6/59/118.

WOODHOUSE Clara 5/150/300.

WOODTHORPE Edward 6/109/217.

WOODWARD Edward 5/166/332.

\*WOFFINDIN James Jenkin 6/11/22. Louisa Sophia 5/234/468. Margery 5/168/336.

WOOLHOUSE Ada 5/132/264. John Arthur 5/158/316.

WOOLLEN Albert 6/43/86. Joseph Booker 5/208/416.

WOOLLEY James 5/91/181. Jessie 6/96/191.

WORDLEY Ernest 6/40/80.

WORRALL Dora 6/53/106. James 6/50/100.

WORTH Walter 5/221/442.

WRAY Leslie 6/102/203.

WRIGHT Ada 5/69/137. Alexander 5/112/224. Annie Elizabeth 5/223/446. Elizabeth 6/52/103.  
 Emma 5/130/259. Ethel 6/6/12. Fanny 5/167/333. Florence 7/8/15. James 5/171/342.  
 Mary 6/52/104. Samuel 5/92/184. Violet 6/12/24.

YATES Annie 5/152/303. John William 5/233/466. Lena 6/55/110.

YOUNG Ernest 5/238/476. Iris Ethel Agnes 7/15/30. Louisa 5/93/186. William Horace  
 7/23/45.

END OF INDEXES TO BOOKS 5, 6, & 7.